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iqLrikyu ,oa ys[kkdeZ& d{kk iqLrikyu ,oa ys[kkdeZ& d{kk iqLrikyu ,oa ys[kkdeZ& d{kk iqLrikyu ,oa ys[kkdeZ& d{kk XI  

(Book-keeping & Accountancy) 
bdkbZ&1bdkbZ&1bdkbZ&1bdkbZ&1    

ys[kkadu ¼ys[kkadu ¼ys[kkadu ¼ys[kkadu ¼Acounting½½½½    
 

oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u (Objective Type Questions) 

1111----    fuEufyf[kr fooj.k lR; gS ;k vlR;% fuEufyf[kr fooj.k lR; gS ;k vlR;% fuEufyf[kr fooj.k lR; gS ;k vlR;% fuEufyf[kr fooj.k lR; gS ;k vlR;%     

 (i) vfUre [kkrs cukuk iqLrikyu esa vkrk gSa A 

 (ii) iqLrikyu dk izkjEHk bVyh esa gqvk A 

 (iii)  [kkrkcgh fy[kuk iqLrikyu esa vkrk gS A 

 (iv) iqLrikyu foKku ,oa dyk gSA 

 Following Statements are true or false: 

 (i) Preparation of Final Accounts falls in Book-keeping  

 (ii) Book-keeping came into existence in Italy.  

(iii) Writing of ledger falls in Book-keeping.  

(iv) Book keeping is science and Art. 

2222----    fjDr LFkkuksa dks Hkfj,% fjDr LFkkuksa dks Hkfj,% fjDr LFkkuksa dks Hkfj,% fjDr LFkkuksa dks Hkfj,%     

 (i) iqLrikyu foKku ,oa --------------- gSa A 

 (ii) iqLrikyu dk izkjEHk bVyh esa ------------ esa gqvk A 

 (iii)  vafre [kkrs cukuk ------------- esa vkrk gSa A 

 (iv) tuZy esa ys[kk djuk ------------ esa vkrk gSa A 

 Fill up the gaps 

 (i) Book-keeping is science and .................. 

 (ii) Book-keeping came into existence in Italy in .................  

 (iii) Preparation of Final Account falls in ............. 

(iv) Writing in journal falls in ............. 
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3333----    fuEufyf[kr ds mRrj ^gkW* ;k ^ugh* esa nhft, &fuEufyf[kr ds mRrj ^gkW* ;k ^ugh* esa nhft, &fuEufyf[kr ds mRrj ^gkW* ;k ^ugh* esa nhft, &fuEufyf[kr ds mRrj ^gkW* ;k ^ugh* esa nhft, &    

 (i) iqLrikyu dk izkjEHk vesfjdk esa gqvk  

 (ii) iqLrikyu dk izkjEHk phu esa gqvk A 

 (iii)  ys[kkdeZ dh izFke lh<+h iqLrikyu gSa A 

 (iv)  iqLrikyu dk izkjEHk teZuh esa gqvk A 

 Answer the following in 'Yes' or 'No' 

 (i) Book-keeping came into existence in America.  

 (ii) Book-keeping came into existence in China.  

 (iii) Book-keeping is first stage of Accountancy.  

 (iv) Book-keeping came into existence in Germany.  

y?kq mRrjh; iz'u 4 vad y?kq mRrjh; iz'u 4 vad y?kq mRrjh; iz'u 4 vad y?kq mRrjh; iz'u 4 vad (Short Answer Questions 4 marks) 

iz'u&1- iqLrikyu ,oa ys[kkdeZ dk D;k vk'k; gSa \ 

  What is the meaning of Book-keeping and Accountancy? 

iz'u&2- iqLrikyu ,oa ys[kkdeZ esa D;k vUrj gS\ 

  What is the difference between Book-keeping and Accountancy? 

iz'u&3- iqLrikyu ,oa ys[kkdeZ ds mn~ns'; fyf[k, A 

  Write the objects of Book-keeping and Accountancy. 

iz'u&4- iqLrikyu ,oa ys[kkdeZ ds pkj ykHk fyf[k, A 

  Write four advantage of Book- keeping and Accountancy.  

iz'u&5- iqLrikyu ,oa ys[kkdeZ dk bfrgkl fyf[k, \ 

  Write history of Book-keeping and Accountancy.  

iz'u&6- D;k ys[kkadj dyk gS vFkok foKku\ le>kb,A 

Is Accounting art or Science ? Explain. 
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iz'u&7- fuEufyf[kr dk la{ksi esa o.kZu dhft;s & 

 ¼1½ iwath  ¼2½ lEifRr 

  Explain the following in brief 

 (1) Capital (2) Assets 

iz'u&8- fuEufyf[kr dk la{ksi esa o.kZu dhft;s & 

 ¼1½ nkf;Ro  ¼2½ eky 

  Explain the following in brief 

 (1) Liabilities (2) Goods 

iz'u&9- ys[kkadu dh iz.kkfy;k¡ le>kb;sA 

Describe the different system of Accounting. 

iz'u&10- ys[kkadu lwpuk dh xq.kkRed fo'ks"krkvksa dks le>kb,A 

Explain the qualitative characteristics of Accounting information. 
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bdkbZ& 2bdkbZ& 2bdkbZ& 2bdkbZ& 2    
    

ys[kkadu dh ewyHkwr ekU;rk;sa ,oa fl)kUr ys[kkadu dh ewyHkwr ekU;rk;sa ,oa fl)kUr ys[kkadu dh ewyHkwr ekU;rk;sa ,oa fl)kUr ys[kkadu dh ewyHkwr ekU;rk;sa ,oa fl)kUr     
(Accounting- Basic Assumption & Principle) 

    
 

iz'u 1- lR;@ vlR; crkb;s% 

 ¼v½ izR;sd lkSns esa nks i{k gksrs gSA 

There are two parties in each transaction.  

 ¼c½ mRiknu dh uhfr eqnzk ekiu dh vo/kkj.kk gSA  

Money measurement concept is policy of production. 

 ¼l½ iw¡th ¾ lEifRr;ksa & nkf;Ro  

Capital = Assets - Liabilities .  

 ¼n½ lEifRr;ksa ¾ nkf;Ro $ iw¡th  

Assets = Liabilities + capital 

y?kq mÙkjh; iz'u&4 vad (Short Answer Question 4 Marks)  

iz'u 2- ys[kkadu vfLrRo dh ekU;rk dks le>kkb,A 

  Explam the Accounting Entity Assumptions. 

iz'u 3- pkyw O;olk; dh ekU;rk ls vki D;k le>rs gSa\ 

  What do you understand by Going Concern Assumiption? 

iz'u 4- eqnzk ekiu dh ekU;rk D;k gS\ le>kb,A 

  What is Money Measurement Assumption? Explain. 

iz'u 5- ys[kk vof/k dh ekU;rk dk egRo fyf[k,A 

 Write the importance of Accounting period Assumption. 
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iz'u 6- vkxe dh izkfIr dc ekuh tkrh gS\ mnkgj.k lfgr le>kb,A 

  When should the Revenue be recognized? Explain with example. 

iz'u 7- fuEufyf[kr O;k[;k dhft,A Explain the following 

 ¼1½ tk¡p djus ;ksX; fyf[kr izek.k dh ekU;rk  

¼Varifiable objective Evidence Assumption½ 

 ¼2½ lkjrk dk fl)kUr ¼Principle of meteriality½ 

iz'u 8- ys[kkadu dh vk/kkjHkwr ekU;rkvksa dk D;k vk'k; gS\ 

  What is the meaning of Basic Assumptions of Accounting? 

iz'u 9- ys[kkadu dh pkj vk/kkjHkwr ekU;rkvksa ds uke fyf[k,A 

  Write four names of Basic Assumptions of Accounting. 

iz'u 10- ys[kkadu ds ifjorZuh; fl)kUr dk D;k vFkZ gS\ 

  What is Accounting Principle? 

iz'u 11 ys[kkadu ds ifjorZuh; fl)kUr dk D;k vFkZ gS\ 

  What is meant by Modified Principle of Accounting? 

iz'u 12 pkyw O;olk; dh ekU;rk ls D;k vk'k; gS\ 

What is the meaning of Going Concem Assumption? 

iz'u 13 eqnzk ekiu dh ekU;rk ls vki D;k le>rs gSa\ 

What do you understand by Money Measurement Assumption? 

iz'u 14 ys[kkadu fl)kUrksa ls vki D;k le>rs gS\ 

What do you understand by Accounting Principles. 

iz'u 15 ys[kkadu fl)kUrksa dh fo'ks"krkvksa dks le>kb;sA 

Explain Accounting Principles. 
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bdkbZ 3bdkbZ 3bdkbZ 3bdkbZ 3    

O;kolkf;d lkSnsO;kolkf;d lkSnsO;kolkf;d lkSnsO;kolkf;d lkSns    

(BUSINESS TRANSACTION) 

 

oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u (Objective Type Questions) 

1111----    lgh fodYi pqudj viuh mRrj&iqfLrdk esa fyf[k,%lgh fodYi pqudj viuh mRrj&iqfLrdk esa fyf[k,%lgh fodYi pqudj viuh mRrj&iqfLrdk esa fyf[k,%lgh fodYi pqudj viuh mRrj&iqfLrdk esa fyf[k,%    

    Select correct option and write in your answer-book. 

 (i) nksgjk ys[kk iz.kkyh dk vkjEHk gqvk Fkk A  

  ¼v½ vesfjdk esa  ¼c½ bVyh esa ¼l½ :l esa  ¼n½ Hkkjr esa 

  Double Entry system was introduced in: 

  (a) America  (b) Italy   (c) Russia  (d) India 

 (ii) iwWth [kkrk gSa% 

  ¼v½ O;fDrxr [kkrk  ¼c½ okLrfod [kkrk   

¼l½ vokLrfod [kkrk ¼n½ O;fDrxr ,oa okLrfod [kkrk 

  Capital Account is: 

  (a) Personal Account  (b) Real Account  

 (c) Nominal Account (d) Personal & Real Account 

2222----    fuEukafdr esa fjDr LFkkuksa dh iwfrZ dhft,%fuEukafdr esa fjDr LFkkuksa dh iwfrZ dhft,%fuEukafdr esa fjDr LFkkuksa dh iwfrZ dhft,%fuEukafdr esa fjDr LFkkuksa dh iwfrZ dhft,%    
 (i) --------------dks MsfcV rFkk------------dks ØsfMV djkssa ¼O;fDrxr [kkrk½ 

 (ii) O;;ksa dks --------- rFkk vk; dks -------- djksa ¼ukeek= [kkrs½ 

 (iii)  [kkrs dh ck;h vksj ---------- rFkk nk;h vksj --------- i{k gksrs gSa A 

 Fill up the gaps in the following:  

 (i) Debit the Account of ......... and credit the Account of ........(Personal Account) 

 (ii) ................ expenses and ............. gains. (Nominal Account) 

 (iii) Lift side of an account is ........ and right side is .......... 
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3333----    lgh fodYi crkb, % lgh fodYi crkb, % lgh fodYi crkb, % lgh fodYi crkb, % (State the correct option)    

 ¼1½ f}&izfof"V dk vFkZ gSa % 

  ¼v½ nks cfg;ksa esa izfof"V  ¼c½ nks frfFk;ksa esa izfof"V 

  ¼l½ ,d gh ysu & nsu ds nks i{kksa dh izfof"V A 

  ¼n½ mijksDr esa dksbZ ughaA 

(1) Meaning double Entry is: 

(a) Entry in two Bahies   (b) Entriy in two dates 

(c) Entry in two parties of the same transaction. 

(d) None of the above 

 ¼2½ jke dk eky udn cspk x;k fdlds [kkrs esa bldk ys[kk gksxk \ 

  ¼v½ jke ds [kkrs esa   ¼c½ udn ds [kkrs esa  

  ¼l½ foØ; ds [kkrs esa A   ¼n½ mijksDr esa dksbZ ughaA 

  (2) Goods sold to Ram for Cash in whose account will it be recorded?  

  (a) In the account of Ram  (b) In the account of cash 

  (c) In the account of sales.  (d) None of the above 

4- u;h e'khu ds LFkkiuk O;; MsfcV gksaxs % 

 ¼v½ O;; [kkrs esa   ¼c½ e'khu [kkrs esa A ¼l½ ykHk&gkfu [kkrs esaA 

 ¼n½ O;kikj [kkrs esa 

 Establishment expenses of new machine will be debited in : 

 (a) Expenses account    (b) Machine account   

(c) Profit and Loss Account  (d) Trading Acount 

5- fuEukafdar esa ls dksu ls ukeek= ds [kkrs gS\ 

 ¼v½ C;kt [kkrk   ¼c½ vnRr C;kt [kkrk A  

¼l½ vikftZr C;kt [kkrk  ¼n½ iwoZnRr C;kt [kkrk A 

 Which of the following are nominal account? 
 (a) Interest account,    (b) Outstanding interest account 

(c) Earned interest account (d) Prepaid interest account.  
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6- ^gkW* vkSj ^ugh* esa mRrj nhft,  

 ¼v½ izR;sd lkSns esa ,d :i gksrk gSa A 

 ¼c½ izR;sd MsfcV dk ØsfMV vo'; gksrk gSa A 

 ¼l½ gkfu;ksa dks MsfcV fd;k tkrk gSa A 

 ¼n½ fdjk;k [kkrk okLrfod [kkrk gS A 

 Answer in 'Yes' or 'No' 

 (a) There is only one aspect in each transaction.  

 (b) Every debit has a corresponding credit. 

 (c) Losses are debited. 

 (d) Rend account is real account.  

y?kq mRrjh; iz'u 4 vad y?kq mRrjh; iz'u 4 vad y?kq mRrjh; iz'u 4 vad y?kq mRrjh; iz'u 4 vad (Short Answer Questions 4 marks) 

iz'u&1- [kkrksa ds izdkj fyf[k, A 

  Write the types of accounts 

iz'u&2- O;fDrxr [kkrksa dks mnkgj.k nsdj le>kb, A 

  Explain personal account with examples. 

iz'u&3- dVkSrh dk vk'k; ,oa blds izdkj fyf[k, A 

  Write the meaning and types of discount. 

iz'u&4- nksgjk ys[kk iz.kkyh dh fo'ks"krk,W fyf[k, A 

  Write the characteristics of double entry system. 

iz'u&5- nksgjk ys[kk iz.kkyh dh izeq[k Jsf.k;kW ;k Hkkx fyf[k, A 

  Write main stages or part of double entry system.  

iz'u&6- nksgjk ys[kk iz.kkyh ls vki D;k le>rs gS\ Li"V dhft, A 

  What do you understand by double entry system? Explain.  

iz'u&7- O;fDrxr [kkrs esa lkSnksa ds ys[kk djus dk fu;e fyf[k, A 

  Write the rule for recording of transaction in personal account.  

iz'u&8- okLrfod [kkrs esa lkSns ds ys[kk djus dk fu;e fyf[k, A 

  Write the rule for recording in real account.  
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iz'u&9- iqLrikyu ,oa ys[kkdeZ dh nksgjs ys[ks iz.kkyh dks le>kb,A  

Explain in the Double Entry System of Book-keeping and Accountancy.  

iz'u&10- ^^,d MsfcV dks lerqY; ØsfMV dh vksSj ,d ØsfMV dks lerqY; MsfcV dh 

vko';drk gksrh gSa A** bl dFku ds lUnHkZ esa nksgjk ys[kk iz.kkyh dh eq[; 

fo'ks"krkvksa dks le>kb, A 

"There should an equal credit for every debit and an aqual debit for every 

credit." In the light of this statement explain the chief characteristics of Double 

Entry System  of book-keeping.  

iz'u&11- f}izfof"V iz.kkyh ls vki D;k le>s gSa\ blds fu;eksa dks fyf[k,A 

  What do you understand by double entry system? Write its rules.  

iz'u&12- ifjHkk"kk fnft, & iwWth] lEifRr] nkf;Ro ,oa vkgj.k A 

  Define - Capital, Assets, Liabilities and Drawings.  

iz'u&13- ys[kkadu ds ewy izys[kksa ls vki D;k le>rs gSa\ 

  What do you understand by souce documents of accounting? 

iz'u&14- ys[kkdu lehdj.k dk vFkZ la{ksi esa le>k,A 

  Explain in short the meaning of accounting equation.  

iz'u&15- iqLrikyu ,oa ys[kkdeZ ds dksbZ pkj ykHk fyf[k,A 

  Write any four advantages of Book-keeping and Accountancy. 

iz'u&16- _.knkrkvksa dh lerk ls vki D;k le>rs gSaA 

  What do you understand by 'Creditor's Equity'? 

iz'u&17- Lokeh dh ns;rk D;k gS\  

  What is owner's equity?  
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 iz'u&18- ys[kkadu lehdj.k ij laf{kIr fVIi.kh fyf[k,A 

  Write short note on "Accounting Equation". 

iz'u&19- fofHkUu izdkj ds ewy izys[kksa dks le>kb,A 

  Explain various types of source documents. 

iz'u&20- ys[kkadu lehdj.k D;k gS\ mi;qDr mnkgj.k nsdj le>kb,A 

  What is accounting equation? Explain with suitable example. 

 iz'u&21- ys[kkadu lehjd.k lHkh ifjfLFkfr;ksa esa lR; gksrk gSaA fl) dhft,A 

  Accounting equation is true under all circumstances. Justify. 

iz'u&22- vk/kkjHkwr ys[kk lehdj.k dk o.kZu dhft,A  

  Describe the fundamental accounting equation.  
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bdkbZ&4bdkbZ&4bdkbZ&4bdkbZ&4    

nSfud iath ,oa lgk;d cfg;k¡ nSfud iath ,oa lgk;d cfg;k¡ nSfud iath ,oa lgk;d cfg;k¡ nSfud iath ,oa lgk;d cfg;k¡     

(JOURNAL AND SUBSIDIARY BOOKS) 

 

oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u (Objective Type Questions) 

iz'u 1- ̂^gkW** ;k ^ugh* esa mRrj nhft, % 

(i) ikus okys dk [kkrk MsfcV fd;k tkrk gSa A 

(ii) gkfu [kkrk ØsfMV fd;k tkrk gSa A 

(iii)  jes'k dks eky cspk & ;gkW jes'k dk [kkrk MsfcV fd;k tk;sxk A 

(iv) etnwjh Hkqxrku dh & ;gkW etnwjh [kkrk ØsfMV fd;k tk;sxk A 

(v) v ls eky [kjhnk & ;gkW v dk [kkrk ØsfMr fd;k tk;sxkA 

 Answer in 'Yes' or 'No' 

(i) Receiver's account is debited.  

(ii) Loss account is credited. 

(iii) sold goods to Ramesh- here Ramesh's account will be debited. 

(iv) Paid wages- here wages account will be credited.  

(v) Purchased goods from A- here A's account will be credited. 

iz'u2- m/kkj csps x;s eky dk ys[kk fd;k tkrk gSa % 

 (i) jksdM+ iqLrd    (ii) foØ; okilh iqLrd esa   

(iii)  foØ; iqLrd esa  (iv) tuZy esa  

 Goods sold on credit is recorded:  

 (i) In the cash book   (ii) In the sales return  book 

 (iii) In the sales book  (iv) in the Journal  
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iz'u3iz'u3iz'u3iz'u3----    [kkyh LFkkuksa dh iwfrZ dfj, %[kkyh LFkkuksa dh iwfrZ dfj, %[kkyh LFkkuksa dh iwfrZ dfj, %[kkyh LFkkuksa dh iwfrZ dfj, %    

¼v½ jksdM+ iqLrd esa --------------- lEcU/kh O;ogkj gh fy[ks tkrs gSa A 

¼c½ foØ; iqLrd esa----------------- fcØh fy[kh tkrh gSa A 

¼l½ Ø; iqLrd esa ------------ Ø; fy[kk tkrk gSa A 

¼n½ izkI; fcy iqLrd esa --------- fcyksa ls lacaf/kr lkSns fy[ks tkrs gSa A 

¼b½ ns; fcy iqLrd esa ---------- fcyksa ls lacaf/kr lkSns fy[ks tkrs gSa A  

 Fill up the gaps: 

 (a) ------------ transactions are recorded in cash book. 

 (b) ------------- sale is recorded in sales book. 

(c) ----------- purchase if recorded in purchases book. 

(d) Transactions related with bills ----------- are recorded in Bills Receivable book. 

(e) transactions related with bills ---------- are recorded in Bills Payable book.  

iz'u4iz'u4iz'u4iz'u4----    fuEukafdr iz'uksa ds mRrj nhft, %fuEukafdr iz'uksa ds mRrj nhft, %fuEukafdr iz'uksa ds mRrj nhft, %fuEukafdr iz'uksa ds mRrj nhft, %    

¼v½ foØ; fd;s gq, eky dh okilh dk ys[kk fdl iqLrd esa fd;k tkrk gSa \ 

¼c½ Ø; fd;s gq, eky dh okilh dk ys[kk fdl iqLrd esa fd;k tkrk gS\ 

¼l½ m/kkj Ø; dk ys[kk fuEukafdr esa ls fdl iqLrd esa fd;k tkrk gSa \ 

 (i) jksdM+ iqLrd  (ii) tuZy (iii)  Ø; iqLrd 

 Answer the following questions: 

(a) In which book sales returns are recorded?  

(b) In which book purchases returns are recorded.  

(c) In which of the following book credit purchase is recorded?  

(i) Cash Book,  (b) Journal,  (c) Purchases book.  

iz'u&5- foØ; iqLrd esa ys[kk fd;k tkrk gSa A 

 (i) lEiw.kZ m/kkj foØ; dk   (ii) dsoy eky ds m/kkj foØ; dk  

 (iii) udn foØ; dk A  

  Record is made in sales book: 

 (i) Total credit sales  (ii) Only credit sales of goods  (iii)  Cash sales.  
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iz'u&6-(i) D;k Ø; iqLrd esa lHkh izdkj ds Ø; fy[ks tkrs gSa \ 

 (ii) D;k jksdM iqLrd dk lekdyu 'ks"k = gLrLFk jksdM+ \ 

(i) Are all types of purchases recorded in purchases book? 

(ii) does credit balance of cash book = cash in hand?  

iz'u&7- tuZy dh izfof"V dhft, % 

  500 :- dk QuhZpj Ø; fd;k A 

  Pass the Journal entry. 

  Purchased furniture of Rs. 500. 

y?kq mRrjh; iz'u 4 vad y?kq mRrjh; iz'u 4 vad y?kq mRrjh; iz'u 4 vad y?kq mRrjh; iz'u 4 vad (Short Answer Questions 4 marks) 

iz'u&8- fuEu ds laca/k esa tuZy dh izfof"V;kW dhft,% 

  ¼v½ NwV nh ] ¼c½ NwV feyh] ¼l½ u;h e'khu ds LFkkiuk O;; fn;s 

  Pass journal entries about the following: 

  (i) Allowed discount,   (ii)  Received discount  

  (iii) Establishment expenses of new machine.  

iz'u&9- ehuk dks 2]000 :- ds Hkqxrku esa 1]190 :- nsdj iw.kZ Hkqxrku ekuk x;k A blds 

fy, tuZy dh izfof"V dhft, A 

Paid Rs. 1,190 to Meena in full satisfaction of her claim of Rs. 2,000. Pass 

journal entry for the same.  

iz'u&10- vokLrfod [kkrs ds vkB mnkgj.k nhft, A 

  Give eight examples of nominal accounts.  

iz'u&11- [kqnjk jksdM+ cfg;ksa ds izdkj fyf[k, A 

  Write the types of Pettry cash book. 

iz'u&12- jksdM+ cfg;ksa ds izdkj fyf[k, A 

Write the types of cash book.  

iz'u&13- foØ; iqLrd dk uewuk rhu O;ogkjksa dks izdV djrs gq, cukb, A 

  Give the specimen of sales book with three transactions.  
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iz'u&14- Ø; iqLrd dk uewuk rhu O;ogkjksa dks izdV djrs gq, cukb, A 

  Give the specimen of purchases book with three transactions.   

iz'u&15- mHk; i{k ys[kksa dks rhu mnkgj.k nsdj le>kb;sa A 

  Explain contra entries with three examples.  

iz'u&16- tuZy dh lgk;d iqLrdksa ds uke fyf[k, A 

  Write the names of subsidiary books of journal. 

nh?kZ mRrjh; iz'u 5 vad nh?kZ mRrjh; iz'u 5 vad nh?kZ mRrjh; iz'u 5 vad nh?kZ mRrjh; iz'u 5 vad (Long Answer Questions 5 marks) 

iz'u&17- tuZy esa ys[kk djus ds fu;eksa dk foLrkjiwoZd mnkgj.k lfgr o.kZu dhft, A 

  Explain the rules of journalising fully giving illustrations.  

iz'u&18- tuZy dk D;k vk'k; gS \ blesa okLrfod [kkrksa ls lacaf/kr lkSnksa ds ys[kk djus 

ds D;k fu;e gSa \ 

What is meant by Journal? What are the rules of recording transactions relating 

to real accounts in it?  

iz'u&19- lgk;d iqLrdsa D;k gSa \ orZeku iqLrikyu esa budk D;k LFkku gSa \ O;olk; esa 

vf/kdre iz;ksx dh tkus okyh lgk;d iqLrdksa dk o.kZu dhft, A 

What are subsidiary books ? What is their place in modern book-keeping? 

Describe those subsidiary books which are mostly used in business.  

iz'u&20- eq[; tuZy D;k gS \ blesa dkSu ls ys[ks fd;s tkrs gSa \ 

What is proper journal ? What records are made in it?  

iz'u&21- izkjfEHkd ys[kksa ,oa vfUre ys[kksa dh izfof"V;ksa dks foLrkj ls le>kb, A 

Explain in detail opening and closing entries.  

iz'u&22- cká izs"k.k cgh] foKkiu cgh] m/kkj laxzg cgh rFkk nSfud udn fcØh cgh dks 

Li"V dhft, A 

Explain outward consignment book, advertisement book, credit collection book 

and daily cash sales book.  
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iz'u&23- izkI; fcy iqLrd vkSj ns; fcy iqLrd ds uewus dqN dfYir mnkgj.k nsdj cukb,A 

Give specimens of Bills Receivable book and Bills Payable book after taking 

same imaginary examples.  

iz'u&24- jksdM+ iqLrd D;k gS \ blds fofHkUu izdkj crkb, A  

What is a cash book State its various types ?  

iz'u&25- t; dh tuZy esa fuEukafdr lkSnksa ds ys[ks dfj, % 
  2006        :- 

vizSy 1 jksdM+ ls O;kikj izkjEHk fd;k   10]000 

^^ 2 udn eky Ø; fd;k     2]000 

^^ 5 eksgu ls eky [kjhnk     5]000 

^^ 7  e'khu [kjhnh       1]000 

^^ 11  'kadj dks eky cspk      3]000 

^^ 12 eksgu dks eky okil fd;k        50 

^^ 16 'kadj ls eky okil vk;k       40 

  Journalise the following transaction in Jay's Book: 

  2006         

  April  1 Started business with cash    10,000 

  " 2 Purchased goods for cash    2,000 

  " 5 Purchased goods from Mohan    5,000 

  " 7 Bought machinery      1,000 

  " 11 Sold goods to Shankar     3,000 

  " 12 Returned goods to Mohan          50 

  " 16 Goods returned by Shanker         40 

 

iz'u&26- vxzoky dh tuZy esa fuEukafdr lkSnksa ds ys[ks dfj, % 
      2006        :- 

vizSy 1 eksgu dks jksdM+ nh       4]000 

^^ 3 jes'k ls eky Ø; fd;k      2]000 

^^ 6 'kadj ls jksdM+ izkIr dh     2]500 

^^ 8 fnus'k dks eky cspk      1]000 
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^^ 11  vkgj.k fd;k          400 

^^ 14 O;kikfjd O;; fn;s          30 

^^ 16 osru gjh'k dks fn;k         100 

^^ 19 fctyh O;; fn;s          30 

  Journalise the following transaction in Agrawal's Book: 
  2006 
  April  1 paid cash to Mohan        4,000 

  " 3 Purchased goods form Ramesh      2,000 

  " 6 Received cash from Shanker       2,500 

  " 8 Sold goods to Dinesh       1,000 

  " 11 Withdrawals              400 

  " 14 Paid trade expenses              30 

  " 16 Salary paid to Harish            100 

  " 19 Paid electricity charges            30 

iz'u&27- fuEukafdr O;ogkjksa ls ls Jh 'kadjyky dh iqLrdksa esa tuZy ds vko';d ys[ks 

dfj,% 2006% ebZ 1 % lq/khj ls eky Ø; fd;k 200 :-] ebZ 2 % lqjsUnz dks eky 

cspk 180 :-] ebZ 3% egs'k ls jksdM+ izkIr dh 300 :-] ebZ 4% lq/khj dks jksdM+ 

nh 80 :-] ebZ 5% jke ls udn eky Ø; fd;k 120 :-] ebZ 6% eksgu dks eky 

udn cspk 100 :-] ebZ 7% jes'k dks udn osru fn;k 160 :-] ebZ 8% deh'ku 

udn feyk 60 :- A  

From the following transactions pass journal entries in the books of Shri 

Shankar Lal 2006 : May 1, Purchased from Sudhir goods Rs. 200, May 2: Sold 

goods to Surendra Rs. 180, May 3: Cash received from Mahesh Rs. 300, May 4 

: Gave cash to Suhdir Rs. 80, May 5: Purchased goods from Ram for cash Rs. 

120, may 6 : Sold goods to Mohan for cash Rs. 100, may 7: Paid salary to 

Ramesh in cash Rs. 160,  May 8: Received in cash commission Rs. 60.  
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iz'u&28- vxzoky dh iqLrdksa esa fuEukafdr ysu nsu ds fy, tuZy ds vko';d ys[ks dfj,% 

 2006 tuojh 1 % vxzoky us 6]000 :i;s jksdM+h vksj 2]000 :i;s ds eky ls 

O;kikj vkjEHk fd;k] tuojh 2 % jes'k ls eky [kjhnk 1]500 :i;s] tuojh 2% 

udn eky [kjhnk 2]000 :i;s] tuojh 2% fnus'k ls eky [kjhnk 500 :i;s] 

tuojh 3% udn eky cspk 3]000 :i;s] tuojh 3% eksgu dks eky cspk 1]000 

:i;s] tuojh 3% jke dks eky cspk 200 :i;s] tuojh 15 % jes'k dks jksdM+ nh 

1]500 :i;s] tuojh 15% fnus'k dks jksdM+ nh 500 :i;s] tuojh 31% osru fn;k 

100 :i;s] tuojh 31 % etnwjh nh 50 :i;s A  

Journalise the following transactions in the books of  Agrawal : 

2006 Jan. 1: Agrawal commenced business with cash Rs. 6,000 and Goods Rs. 

from Ramesh Rs. 1,500, Jan 2: Purchased goods for cash Rs. 2,000, jan 2: 

Purchased good from Dinesh Rs. 500, Jan 3: Cash Sales Rs. 3,000, Jan 3: Sold 

goods to Mohan Rs. 1,000: Jan. 3: Sold goods to Ram Rs. 200, Jan 15: gave 

cash to Ramesh Rs. 1,500, jan 15: Gave cash to Dinesh Rs. 500, Jan. 31: Paid 

salary Rs. 100, Jan. 31: Paid wages Rs. 50. 

  
iz'u&29- fuEukafdr O;ogkjksa ds fy, tuZy ds vko';d ys[ks dfj,% 

2006 tuojh 1  lqjs'k ls 20% O;kikfjd dVkSrh vkSj 5% udn dVkSrh ij 20]000 

:- lwph ewY; dk eky udn [kjhnk A  

      tuojh 5 egs'k us 20% dh O;kikfjd dVkSrh ij 8]000 :- lwph ewY; dk 

eky [kjhnk  

 tuojh 6  [kjkc gksus ds dkj.k egs'k dks 700 :- lwph ewY; dk eky ykSVk;kA 

 tuojh 10 futh iz;ksx ds fy, 200 :- dk eky vkgj.k fd;k A 

 tuojh 12 fnus'k dks 2]000 :- lwph ewY; dk eky udn cspk] dVkSrh & 

O;kikfjd 5% dhvkSj udnh 1% A 
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 tuojh 21 5]000 :- lwph ewY; dk eky eksgu dks 6% O;kikfjd dVkSrh vkSj 

1% udn dVkSrh ij cspk] mlus 60% jkf'k udn ns nh gSa A 

 tuojh 31 eksguyky ls 10% O;kikfjd dVkSrh vkSj 3% udn dVkSrh ij 

6]000 :- lwph ewY; dk eky [kjhnk] 80% /ku udn ns fn;k x;k 

gS A 

Pass Journal entries in respect of the following transactions. 

2006 Jan. 1  Purchased from Suresh goods for cash at a list price of Rs.  

20,000, at trade discount of 20% and cash discount of 5%. 

Jan. 5 Purchased from Mahesh goods of a list price of Rs. 8,000 at 20% 

trade discount.  

Jan. 6 Returned goods of a list price of Rs. 700 to Mahesh as it was 

defective.  

Jan. 10 Withdraw goods for personal use Rs. 200.  

Jan. 12 Sold to Dinesh for cash goods of a list price of Rs. 2,000 at a 

trade discount of 5% and cash discount of 1%. 

Jan. 21 Sold to Mohan at a trade discount of 6% and cash discount of 1% 

goods of the list price of Rs. 5,000. He has paid 60% amount in 

cash.  

Jan. 31  Purchased from Mohan Lal goods at a list price of Rs. 6,000 at 

10% trade discount and 3% cash discount. Cash was paid upto 

80% of the amount.  

 
iz'u&30- fuEukafdr lkSnksa ds fy, t; dh iqLrdksa esa tuZy ds vko';d ys[ks dfj, % 

2006 % twu 1 t; us 50]000 :i;s ls C;kikj vkjEHk fd;k] ftlesa ls 30]000 

:- mldk Lo;a dk gS vkSj 20]000 :i;s mlus vius HkkbZ lq'khy ls m/kkj fy;s 

gSa A twu 7% 20]000 :i;s dk eky [kjhnk] blesa ls 14]000 :- dk eky chek 

fd;k gqvk gS A chfer eky esa ls 3]000 :i;s dk eky vkx ls ty x;k fdUrq 
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gkfu dsoy 2]500 :i;s dh gqbZ A chek dEiuh us bl nkos dks Lohdkj dj fy;k 

ysfdu Hkqxrku 10 twu dks fd;k A  

Make necessary entries in the Journal of Jay in respect of following 

transactions:  

2006 : June 1: Jay commenced business with Rs. 50,000, out of which Rs. 

30,000 were his own and Rs. 20,000 were borrowed by him from his brother 

Sushil. June 7: Purchased goods for Rs. 20,000 out of which goods of the value 

of Rs. 14,000 are insured. Insured goods of the value of Rs. 3,000 were 

destroyed by fire but loss amounted to Rs. 2,500 only. The insurance company 

accepted this claim but paid for it on June 10  

 

iz'u& 31 fuEukafdr lkSnksa dks lqjsUnz ds tuZy esa izfo"V dhft, tks diM+s dk O;olk;h gS 

vkSj blh diM+s dks eky ekurk gS% 2006 % tuojh 2% jke ls eky Ø; fd;k 

1]500 :-] tuojh 3% jke dks eky ykSVk;k 500 :- ] tuojh 3% udn eky Ø; 

fd;k 5]000 :-] tuojh 4 % udn eky cspk 3]000 :-] tuojh 5% vtqZu dks 

eky cspk 100 :-] tjojh 10 % QuhZpj ds Ø; ds fy, udn fn;k 2]000 :-] 

tjojh 13% vtqZu ls pSd izkIr gqvk 100 :-] tuojh 20 % eksgu dks eky cspk 

2]000 :- A  

 Enter the following transactions in the Journal of Surendra who is cloth 

merchant and regards this cloth as goods: 2006:  Jan. 2: Purchased goods from 

Ram Rs. 1,500: Jan 3: Returned goods to Ram Rs. 500: Jan. 3: Puchased goods 

for cash Rs. 5,000, Jan 4:  Sold goods for cash Rs. 3,000, Jan 5: Sold goods to 

Arjun Rs. 100, Jan. 10: Paid cash for buying furniture Rs. 2,000, Jan. 13: 

Received cheque from Arjun Rs. 100, Jan. 20: Sold goods to Mohan Rs. 2,000, 

Jan. 21: Mohan returned goods Rs. 200.  
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iz'u&32- lksgu us 1 tuojh] 2006 dks 10]000 :- iwWth ls O;kikj 'kq: fd;k A tuojh] 

2006 ds fy, mldh jksdM+ lEcU/kh izkfIr vkSj Hkqxrkuksa dk fooj.k fuEu izdkj gS% 

          :- 

 tuojh 2 eky udn [kjhnk     5]000 

 tuojh 5 udn fcØh gqbZ     2]000 

 tuojh 7 dk;kZy; ds O;;ksa dk Hkqxrku fd;k    200 

 tuojh 10 udn eky [kjhnk     2]000 

 tuojh 12 Mkd O;;         25 

 tuojh 15 jes'k dks fn;s      3]000 

 tuojh 17 egs'k ls izkIr        200 

 tuojh 20 eky dh udn fcØh     1]000 

 tuojh 22 eky dh udn [kjhn       900 

 mi;qZDr lkSnksa dks jksdM+ iqLrd esa fyf[k, A  

On 1st January, 2006, Sohan started business with a capital of Rs. 10,000. The 

particulars of  his cash receipts and payments for January 2006 are given 

below: 

    2006       Rs.  

Jan. 2  Puchased good for cash    5,000 

Jan. 5  Sold goods for Cash    2,000 

Jan.  7  Paid office expenses       200 

Jan. 10 Purchased for cash     2,000 

Jan. 12 Postage           25 

  Jan. 15 Gave to Ramesh     3,000 

  Jan. 17 Received from Mahesh      200 

  Jan. 20 Cash Sales      1,000 

  Jan. 22 Cash Purchases       900 

  Record the above transactions in the Cash Book.  
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iz'u&33- eksgu us 1 tuojh] 2006 dks O;kikj izkjEHk fd;k A uhps fy[ks lkSnksa ls nks [kkus 

okyh jksdM+ iqLrd cukb, %        

  2006        :- 

 tuojh 1 O;kikj 'kq: fd;k    15]000 

 tuojh 3 lqjs'k dks Hkqxrku fd;k      800 

   mlus NwV nh         10 

 tuojh 5 eksgu ls izkIr gq,        900 

   mlus NwV nh         15 

 tuojh 7 eky dk udn Ø;     6]000 

 tuojh 10 eky dh udn fcØh    4]000 

 tuojh 12  eky dk udn Ø;    3]000 

 tuojh 15 eky dh udn fcØh     2]000 

 tuojh 17 600 :- dk Hkqxrku 2% dVkSrh  

dkVdj lqjs'k dks fd;k  

 tuojh 20 eky dk udn Ø; fd;k   4]410 

    

Mohan commenced business on 1st january, 2006. Prepare a Two Columnar 

Cash Book from the transactions given below:  

    2006       Rs.  

Jan. 1  Started Business     15,000 

Jan. 3  Paid to Suresh         800 

  He gave discount            10 

Jan.  5  Received from Mohan         900 

  Allowed him discount           15 

Jan. 7  Cash Purchases       6,000 

Jan. 10 Cash sales        4,000 

  Jan. 12 Cash Purchases        3,000 
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  Jan. 15 Cash sales        2,000 

  Jan. 17 Payment of Rs. 600  was made 

to Suresh after deduction of 2% discount     

Jan. 20 Purchased goods for cash       4,410 

   

iz'u&34- fuEukafdr dks ehuk dh jksdM+ iqLrd esa fyf[k, vkSj [kkrkcgh esa [krkSuh dhft,% 
 2006 

 vizSy  1 izkjfEHkd 'ks"k% jksdM+ 8]000 :] cSad 3]000 :- 

 vizSy  3 eky Ø; fd;k vkSj pSd }kjk Hkqxrku fd;k 1]000 :- 

 vizSy  4 eky dh udn fcØh 500 :- 

 vizSy  5 eky dh udn fcØh 300 :- 

 vizSy  6  cSad esa tek fd;k 300 :- 

 vizSy  9 eksgu ls 400 :- vk;s vkSj dVkSrh nh 10 :- 

 vizSy  12 pSd }kjk futh iz;ksx ds fy, vkgj.k fd;k 500 :- 

 vizSy  14 futh iz;ksx gsrq vkgj.k fd;k 50 :- 

 viSzy  15 ns; fcy dk Hkqxrku fd;k 600 :- 

 vizSy  17 lqjs'k dks pSd }kjk Hkqxrku fd;k 400 :- mlus dVkSrh nh 10 :- 

 vizSy  20 nhukukFk ls 525 :- ds fglkc dh iw.kZ pqdrh esa pSd }kjk izkIr gq,  
500 :- 

Enter the following into Cash Book of Meena and then post them into ledger: 

2006.       

April 1 Opening Balance Cash Rs. 8,000, Bank Rs. 3,000. 

April  3 Purchased goods and paid for them by cheque, Rs. 1,000. 

April  4 Cash sales Rs. 500 

April  5 Cash sales Rs. 300 

April  6 Deposited into bank Rs. 300 

April 9 Received from Mohan Rs. 400 and allowed him discount Rs. 10 
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April  12 Withdrew by cheque for personal use Rs. 500. 

April  14 Withdrew for personal use Rs. 50. 

April 15 Paid B/P of Rs. 600 

April  17 Paid Suresh by cheque Rs. 400, He allowed discount Rs. 10. 

April  20 Received from Dina Nath a cheque for Rs. 500 in full settlement  

of our claim for Rs. 525. 

iz'u&35- eksgu cznlZ viuh leLr izkfIr;ka vkSj laxzg izfrfnu cSad esa vius pkyw [kkrs esa  

tek djk nsrs gSa A vkSj lkjs Hkqxrku pSd }kjk djrs gS A vizSy 2006 ds ekg esa 

fuEufyf[kr lkSns gq, A blls cSad vkSj dVkSrh okys [kkuksa dh jksdM+ iqLrd 

cukb,%  

cSad }kjk MsfcV 'ks"k 8]00 :] vizSy 5% eksgu ls 2]050 :- ds fglkc dh iw.kZ  

pqdrk esa 2]000 :- izkIr gqq,] vizSy 7% lqjs'k dks psSd }kjk 2]500 :- fn;s vkSj 

25 :- dVkSrh feyh] vizSy 10% eky Ø; fd;k 4]950 :- 

Mohan Bros. deposit all the receits and collections in their Current A/c in the 

bank daily, and make all their payments by cheque. The following transactions 

took place in April 2006. Write up Cash Book with cash and discount columns 

with these transaction.  

April 1: Bank's debit balance Rs. 8,000, April 5, Received Rs. 2,000 from 

Mohan in settlement of his account for Rs. 2,050 , April 7. Paid to Suresh by 

cheque Rs. 2,500 and received discount Rs. 25, April 10: Purchased goods Rs. 

4,950.  

iz'u&36- ,DLk dh iqLrdksa esa fuEu fooj.k ls tuojh 2006 dh lk/kkj.k [kqnjk jksdM+  
  iqLrd cukb;sa A 
         :- 

 tu- 1 y?kq jksdfM+;k ds ikl 'ks"k    5 

 tu-  1 jksdfM+;k ls pSd feyk    45 

 tu- 3 NikbZ ,oa ys[ku lkexzh ds fy, fn;s 7-50 
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 tu- 8 tyiku ds fy, fn;s     3-50 

Write up the Simple Petty Cash Books in the book of X for January 2006 from 
the particulars given below: 
       Rs. 

 Jan. 1 Balance with the Petty Cashier   5 

 Jan. 1 Received cheque from Cashier   45 

 Jan  3 Paid for printing and stationery   1.50 

 Jan 8 Paid for refreshment    3.50 

iz'u&37- 2006 tuojh ds fuEu O;ogkjksa dks Y dh [kqnjk jksdM+ iqLrd esa fyf[k, vksSj fQj 

[kkrkcgh esa [krkSuh dfj, % 

 tuojh 1 eq[; jksdfM+;k ls izkIr gq,      30-00 

 tuojh 2 Mkd O;;        6-50 

 tuojh 3 dqyh HkkM+k fn;k        1-50 

 tuojh 4 VsDlh HkkM+k fn;k        1-00 

 tuojh 5 rkj          2-00 

 tuojh 6 fyQkQs         1-20 

 tuojh 7 ukSdjksa dks buke        3-00 

  Record the following transactions of January, 2006 in Petty Cash Book of Y 

and also post them into ledger:  

 Jan. 1 Received from Head Cashier   30.00 

 Jan. 2 Postage        6.50 

 Jan. 3 paid coolie charges       1.50 

 Jan.  4 paid taxi charge       1.00 

 Jan.  5 Telegram        2.00 

 Jan.  6 Envelopes        1.20 

 Jan.  7 Reward to servants.       3.00 
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iz'u&38- fuEufyf[kr lkSnksa dks vxzoky dh Ø; iqLrd esa fyf[k, vksj [kkrkcgh esa [krkSuh 

dhft,% 

 2006 % tuojh 1 % lq/khj ls eky [kjhnk 500 :-] tuojh 8 % f'koeaxy ls eky 

[kjhnk 800 :-] tuojh 20 % fo|klkxj ls eky [kjhnk 1]000 :-] tuojh 25 % 

vkuUn lkxj ls eky [kjhnk 600 :-]  

 Record the following transactions in Purchases Book of Agrawal  and post into 

Ledger 2006: 

 Jan. 1: Purchased goods from Sudhir Rs. 500, Jan. 8: Purchased goods from 

Shiva Mangal Rs. 800, Jan. 20: Purchased goods from Vidya Sagar Rs. 1,000, 

Jan 25: Purchased goods from Anand Sagar Rs. 600.  

iz'u&39- 2006 twu esa usgk dh Ø; okilh iqLrd esa fuEukafdr lkSns fyf[k, % 

 twu 6 % jes'k czknlZ dks eky ykSVk;k 50 :- ] twu 8% lksgu czknlZ dks eky 

ykSVk;k 45 :-] twu 15 % izse ,.M dEiuh dks eky okil fd;k 70 :- A  

 Record the following transactions in Purchases Returns Book of Neha for June 

2006: 

 June 6: Returned goods to Ramesh Brothers Rs. 50: June 8: Returned goods to 

Sohan Bros. Rs. 45: June 15: Returned goods to Prem & Co. Rs. 70.  

iz'u&40- 2006 twu ds fuEu lkSnksa dks foosd dh foØ; iqLrd esa fyf[k, rFkk ystj esa 

[krkSuh dfj, % 

 twu 5 % fo'okl ,.M dEiuh dks eky cspk 300 :-] twu 8 % feJk czknlZ dks 

eky cspk 500 :- twu 10 % d"̀.kk ,.M dEiuh dks eky cspk 600 :- A 

 Record the following transactions of June 2006  in Sales Book of Vivek and 

post into Ledger: 

 June 5: Sold goods to Biswas & Co. Rs. 300, June 8: sold goods to Misra Bros. 

Rs. 500, June 10: sold goods to Kirshan & Co. Rs. 600.  
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iz'u&41- fuEukafdr lkSnksa dks lhek dh foØ; okilh iqLrd esa fyf[k, % 

 2006 

 tqykbZ  1 lksgu ,.M lal us 50 cksjs pkoy ykSVk;k] nj 130 :- izfr cksjk  

 tqykbZ 2 jes'k ,.M lUl us 60 cksjs phuh ykSVk;h] nj 150 :- izfr cksjk  

 tqykbZ 20 lq/khj us 10 fVu ?kh okil fd;k] nj 120 :- izfr fVu 

 tqykbZ 25 fnus'k us 200 :- dher dk eky ykSVk;k A  

 Write-up Sales Returns Book of  Seema from the following transactions: 

 2006: July 1: Sohan & Sons returned 50 Bags of rice, Rate Rs. 130 per bag, 

July 2: Ramesh & sons returned 60 bags of sugar, rate Rs. 150 per bag, July 

20: Sudhir returned 10 tins of ghee, rate Rs. 120 per tin, July 25: Dinesh 

returned goods of the value of Rs. 200.  

iz'u&42- vxzoky dh izkI; fcy iqLrd esa 2006 tuojh ds fuEukafdr lkSns fyf[k,% 
 2006 

tuojh 1 eksgu ij fcy fy[kk] tks 3]000 :- dk gS vkSj 35 fnu ds ckn ns; gSaA 
tuojh 5 fnus'k dh 4]000:- dh Lohd`fr izkIr gqbZ vkSj mls eksgu dks cspku fd;kA 
tuojh 7 jke ij ,d fcy 900 :- dk 20 fnu ds fy, fy[kk tks mlus Lohdkj 

djds okil Hkst fn;k A 
tuojh 8 Jh ,Dl ls 2 ekg dh vof/k dk ,d izkI; fcy 6]000 :- jkf'k dk izkIr 

gqvk A  
Record the following transactions of Jan. 2006 in the Bills Receivable Book of 
Agrawal : 

 2006 

 Jan. 1  Draw a bill on Mohan for Rs. 3,000 payable after 35 days. 

 Jan 5  Received from Dinesh his acceptance for Rs. 4,000 and endorsed the  

same to Mohan. 

 Jan 7  Dreq a bill on Ram for Rs. 900, payable after 20 days, which he duly  

accepted and returned.  

 Jan.8  Recevied a bills receivable from X for Rs. 6,000 payble after 2 months.  
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bdkbZ&5bdkbZ&5bdkbZ&5bdkbZ&5    

[kkrk cgh[kkrk cgh[kkrk cgh[kkrk cgh    

(LEDGER) 

 

oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u (Objective Type Questions) 

iz'u1- uhps fy[ks iz'uksa ds mRrj ^^gkW** ;k ^^ugh** esa nhft, A 

 ¼v½ [kkrk cgh ds izR;sd [kkrs dks foRrh; o"kZ ds vUr esa cUn fd;k tkrk gSa A 

¼c½ ;fn ,d [kkrs ds MsfcV i{k dk tksM+ blds ØsfMV i{k ds tksM+ ls vf/kd gksrk gS 

rks bldh ckdh dks MsfcV ckdh dgk tkrk gSa A 

¼l½ eky [kkrk cukrs le; vfUre jgfr;s dk ewY;kadu ykxr ewY; ij fd;k tkrk  

gSa A 

¼n½ osru [kkrs dh MsfcV ckdh dks ykHk&gkfu [kkrs esa gLrkUrfjr ugha fd;k tkrk gSaA 

 Answer the following questions in 'Yes' or 'No': 

(a) Every account of the ledger is closed at the end of the financial year. 

(b) If the total of debit side of one account is more than its credit side then the 

balance of this account is called debit balance. 

(c) Closing stock is valued at cost price at the time of preparing goods account.  

(d) Debit balance of salaries account is not transferred to Profit and Loss Account.  

iz'u2iz'u2iz'u2iz'u2----    fjDr LFkkuksa dh iwfjDr LFkkuksa dh iwfjDr LFkkuksa dh iwfjDr LFkkuksa dh iwfrZ dfj,%frZ dfj,%frZ dfj,%frZ dfj,%    

¼v½ ukeek= ds [kkrksa dh ckfd;ksa dks O;kikfjd [kkrs ;k ------- [kkrs esa gLrkUrfjr 

fd;k tkrk gSa A 

¼c½ O;fDrxr [kkrs dh ckdh ------- ys tk;h tkrh gSa A 

¼l½ izR;sd [kkrs esa ------------ i{k gksrs gSa A 

¼n½ okLrfod [kkrs ds MsfcV i{k dk tksM+ blds ØsfMV i{k ds tksM+ ls vf/kd gksus ij] 

bl [kkrs dh ckfd dks ----------- ckdh dgk tkrk gSa A 
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 Fill up the blanks : 

 (a) Balances of nominal accounts are transferred trading account or ------ account. 

 (b) Balance of personal account is carried .................. 

(c) Every account has ............... sides.  

(d) If the total of debit side of real account is more than the total of its credit side, 

then the balance is called ............ balance.  

iz'u3- ¼v½ fdl cgh ls [kkrk cgh esa iksfLVax dh tkrh gSa \ 

¼c½ [kkrkcgh dk vk'k; fyf[k,\  

¼l½ [kfr;kus dk D;k vk'k; gSa \ 

¼n½ [kkrksa ds 'ks"k dc fudkys tkrs gSa\ 

 (a) From which book posting is made in ledger? 

 (b) Write the meaning of ledger 

 (c) What is the meaning of posting? 

 (d) When are the balances of accounts found out? 

iz'u4- fuEu lwpukvksa ls csps gq, eky dh ykxr Kkr dhft,A 

 izkjfEHkd LdU/k 3]700 :-] Ø; 20]800:- ] vfUre LdU/k 2]500 :-A 

(i) 23]300 :-  (ii) 20]800 :- (iii) 22]000 :-  (iv) buesa ls dksbZ ugh 

 Find out cost of goods sold from the followings:  

 Opening stock Rs. 3,700, Purchases Rs. 20,800, Closing stock Rs. 2,500  

 (i) Rs. 23,300 (ii) Rs. 20,800 (iii) Rs. 22,000  (iv) No.  

y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u (Short Answer Questions) 

iz'u&5- [kkrk cgh esa [krkSuh djus dh fof/k fyf[k, A 

  Write the method of posting in ledger. 

iz'u&6- ,d O;olk; ls lacaf/kr lHkh tkudkjh dh iwfrZ tc [kkrkcgh ls gks tkrh gS rks 

tuZy D;ksa j[kh tkrh gSa A 

Why is journal kept when all the information is received from ledger?  

iz'u&7- fofHkUu izdkj ds [kkrksa dks cUn djus ds <ax fyf[k, A 

  Write the method of closing various types of accounts.  
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iz'u&8- [kkrkcgh j[kus dh vko';drk ij izdk'k Mkfy, A 

  Show the necessity of keeping ledger.  

iz'u&9- vfUre jgfr;s dh ewY;kadu dh fof/k dk o.kZu dhft, A 

  Describe the method of valuation of closing stock.  

iz'u&10- fdlh O;kikfjd vof/k ds [kkrksa dks cUn djus ds D;k fu;e gSa \ 

  What are the rules of closing accounts of a certain business period?  

iz'u&11- [kkrkcgh O;kikj dh eq[; iqLrd gS A D;k vki bl dFku ls lger gSa \ 

  Ledger is main book of business. Do you agree with this statement? 

iz'u&12- [kkrk cgh dk D;k vk'k; gSa \ bldk D;k egRo gSa\ blesa [kfr;kus ds fu;eksa 

dk o.kZu dhft, A 

What is ledger? What is its importance?  Describe the rules of posting in it.  

iz'u&13- vxzoky ds ekpZ 2006 esa fuEukafdr lkSnksa dks tuZy o [kkrkcgh esa fyf[k, A 

ekpZ 1% vxzoky us jksdM+ ls O;kikj izkjEHk fd;k 15]000 :i;s] ekpZ 3% eky 

uxn Ø; fd;k 750 :i;s] ekpZ 4% cSad esa tek fd;s 10]500 :i;s] ekpZ 5% cSad 

ls dk;kZy; ds iz;ksx ds fy, fudkys 750 :i;s] ekpZ ^% jke dks eky cspk 750 

:i;s] ekpZ 10% fd'ku ls m/kkj eky Ø; fd;k 340 :i;s] ekpZ 19% jke ls 

izkIr fd;s 735 :i;s] vkSj mls NwV nh 15 :i;s] ekpZ 20 % udn fcØh 1]200 

:i;s] ekpZ 27% fd'ku dks iw.kZ Hkqxrku esa fn;s 325 :i;s] ekpZ 28 % fdjk;k 

fn;k 75 :i;s] ekpZ 28% osru fn;k 150 :i;s A 

Record the following transactions of March 2006 in the Journal and ledger of 

Agrawal:  

March 1:  Agrawal commenced business with cash Rs. 15,000, March 3: 

Purchased goods for cash Rs. 750, March 4: Deposited in bank Rs. 10,500, 

March 5:  Withdrew from bank for office use Rs. 750, March 6: sold goods to 

Ram Rs. 750, March 10: Puchased from Kishan goods on credit Rs. 340, 

March 19: Received from Ram Rs. 735, Allowed him discount Rs. 15, March 
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20: Cash sales Rs. 1,200, March 27: Gave to Kishan Rs. 325 in full satisfaction 

of his claim, March 28: Paid rent Rs. 75, March 28: paid salary Rs. 150.  

iz'u&14- fuEukfdr fooj.k ls ekpZ 2006 ds fy, eky [kkrk cukb, A 

ekpZ 1% eky ds jgfr;s dh izkjfEHkd ckdh 5]000 :i;s ^d* ls ekpZ ds ekg esa 

m/kkj Ø; 10]000 :i;s] ^c* dks ekpZ ekg esa m/kkj fcØh 9]000 :i;s] ekpZ esa 

udn Ø; 4]000 :i;s] ekpZ esa udn fcØh 5]000 :i;s] ^c* us eky ykSVk;k 

1]000 :i;s] ^d* dks eky okil fd;k 800 :i;s] futh iz;ksx ds fy, 

izksijkbZVj us eky dks foØ; ewY; ij fudkyk 2]000 :i;s] xksnke ls pksjh x;k 

eky ¼ykxr ij½ 300 :i;s eky dk foØ; ykxr ls 25% vf/kd ij fd;k x;k 

Fkk A 

Prepare Goods Account from the following particulars for the month of March 

2006: 

March 1: Opening balance of stock of goods Rs. 5,000, Credit purchases from 

K for the month of March Rs. 10,000, Credit sales of B for the month of March 

Rs. 9,000, Cash purchases during march Rs. 4,000, Cash sales during March 

Rs. 5,000, B returned goods Rs. 1,000, Returned goods to K Rs. 800, 

Withdrew by the proprietor for personal use at sales price goods Rs. 2,000, 

Goods stolen away from Godown (at cost) Rs. 300, The goods were sold at 

25% above cost.  
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bdkbZ&6 bdkbZ&6 bdkbZ&6 bdkbZ&6 (Unit-6) 

cSad lek/kku fooj.kcSad lek/kku fooj.kcSad lek/kku fooj.kcSad lek/kku fooj.k    
(Bank Reconciliation's Statement) 

 

iz'u&1iz'u&1iz'u&1iz'u&1        lR; @ vlR; crkb;s &lR; @ vlR; crkb;s &lR; @ vlR; crkb;s &lR; @ vlR; crkb;s & 

¼v½ cSad lek/kku fooj.k ,d fooj.k gS tks cSad dh iklcqd }kjk cryk;s x;s cSad 'ks"k 

dk jksdM+ cgh es LrEHk }kjk cryk;s x;s cSad 'ks"k ls feyku djus ds fy, cuk;k 

tkrk gSA 

 Bank reconciliation's is a statement drawn up in order to agree the bank 

balance as shown by the bank column of the cash book with the balance as 

shown by the pass book.  

¼c½ fuxZfer fd, x, psd tks Hkqxrku gsrq izLrqr ugha gq, gSA jksdMcgh esa ØsfMV djsaxsA 

 Cheques issued but nut presented for payment is cr. in cash book.  

¼l½ laxzg djus gsrq Hksts x, psd vkfn ftudk laxzg.k ugh gqvk jksdM+ cgh esa MsfoV 

djsaxsA 

 Cheques deposited in to bank but not collected is Dr. in cash book. 

iz'u&2iz'u&2iz'u&2iz'u&2         nh?kZmRrjh; iz'u& vad 5 nh?kZmRrjh; iz'u& vad 5 nh?kZmRrjh; iz'u& vad 5 nh?kZmRrjh; iz'u& vad 5 (Long Answer Questions - 5 marks.) 

iz'u&1  cSad lek/kku fooj.k ls D;k vk'k; gS\ 

 Explain Bank Reconciliation Statement?   

iz'u&2  cSad lek/kku fooj.k D;k gS\  

  What is the Bank Reconciliation Statement?  

iz'u&3  cSad lek/kku fooj.k D;ksa cuk;k tkrk gSa\ 

  Why is Bank Reconciliation Statement prepared?  

iz'u&4 jksdM+cM+h ,oa iklcqd dha cSad ckdh esas vUrj ds dkj.k fyf[k,A 

  Write reasons for difference in bank balance of Cash-Book and Passbook.  
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iz'u&5 mu nks O;ogkjksa dks fyf[k;s ftUgsa dsoy jksdM+cgh esa fy[kk tkrk gS] fdUrq iklcqd 
esa ughaA 

  White two transactions which are only entered in Cash-Book and Passbook.  

iz'u&6 mu O;ogkjksa dks fyf[k, ftUgsa dsoy iklcqd esa fy[kk tkrk gS] ijUrq jksdM+cgh esa 

ughaA 

  Write transactions to be entered in Passbook but not in Cash-book..  

iz'u&7  vf/kfod"kZ D;k gS\ 

  What is an overdraft?  

iz'u&8  cSad lek/kku fooj.k rS;kj djus dh fof/k;ksa dks le>kb;s A 

  Explain the methods of preparing Bank Reconciliation Statement.  

iz'u&9  jksdM+cgh ds MsfcV 'ks"k esa tksM+h tkus okyh enksa dks fyf[k,A 

  Write items to be added in the debit side of Cash-Book.  

iz'u&10 iklcqd ds ØsfMV 'ks"k esa tksM+h tkus okyh enksa dks fyf[k,A 

  Write items to be added in the credit side of Passbook. 

iz'u&11 cSad lek/kku fooj.k fdls dgrs gSa\ ;g D;ksa cuk;k tkrk gS\ 

  What is Bank Reconciliation Statement? Why it is prepared? 

iz'u&12 cSad lek/kku fooj.k dh vko';drk dks fyf[k,A 

  Write the necessity of Bank Reconciliation Statement. 

iz'u&13 cSad lek/kku fooj.k dh fo'ks"krkvksa dks fyf[k,A 

  Mention essential features of Bank Reconciliation Statement. 

iz'u&14 jksdM+ iqLrd ds 'ks"k vkSj iklcqd ds 'ks"k esa vUrj gksus ds dkj.kksa dks le>kb,A 

  Explain causes of difference in the Cash-Book and Passbook balance. 

iz'u&15 cSad lek/kku fooj.k ds ykHk fyf[k,A 

  Write benefits of Bank Reconciliation Statement. 

iz'u&16 ;fn jksdM+cgh dk MsfcV gks] rks dkSu&lh enksa dks tksM+k tkrk gS] rkfd iklcqd 

ckdh vk tk,\ 

 If there is debit balance in Cash-Book, what items are added to find out 

Passbook balance. 
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iz'u&17 jksdM+cgh ds ØsfMV 'ks"k esa fdu enksa dks ?kVk;k tkrk gS\ 

  Which items to be deducted from the credit balance of Cash-Book.  

iz'u&18 iklcqd 'ks"k dks vk/kkj ekudj cSad lek/kku fooj.k dSls cuk;k tkrk gS\ 

  How the B.R. Statement is to be prepared on the basis of Passbook balance? 

iz'u&19 cSad lek/kku fooj.k dk D;k egÙo gS\ le>kb,A 

  What is the importance of Bank Reconciliation Statement? Explain. 

iz'u&20 fuEufyf[kr lwpukvksa ls 31 ekpZ] 2007 dks cSad lek/kku fooj.k cukb,& 

 ¼i½ jksdM+cgh vuqlkj cSad 'ks"k 10500 :-A 

¼ii ½ 25 ekpZ dks 500 :- dk ,d psd cSad esa tek fd;k x;k ftldk laxzg.k 2 vizSy 

dks gqvkA 

¼iii ½ 26 ekpZ dks fot; dks tkjh fd;k x;k 1]000 :- dk psd Hkqxrku gsrq 4 vizSy 

dks izLrqr fd;k x;kA 

¼iv½ ,d xzkgd us 400 :- lh/ks cSad esa tek fd;s ftldh lwpuk 5 vizSy dks izkIr 

gqbZA 

 ¼v½ cSad us 700 :- chek izhfe;e ds fn;s ftldk ys[kk jksdM+cgh esa ugha fd;k x;kA 

 Prepare Bank Reconciliation Statement on 31st March, 2007 from the 

following information: 

(i) Bank Balance as per Cash-Book Rs. 10500. 

(ii) A cheque of Rs. 500 Was deposited in Bank on 25 March, its  amount was 

collected on 2nd April. 

(iii) A cheque of Rs. 1,000 issued to Vijay on 26th March, was presented for 

payment on 4th April. 

(iv) One customer made a direct deposit of Rs. 400 in Bank, its information was 

received on 5th April. 

(v) Insurance premium Rs. 700 was paid by Bank but not entered into Cash-Book. 
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iz'u&21 fuEukafdr tkudkjh ds vk/kkj ij 31 ekpZ] 2007 dks cSad lek/kku fooj.k 

cukb;s& 

 ¼i½ jksdM+cgh dk vf/kfod"kZ 41500 :-A 

¼ii ½ esllZ lejFk VªsMlZ dks 2]160 :- dk psd fn;k tks vHkh rd Hkqxrku gsrq izLrqr 

ugha gqvkA 

 ¼iii ½ 1]200 :- dk ,d psd feyk] jksdM+cgh esa fy[kk ijUrq cSad ugha HkstkA 

¼iv½ 4]800 :- dk psd cSad esa laxzg ds fy, Hkstk ijUrq vuknfjr gks x;kA 

¼v½ 1]600 :- dk psd cSad Hkstk x;k ijUrq laxg̀hr ugha gqvkA 

¼vi½ 200 :- chek izhfe;e cSad }kjk fn;k x;k tks jksdM+cgh esa ugha fy[kk x;kA 

¼vii ½ cSad us 60 :- cêk ysdj 4]000 :- ds ns; fcy dk Hkqxrku fd;k ftls jksdM+cgh 

esa ugha fy[kk x;kA 

 From the following information's prepare Bank Reconciliation Statement on 

31st March; 2007 

(i) Bank overdraft as per Cash-Book Rs. 41500 

(ii) A cheque of Rs. 2,160 was given to M/s Samrath Traders but not presented for 

payment. 

(iii) A cheque of Rs. 1,200 was received entered into Cash-Book but not sent into 

the Bank. 

(iv) A cheque of Rs. 4,800 was sent to Bank for collection but dishonoured. 

(v) A cheque of Rs. 1,600 was deposited into Bank but it was not collected. 

(vi) Insurance premium Rs. 200 was paid by Bank but not entered into Cash-Book. 

(vii) Bank paid a bills payable worth Rs. 4,000 and allowed discount of Rs. 60 

which was not entered in Cash-Book. 

iz'u&22 jksdM+cgh vuqlkj cSad vf/kfod"kZ 2600 :- 31 ekpZ] 2006 dks FkkA cSad lek/kku 

fooj.k cukb;s & 

 ¼i½ 200 :- ds psd cSad esas tek djk;s x;s] ijUrq mudk laxzg ugha gqvkA 

 ¼ii ½ iklcqd esa vf/kfod"kZ ij C;kt ds 80 :- uke fd;s x;s gSaA 
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¼iii ½ 500 :- dk psd tks laxzg gsrq cSad Hkstk x;k vkSj cSad us bls ØsfMV Hkh dj fn;k 

fdUrq jksdM+ cgh esa mldh izfof"V fy[kus ls NwV x;h gSaA 

¼iv½ 200 :- iklcqd esa xyr uke fd;s x;sA 

 Bank overdraft on 31st March. 2006 according to Coash-Book was Rs. 2600 

Prepare Bank Reconciliation Statement. 

(i) Cheque of Rs. 2,00 were deposited into Bank but not collected. 

(ii) Passbook shows a debit of Rs. 80 for interest on overdraft. 

(iii) Cheques of Rs. 500 paid into Bank for collection and credited by Bank but 

omitted to be entered in Cash-Book. 

(iv) Rs. 200 have been wrongly debited in Passbook. 

iz'u&23 fuEukafdr lwpukvksa ds vk/kkj ij 30 twu] 2006 dks cSad lek/kku fooj.k i= 

cukb,& 

 ¼i½ 30 twu 2006 dks iklcqd dh uke ¼Dr.½ ckdh 7]800 :- FkhA 

 ¼ii ½ 2]300 :- ds psd Hksts x, ij budh jkf'k dk laxzg 30 twu rd ugha gks ik;kA 

 ¼iii ½ 1]200 :- ds psd fuxZfer fd;s x, ij Hkqxrku ds fy, izLrqr ugha fd;s x,A 

¼iv½ cSad us 375 :- Hkou dj ds uxjikfydk dks pqdk,A 

¼v½ 600 :- ds psd cSad esa tek fd;s x, ijUrq jksdM+cgh esa ughaa fy[ks x,A 

¼vi½ fofu;ksftr /ku dk C;kt 400 :- cSad us olwy fd;k vkSj bls iklcqd esa fy[k 

fy;k x;kA 

¼vii ½ jksdM+cgh esa cSad O;; ds 15 :- nks ckj fy[ks x,A 

¼viii ½ cSad us 50 :- vf/kfod"kZ ij C;kt ds yxk,A 

  Prepare Bank Reconciliation Statement on 30th June, 2006 from the following 

information: 

(i) Debit Balance of Passbook on 30th June, 2006 Rs. 7,800. 

(ii) Cheques of Rs. 2,300 were sent to Bank, but they have not been collected till 

30th June. 

(iii) Cheques of Rs. 1,200 were issued, but not presented for payment. 
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(iv) Bank paid Rs. 375 for House Tax to Municipality. 

(v) Cheques deposited in Bank but not recorded in the Cash-Book Rs. 600. 

(vi) Bank obtained payment of Rs. 400 being interest on investment and recorded 

in the passbook. 

(vii) Bank charges Rs. 15 have been twice recorded in the Cosh-Book. 

(viii) Bank charged interest of Rs. 50 on Overdraft. 

iz'u&24 fuEukafdr fooj.k ls 31 ekpZ] 2006 dks cSad lek/kku fooj.k rS;kj dhft, & 

            :- 

 ¼i½ iklcqd dk cSad vf/kfod"kZ 9500 

 ¼ii ½ psd fuxZfer fd;s fdUrq Hkqxrku ds fy, izLrqr ugha fd;s x, 1]520 

 ¼iii ½ cSad us fofu;ksxksa ij C;kt izkIr fd;k fdUrq bls jksdM+cgh esa  330 

  ugha fy[kk x;k 

 ¼iv½ cSad us vf/kfod"kZ ij C;kt ds yxk;s fdUrq bls jksdM+cgh esa ugha  150 

  fy[kk x;k 

 ¼v½ ,d xzkgd us lh/ks gh cSad esa tek djk;s ftldk ys[kk dsoy  2]000 

  iklcqd esa gh Fkk 

 ¼vi½ jksdM+cgh ds Hkqxrku i{k esa cSad [kkrs dk tksM+ vf/kd yx x;k 100 

 ¼vii ½ ,d xzkgd ls ,d psd izkIr gqvk ftldh izfof"V jksdM+cgh esa rks  1]500 

  dj nh xbZ ijUrq bl psd dks cSad esa tek djkuk Hkwy x;kA 

 Prepare Bank Reconciliation Statement on 31st March 2006 from the following 

particulars: 

 ¼i½ Overdraft as Per passbook 9500 

 ¼ii ½ Cheques issued but not presented for payment 1]520 

 ¼iii ½ Interest on Investments collected by bank which has not been  330 

  recorded in the Cost-Bank. 

 ¼iv½ Interest on overdraft charged by Bank which has not been recorded  150 

  in the Cosh-Book. 
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 ¼v½ A customer deposited direct in the Bank but these were recorded   2]000 

  only in Passbook. 

 ¼vi½ The Bank Column of the payment side of Cash-Book Overcast. 100 

 ¼vii ½ A cheque received from a customer, although entered in the 1]500 

  Cash-Book was not sent to Bank. 

iz'u&25 30 twu 2006 dks iklcqd ds vuqlkj vf/kfod"kZ 7]500 :- FkkA jksdM+cgh ls 

feyku djus ij fuEufyf[kr vUrjksa dk Kku gqvk & 

¼i½ 20 twu dks 600 :- dk ,d psd cSad esa tek fd;k x;k ftldk laxzg.k 4 tqykbZ 

dks gqvkA 

¼ii ½ 3]500 :- ds psd fuxZfer fd;s x, fdUrq 1]200 :- ds psd Hkqxrku gsrq izLrqr 

ugha fd;s x,A 

 ¼iii ½ jksdM+cgh ds izkfIr i{k esa cSad [kkus dk tksM+ 100 :- ls de yx x;kA 

¼iv½ O;kikjh dh izkFkZuk ij cSad us 2]000 :- dk ,d Mªk¶V tkjh fd;k ftldh 

jksdM+cgh esa dksbZ izfof"V ugha gSA 

 cSad lek/kku fooj.k cukb;sA 

 On 30th June, 2006 the overdraft as per Passbook was Rs. 7,500. When 

compared with the Cash-Book the following differences were noted: 

(i) A cheque of Rs. 600 was deposited in Bank on 20th June, its amount was 

collected on 4th July. 

(ii) Cheques of Rs. 3,500 were issued but cheques of Rs. 1,200 were not presented 

for payment. 

(iii) The Bank column of the receipt side of Cash-Book undercast by Rs. 100. 

(iv) Bank issued a draft of Rs. 2000 on the request of the trader. It has not been 

recorded in the Cash-Book. 

Prepare the Bank Reconciliation Statement. 
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iz'u&26 esllZ gfjfd'ku ,.M da- dh iklcqd dk tek ¼Øs-½ 'ks"k 8]000 :- 31 fnlEcj] 

2006 dks FkkA jksdM+cgh ls feyku djus ij fuEu rF; izdV gq,& 

¼i½ fnlEcj 15 dks 1]500 :- ds psd fuxZfer fd;s x, ftuesa ls 31 fnlEcj rd 

900 :- ds psd gh Hkqxrku gsrq izLrqr fd;s x;sA 

¼ii ½ cSad O;; 10 :- cSad }kjk uke ¼Dr.½ fd;k x;kA 

¼iii ½ cSad us 85 :- C;kt ds iklcqd esa tek ¼Cr.½ fd;s gSaA 

¼iv½ 160 :- dk ,d psd xzkgd ls feyk jksdM+cgh es MsfcV fy[kk x;k fdUrq cSad ugha 

Hkstk x;kA 

 cSad lek/kku fooj.k cukb;sA 

  The Passbook of M/s Harikishan and Co. showed a Credit Balance of Rs. 8,000 

as on 31st Dec. 2006. On comparison with Cosh-Book the following facts were disclosed: 

(i) Cheques worth Rs. 1,500 were issued on 15th Dec. for payment but only 

cheques Rs. 900 were presented by 31st Dec. 

(ii) The Bank debited Rs. 10 towards Bank charges. 

(iii) The Bank credited an interst of Rs. 85.  

(iv) A customer's cheques worth Rs. 160 was received, entered in the Cash-Book 

but could not be sent to the Bank. 

Prepare the Bank Reconciliation Statement. 
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bdkbZ&7bdkbZ&7bdkbZ&7bdkbZ&7    

ryiV ryiV ryiV ryiV ,oa v'kqf);ksa dk la'kks/ku ,oa v'kqf);ksa dk la'kks/ku ,oa v'kqf);ksa dk la'kks/ku ,oa v'kqf);ksa dk la'kks/ku     

(TRIAL BALANCE & RECTIFICATION OF ERRORS) 
 

oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u (Objective Type Questions)  

iz'u1- fuEukafdr fooj.k lR; gS ;k vlR; % 

(i) ryiV lnSo izR;sd ekg ds vUr esa crk;k tkrk gSa A 

(ii) ryiV ds fey tkus ls ;g fl) gks tkrk gS fd [kkrksa esa dksbZ =qfV;ka ugha gSaA 

(iii) ryiV ls dsoy vadxf.krh; 'kq)rk dk irk pyrk gSa A  

(iv) [kkrkcgh ds [kkrksa dh ckfd;ksa ds vk/kkj ij ryiV cuk;k tk ldrk gS A 

Following statement are True or False: 

(i) Trial Balance is always prepared at the end of each month. 

(ii) If the trial balance tallies, It is proved that there are no mistakes in accounts.  

(iii) Trial Balance indicates only Arithmetical accuracy.  

(iv) Trial Balance is prepared on the basis of balances of ledger.  

iz'u2- fjDr LFkkuksa dks Hkfj, & 

(i) ryiV ds vk/kkj ij ---------- cuk;s tkrs gSa A 

(ii) lHkh [kkrs lgh gksus ij ryiV ds MscV [kkus dk tksM+ blds ØsfMV [kkus ds 

tksM+ ds ------------ gksrk gSa A 

(iii) ryiV esa [kkrksa dh ØsfMV ckfd;ksa dks -------- [kkus esa fy[kk tkrk gS A 

(iv) ryiV esa [kkrksa dh MsfcV ckfd;ksa dks --------  [kkus esa fy[kk tkrk gSa A 

Fill up the blanks : 

(i) ............. are prepared on the basis of trial balance. 

(ii) All accounts being correct, total of debit column of trial balance is ............ to 

the total of it credit column.  

(iii) Credit balances of accounts are recorded in .......... column of trial balance.  
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(iv) Debit balances of accounts are recorded in ............ column of trial balance. 

 

nh?kZ mÙkjh; iz'u 6 vad ¼nh?kZ mÙkjh; iz'u 6 vad ¼nh?kZ mÙkjh; iz'u 6 vad ¼nh?kZ mÙkjh; iz'u 6 vad ¼Long Answer Questions 6 marks½½½½    

iz'u 3  ryiV dk vk'k; fyf[k, rFkk ryiV cukus dh fof/k;ksa ds uke D;k gSa \ 

Write meaning of trial balance & what are the names of methods of preparation 

of trial balance? 

iz'u 4  ryiV ls Kkr gksus okyh v'kqf);kW fyf[k, A 

  Write the errors which are disclosed by trial balance.  

iz'u 5  ryiV ds feyus ij Hkh izdV u gksus okyh v'kqf);kW fyf[k, A 

  Write the errors which are not disclosed even when trial balance agrees 

iz'u 6  mpUr [kkrk D;k gS \ le>kb, A 

  What is suspense account ? Explain.  

iz'u 7  ryiV D;ksa cuk;k tkrk gS \ 

  Why is trial balance prepared?  

iz'u 8  D;k ryiV dk feyuk ys[kksa dh iw.kZ 'kq)rk dk izek.k gS \ 

  Is agreement of trial balance conclusive proof of accuracy of book of accounts? 

    

iz'u 9 ryiV D;ksa cuk;k tkrk gS \ blds }kjk fdu v'kqf);ksa dk irk yx tkrk gS \ 

mu v'kqf);ksa dk Hkh o.kZu dhft, ftudk irk ryiV }kjk ugh yxrk gSa A 

Why is trial balance prepared? What errors are disclosed by it? Describe those 

errors also which cannot be journal out by trial balance.  

iz'u 10 ijh{kk lwph D;k gS \ ;g D;ksa cuk;h tkrh gSa \ ijh{kk lwph ls Kkr u gksus 

okyh v'kqf);ksa dks le>kb, A  

What is a trial balance? Why is it prepared ? Explain the errors which are not 

disclosed by trial balance. 
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iz'u 11 ijh{kk lwph D;k gS \ ;g D;ksa cuk;h tkrh gSa \ D;k ijh{kk lwph dk feyuk 

ys[kkadu dh iw.kZ 'kq)rk dk izek.k gS \ 

What is a trial balance ? Why is it prepared? Is agreement of trial balance 

conclusive proof of accuracy of accountings?  

iz'u 12 ryiV fdls dgrs gS \ ryiV cukus dh fof/k;ksa dk o.kZu dhft, A  

  What is trial balance ? Describe the methods of preparation of trial balance.   

iz'u 13 t; iqLrikyu esa vf/kd dq'ky ugha gS A mlus fuEukafdr ryiV rS;kj fd;k gS 

vkSj vkils vuqjks/k fd;k gS fd ;fn ;g Bhd gks] rks bls Lohdkj dj ysa vksj 

;fn xyr gks] rks lq/kkj nsa rFkk iqu% cuk nsa % 

 MsfcV ØsfMV 

 Rs. Rs. 

t; dh iwath  1,556 

t; dk vkgj.k  564  

iV~Vs dh Hkwfe  741  

fcØh   2,756 

xzkgdksa ls izkI;   530 

Ø; 1,268  

Ø; okilh  264  

cSad ls _.k   250 

ysunkj 528  

O;kikfjd ,oa dk;kZy; laca/kh O;;  784  

jksdM+ cSad esa  142  

ns; fcy  100  

osru ,oa etnwjh  508  

izkjfEHkd LVkWd   264 

fdjk;k vkSj dj vkfn  465  

foØ; okilh   98 

:- 5,454 5,454 
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Jay is not very efficient in Book-keeping. He has prepared the following trial 

balance and has requested you that if it is correct accept it and if it is wrong 

correct it and prepare it again: 

  Dr. Cr. 

 Rs. Rs. 

Jay's Capital   1,556 

Jay's Drawings 564  

Leasehold Land 741  

Sales  2,756 

Due from Customers  530 

Purchased 1,268  

Purchased Returns 264  

Loan from Bank  250 

Creditors 528  

Trade & Office Exp. 784  

Cash at Bank 142  

Bill Payable  100  

Salaries and Wages 508  

Opening Stock  264 

Rent and Taxes etc. 465  

Sales Returns  98 

Rs.  5,454 5,454 
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iz'u 14 fuEukafdr ryiV ls ftlesa Li"V =qfV;ka gSa] lgh ryiV cukb, % 

 MsfcV ØsfMV 
 Rs. Rs. 

fcds gq, eky dh ykxr  1,50,000 - 

vfUre jfgr;k  - 40,000 

nsunkj  - 60,000 

ysunkj - 30,000 

LFkk;h lEifRr;ka  50,000 - 

izkjfEHkd jgfr;k  60,000 - 

O;;  - 20,000 

fcØh  - 2,00,00 

iwWth  90,000 - 

:- 3,50,000 3,50,000 

 

Prepare correct trial balance from the following trial balance in which these are 

mistakes:  

 Dr. Cr. 

 Rs. Rs. 

Cost of goods Sold  1,50,000 - 

Closing Stock - 40,000 

Debtors  - 60,000 

Creditors - 30,000 

Fixed Assets 50,000 - 

Opening Stock 60,000 - 

Expenses - 20,000 

Sales - 2,00,00 

Capital  90,000 - 

Rs. 3,50,000 3,50,000 
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bdkbZ& 8bdkbZ& 8bdkbZ& 8bdkbZ& 8    
    

fofue; foi= o izfrKk i= fofue; foi= o izfrKk i= fofue; foi= o izfrKk i= fofue; foi= o izfrKk i=     
(BILL OF EXCHANGE AND PROMISSORY NOTE) 

    
 

iz'u 1- foi= ds ys[ku ,oa LohÑfr ls vkidk D;k vk'k; gS\ 

 What to you mean by drawing and accepting of a Bill? 

iz'u 2- fofue;& foi= ls vki D;k le>rs gSa\ 

 what do you understand by Bill of Exchange? 

iz'u 3- fofue;& foi= dh fo'ks"krkvksa dks fyf[k,A 

 Write characteristics of Bill of Exchange. 

iz'u 4- fofue;&foi= ds fofHkUu i{k dkSu&dkSu ls gSa\ le>kb;sA 

 Which are the different parties to a Bill of Exchange? Explain. 

iz'u 5- fofue;& foi= ds ykHkksa dks fyf[k,A 

 Write advantages of a Bill of Exchange. 

iz'u 6- foi= ds /kkjd dks foi= ds lEcU/k esa dkSu&dkSu ls fodYi izkIr gSa\ 

 What are the choices available to the holder of a Bill? 

iz'u 7- fofue;&foi= dk ,d uewuk nhft,A 

 Give a specimen form of Bill of Exchange. 

iz'u 8- vkgrkZ fofue;&foi= dk iz;ksx fd;k rjg dj ldrk gS\ 

 How can a drawer use a Bill of Exchange? 

iz'u 9- vuqxzg fnol ij ,d laf{kIr fVIi.kh fyf[k,A 

 Write short notes on Days of Grace. 

iz'u 5- foi= ds iwoZ izki.k ls vki D;k le>rs gSa\ 

 What do you understand by discounting of a bill? 

iz'u 6- izkI;& foi= ,oa ns;&foi= esa vUrj fyf[k,A 

 Write the difference between Bills Receivable and Bills Payable. 
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iz'u 7- v us c dks 4000 :- mdk eky m/kkj cspkA fou; us bl jkf'k ds fy, ,d 2 

ekg dk foi= Lohdkj dj vfer dks ns fn;kA Hkqxrku frfFk ij bl foi= dk 

Hkqxrku gks x;kA fou; dh cfg;ksa esa tuZy ds vko';d ys[ks dhft,A 

A sold to B goods for Rs. 4000 on cedit. Vinay gave two month's acceptance 

for this amount to amit. This bill was met on due date. Pass journal entries in 

the books of Vinay. 

iz'u 8- 1 vizSy] 2006 dks v us c ls 4]000 :- dk eky [kjhnk vkSj mlh fnu vk/kk 

:i;k nsdj 'ks"k jkf'k ds fy, fcy ij 2 ekg dhLohÑfr nhA Hkqxrku frfFk ij 

foi= dk Hkqxrku frfFk ij foi= dk Hkqxrku gks x;kA 

On 1st April, 2006 A purchased goods from B for Rs. 4000 and on the same 

day made the payemnt of half of the amount and accepted a two month's bill 

for the remaining amount. On due date B met his aceptance. Pass journal 

entries in the books of the both the parties. 

iz'u 9- 1 ekpZ 2006 dks , us ch dks 2000 :- dk eky m/kkj cspk vkSj blds cnys esa , 

us ch 3 ekg vof/k dk ,d foi= fy[kk ftls Lohdkj dj fy[k x;kA 4 ekpZ dks 

, us bl foi= dks viuh cSad ls 6izfr'kr okf"kZd nj ij Hkquk fy;kA Hkqxrku 

frfFk ij foi= dk Hkqxrku ch }kjk dj fn;k x;kA ch dh iqLrdksa esa iath 

izfof"V;k¡ nhft,A 

On 1st March, 2006 A sold goods to B for Rs. 2000 and drew a bill of 

exchange for three months on B, which was duly accepted. A discounted the 

bill with his Banker. on 4th March, at the rate at 6% p.a. On due date Bill was 

met by B. Pass journal entries in the books of B. 

iz'u 10- 1 tuojh] 2006 dks nsosUnz us fou; ls 8000 :- dk eky m/kkj [kjhnk rFkk blds 

,ot esa 2 ekg vof/k okyk foi= LohÑr fd;kA fou; us foi= dks 6 izfr'kr nj 

ij viuh cSad ls cV~Vs ij Hkquk fy[kA nsosUnz us ns; frfFk ij Hkqxrku dj fn;kA 

 nksuks i{kksa dh iqLrdksa esa tuZy ds vko';d ys[ks dhft,A 
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On 1st January, 2006 Devendra purchased goods from Vinay for rS. 8000 on 

credit and drew a bill of exchange for 2 months upon Devendra. Which was 

duly accepted. Vinay discounted the bill with his banker at the rate of 6% P.a. 

On due date the bill was met by Devendra. 

Give journal entries in the books of both the parties. 

iz'u 11- 1 tuojh] 2006 dks , us ch dks 1000 :- dk eky cspk vkSj ml ij 3 ekg 

vof/k dk ,d fcy fy[kk tks ch us Lohdkj dj ykSVk fn;kA , us mls vius cSAd 

ls 4 tuojh dks 6 izfr'kr okf"kZd nj ij Hkquk , ds tuZy esa vko';d izfof"V;k¡ 

dhft;sA 

 On 1st Jan., 2006 'A' sold goods to 'B' worth Rs. 1000 and drew a 3 month's 

bill on "B". 'B' accepted and returned it to 'A' 'A' discounted it from his Bank 

on 4th January @6% p.a. on due date Bill was dishonoured and bank paid 

noting charges Rs. 20. 

iz'u 12- jke us 2000 :- eky eksgu dks m/kkj cspkA jke us 12 izfr'kr C;kt yxkdj 

C;kt lfgr nks ekg 5 izfr'kr cV~Vs ij Hkquk fy;kA ns; frfFk ij foi= vukn`r gks 

x;kA jke dh iqLrdksa esa vko';d tuZy izfof"V;k¡ dhft,A 

 Ram sold Mhan goods worth Rs. 2000 and drew a bill payable after two 

months charging interest @ per annum. Mohan accepted it, Ram discounted 

the bill with his banker @ 5% per annum. On the due date, the bill was 

dishonoured. Journalize the transactions in the books of Ram. 

iz'u 13- , us ch dks 1 ebZ] 2000 dks 1000 :- dk eky cspkA mlus mlh fnu 1000 :- 

dk 3 ekg dh vof/k dk ,d fcy fy[kkA mls fcy ij LohÑfr izkIr gks xbZA , 

og fcy vius cSad ls 3 ebZ] 2000 dks 10 izfr'kr okf"kZd dh nj ls Hkquk ysrk gSA 

ns; frfFk ij ch fcy dk vuknj dj nsrk gSA cSad 10 :- fudjkbZ O;; nsrh gSa , 

dh iqLrdksa esa vko';d izfof"V;k¡ dhft,A 

On 1st May, 2000 A sold go to B for Rs. 1000. On same day he drew a bill for 

Rs. 1000 payable after three months which was accepted by B. On 3rd May, 
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2000 B on maturity. Bank paid noting charges Rs. 10. Pass the necessary 

journal entries in the books of A. 

iz'u 14- X us 200 dk eky Y dks cspk ml ij 3 ekg dh vof/k dk foi= fy[kkA Y us 

Lohdkj dj okil ykSVk fn;kA X us mls vius cSad ls 6% okf"kZd dh nj ij Hkquk 

fy;kA ns; frfFk ij fcy vuknfjr gks x;kA cSad us 20 :- fudjkbZ O;; ds fn;sA 

X dh  iqLrd esas ys[ks djsaA 

 X sold goods to Y for Rs. 2000 and drw a bill for 3 months. Y accepted it and 

returned to X. X discount it with the bank 6% p.a. On the due date bill was 

dishonoured and Bank paid Rs. 20 noting charges. Prepare Journal Entries in 

the books of 'X'. 

iz'u 15- ,d foi= ftldh Hkqxrku frfFk 4 vizSy] 2006 Fkh ij LohdÙkkZ nhid us foi= 

jkf'k 2000 :- Hkqxrku djus dh viuh vleFkZrk O;Dr dh rFkk ys[kd xxu ls 

nks ekg vof/k okys nwljs foi= dks fy[kus dh izkFkZuk dhA xxu 10 izfr'kr okf"kZd 

C;kt lfgr u;k foi= fy[kus ds fy, lger gks x;kA ns; frfFk ij bl foi= 

dk Hkqxrku nhid }kjk dj fn;k x;kA 

 foi= ds uohuhdj.k ij dh tkus okyh udy izfof"V;k¡ nksuksa dh iqLrdksa esa 

dhft,A 

 Deepak the acceptor was unable to pay the bill of Rs. 2000 due on 4th April, 

2006 and hence, requested Gagan the drawer, to drawer, to draw a fresh bill for 

2 months charging interest at 10% pass the necessary entries in the books of 

both the parties. 

iz'u 16- 1 tuojh 2006 dks esgqy us mes'k dks 10000 :- dk eky cspk rFkk ml ij bl 

jkf'k ds fy, rhu ekg vof/k dk ,d foi= fy[kk ftls mes'k us LohÑr fd;kA 

blh frfFk ij esgqy us bl foi= dks 10 izfr'kr foi= nj ij vius cSad ls Hkquk 

fy[kA mes'k us Hkqxrku frfFk ij foi= dk Hkqxrku djus ds LFkku ij foi= dh 

jkf'k esa 12 izfr'kr C;kt tksM+dj rhu ekg ds uohuhdj.k dh esgqy ls izkFkZuk 

dhA esgqy us bl izLrko ij viuh lgefr ns nhA 
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 esgqy dh cfg;ksa esa vko';d udy izfof"V;k¡ nhft,A 

 On 1st Jan. 2006 Mehul sold goods to Umesh for Rs. 10,000 and drew a three 

month's bill on him for this amount. Umesh accepted and returned it to Mehul. 

Mehul discounted this bill with his bankers at 10% p.a. on the same date. 

Instead of meeting the bill on due date Umesh requests meul for its renewal at 

three months by adding interest at 12% to the amount of the bill. Mehul agrees 

to this proposal. 

 Give necessary journal entries in the books of Mehul. 

iz'u 17- 1 ekpZ] 2006 dks 'ks[kj us oklqnso dks 5000 :- dk eky cspkA oklqnso us 3000 

:- uxn nsdj 'ks"k jkf'k ds fy, ,d foi= rhu ekg dh vof/k dk Lohdkj fd;kA 

'ks[kj bl foi= dks vius _.k ds Hkqxrku esa fou; dks cspku dj nsrk gSA ;s; 

frffk ij foi= vuknfjr gks x;k rFkk fou; us 15 :- fudjkbZ ds pqdk,A oklqnso 

us 5 izfr'kr okf"kZd C;kt o fudjkbZ O;; ds udn pqdk dj ,d u;k foi= 

fy[kus dh izkFkZuk dhA 'ks[kj us bl izLrko dks LohÑr dj u;k foi= fy[k 

fn;kA rhu ekg ds bl u;s foi= ij oklqnso us viuh LohÑfr ns nhA bl foi= 

dk Hkqxrku gks tkrk gSA 'ks[kj o oklqnso dh izLrdksa esa [kkrs [kksfy,A  

 On 1st March, 2006 Shekhar sold goods to Vasudev worth Rs. 5000. Vasudev 

gave Rs. 3000 in cash and accepted a bill of 3 months for the remaining 

amounts. Shekhar endorsed this bill to his creditor  Vinay. On maturity date, 

the bill was dishonoured and Vinay paid noting charges of Rs. 15. Vasudev 

paid noting charges and interest @ 5% and requested him to write a new bill. 

Shekhar accepted his request and wrote a new bill for three months which was 

accepted by Vasuev. This bill was paid on maturity. Open the necessary 

accounts in the books of Shekhar and Vasudev. 
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bdkbZ& 9 bdkbZ& 9 bdkbZ& 9 bdkbZ& 9     
    

ewY; âkl ewY; âkl ewY; âkl ewY; âkl (DEPRECIATION) 
    
oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u (Objective Type Questions) 

iz'u &iz'u &iz'u &iz'u &    1111    lR; @ vlR; clR; @ vlR; clR; @ vlR; clR; @ vlR; crkbZ;sa &rkbZ;sa &rkbZ;sa &rkbZ;sa &    

        State whether followings are True or False -  

 

1- lEifRr ds ewY; esa fdlh Hkh dkj.k ls eUn xfr ls gksus okyh LFkk;h deh dks âkl dgrs 

gSaA  

 Depreciation is the gradual and permanent Increase in the value of an asset from any 

cause.  

2- LFkk;h fdLr i)fr esa âkl dh x.kuk dk lw= gSa -  

  

The formula for calculating deprecation by fixed instalment method is -  

 

 

3- LFkk;h lEifRr ij ewY; âkl O;; gSa A 

 Depreciation on fixed assets is an expense.  

4- lEifRr ds foØ; ij ykHk dks e'khujh [kkrs ds ukes esa fy[krs gSa \ 

 The profit on sale of asset is transferred to Debit of machinery A/c.  

5- LFkk;h i)fr esa ewY; âkl dh x.kuk lEifRRk ds vof'k"V ewY; ij dh tkrh gSa A 

 Depreciation in the straight line method is calculated on the scrap value of the asset.  
 

iz'u&2iz'u&2iz'u&2iz'u&2     fjDr LFkkuksa dh iwfrZ dhft,  fjDr LFkkuksa dh iwfrZ dhft,  fjDr LFkkuksa dh iwfrZ dhft,  fjDr LFkkuksa dh iwfrZ dhft,   (Fill in the blanks)  

1- âkl dks ykHk&gkfu [kkrk esa &&&&&&&& esa fy[krs gSa A 

 Depreciation is ------------to profit & Loss a/c. 

lEifRr dh ykxr $ vof' k" V ewY;

lEifRr dk thoudky

Cost Scrapvalue

No of years

+
.
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2- vk;dj fo/kku esa &&&&&& âkl dh i)fr ekU; gSa A 

 Income Tax Laws allow  ------------method of Depreciation  

3- âkl dh x.kuk &&&&&& lEifRr;ksa ij dh tkrh gS A 

 Depreciation is calculate on ------------asset. 

 

cgqfodYih; iz'u cgqfodYih; iz'u cgqfodYih; iz'u cgqfodYih; iz'u (Multiple choice Question)  

1- LFkk;h fdLr i)fr esa âkl fudkyk tkrk gSa & 

(i) lEifRr ds Ø; ewY; ij     

(ii)  lEifRr ds vo{k.k ewY; ij  

(iii)  Ø; ewY; ij vkSj 'ks"k o"kksZ esa vo{k.k ewY; ij    

(iv) vof'k"V ewY; ij A 

 Depreciation under fixed installment method is calculated:  

 (i) on the purchase price of the asset  

(ii) on the reducing value of the asset 

(iii) in the first year on the purchase price and in remaining year on reducing 

balance.  

(iv) on the scrap value. 

2- Øekxr âkl i)fr es âkl fudkyk tkrk gSa A 

(i) lEifRr ds âkflr ewY; ij    

(ii)  lEifRr ds Ø; ewY; ij  

(iii)  izFke o"kZ lEifRr ds Ø; ewY; ij vkSj 'ks"k o"kksZ esa lEifRr ds âkflr ewY; ij A 

(iv) lEifRr ds vof'k"V ewY; ij A 

Depreciation is calculated under diminishing balance method:  

 (i) on the depreciated amount of the asset   

(ii) on the purchase price of the asset. 

(iii) in the first year on the purchase price of the asset and in 
remaining year on diminishing balance of the asset.  

(iv) On the scrap value of the asset.  
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3- Øekxr âkl i)fr ij âkl yxkus dk mn~ns'; gS & 

(i) O;olk; dk lR; ,oa mfpr ykHk Kkr djuk  (ii)  dj cpkuk 

(iii) O;olk; ds O;;ksa esa o`f) djuk A     (iv) O;olk; ds vk; esa o`f) djuk  

Object of charging depreciation at diminishing method is :  

 (i) to find out true and fair profit of the business   

(ii) to save tax 

(iii) to increase business expenses  

(iv) to increase business income.  

4- ,d e'khu dk thoudky 16 o"kZ gSa vkSj bldk Ø; ewY; 18]000 :- gS A blds yxkus 

ds O;; 2]000 :- gS A bldk vof'k"V ewY; 4]000 :- gSa A LFkk;h izHkkx i)fr ls 

bldk izfro"kZ âkl D;k gksxk A  

(i) 2000 :-  (ii)  1]000 :- 

(iii)  1]250 :-  (iv) 1]800 :- 

Life of a machine is 16 years and its purchase price is Rs. 18,000. Its installation 

charges are Rs. 2,000. Its scrap value is Rs. 4000. What will be its yearly depreciation 

according to fixed instalment method:  

(i) Rs. 2000 (ii) Rs. 1,000 (iii)   Rs. 1,250  (iv) Rs. 1,800. 

5- LFkk;h fdLr i)fr esa âkl dh nj ds lkFk izfr o"kZ 'kCn gksuk vFkok u gksuk & 

(i) egRoghu  (ii)  lqfo/kktud ugha gSa A 

(iii)  egRoiw.kZ gSa  (iv) voS/kkfud gSA 

In fixed instalment method to have the words per year:  

(i) is unimportant  (ii) is not helpful 

(iii) is important  (iv) is illegal 

6- ewY;& âkl dh mRifRr dk dkj.k gSa & 

(i) mPpkopu  (ii)  vizpyu 

(iii)  vof'k"V ewY;  (iv) vfUre ewY; A  
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Cause of the origin of depreciation is : 

(i) fluctuation  (ii) Obsolescence   (iii) Scrap value   (iv) final amount.  

7- ,d e'khu 5]000 :- esa Ø; dh xbZ A bldk LFkkiuk O;; 300 :- gS A bldk 

vuqekfur vo'ks"k ewY; 600 :- gSa vkSj bldk vuqekfur thoudky 10 o'kZ gS A e'khu 

ds iwjs thoudky dk âkl gksxk & 

(i) 5]300 :-  (ii)  4]750 :- 

(iii)  4]700 :-   (iv) 4]500 :- A  

A machine is purchased in Rs. 5000. Its installation expenses are Rs. 300. Its 

estimated scrap value is Rs. 600 and its estimated life period is ten years. Depreciation 

for whole life period of machine will be:  

(i) Rs. 5,300 (ii) Rs. 4,750 (iii) Rs. 4,700 (iv) 4,500 

8- LFkk;h lEifRr ij âkl dkVus dk eq[; mn~ns'; gSa & 

(i) dj cpkuk    (ii)  O;kikj dh lgh foRrh; fLFkfr Kkr djuk  

(iii)  O;kikj ds O;; c<+kuk  (iv) O;kikj ds ykHk dks de djuk A 

Main object of charging depreciation of fixed asset is : 

(i) to save tax (ii) to know correct financial position of the business 

(iii) to increase business expenses    (iv) to reduce business.  

9- ewY; & âkl mRiUu gksrk gSa & 

(i) HkkSfrd :i ls VwV&QwV gksus ds dkj.k  

(ii)  eqnzk ds ewY; eas fxjkoV gksus ds dkj.k  

(iii)  cktkj esa lEifRr dk ewY; fxj tkus ds dkj.k  

(iv)      ewY; âkl ls A 

Depreciation arises from: 

(i) physical wear and tear  (ii) fall in the value of money 

(iii) fall in the market value of asset (iv) depreciation. 
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10- lEifRr dk âkl O;olk; ds fy, gSa & 

(i) O;;    (ii)  gkfu 

(iii)  vk;   (iv) ykHk  

Depreciation of asset for business is:  

(i) Expenses  (ii) Loss (iii) Income  (iv) Gain.  

11- LFkk;h fdLr i)fr ds vuqlkj izfro"kZ âkl dh x.kuk dh tkrh gSa & 

(i) lEifRr [kkrs ds vafre 'ks"k ij (ii)  lEifRr ds cktk: ewY; ij 

(iii)  lEifRr [kkrs ds izkjfEHkd 'ks"k ij (iv) lEifRr ds ykxr ewY; ij  

According to fixed instalment method, depreciation is evary year calculated:  

(i) on the closing balance of the asset account  

(ii) on the market price of the asset  

(iii) on the Opening Balance of the asset account. 

(iv) on the Cost price of the asset.  
 

(B) tksM+h cukus laca/kh iz'u tksM+h cukus laca/kh iz'u tksM+h cukus laca/kh iz'u tksM+h cukus laca/kh iz'u (Matching Type Questions)  

        [k.M ^^v**[k.M ^^v**[k.M ^^v**[k.M ^^v**    [k.M ^^c**[k.M ^^c**[k.M ^^c**[k.M ^^c**    
1- âkl dh x.kuk lEifRr ds izFke o"kZ gh 

djuh iM+rh gSa ] ckn ds o"kksZ esa ugha A 
¼v½ lEifRr ij ewY;& âkl yxkus dh 

nj ds lkFk ^okf"kZd* ;k ^izfro"kZ* 
'kCn u gksus ij 

2- Øekxr âkl i)fr esa  ¼c½ lEifRr ds vUr esa ewY; 'kwU; gks 
tkrk gSa A 

3- LFkk;h lEifRr;ksa ij gh âkl yxk;k 
tkrk gSa A  

¼l½ lEifRr ds izR;sd o"kZ ds izkjfEHkd 
'ks"k ij âkl yxk;k tkrk gSa A 

4- LFkk;h fdLr i)fr ls âkl yxkus ij  ¼n½ LFkk;h fdLr i)fr dk xq.k gSa A 

5- lEifRr ds Ø; fd;s tkus okys o"kZ esa 
pkgs lEifRr o"kZ ds e/; dHkh Hkh Ø; 
dh x;h gks] iwjs o"kZ dk âkl yxk;k 
tkrk gSa  

¼b½ ewY;& âkl dh fo'ks"krk ¼y{k.k½gSa A 
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Match the items of group "A" with the items of group 'B' correctly:  

Group 'A' Group 'B' 
1. Calculation of Depreciation is made 

in the first year only, and not in later 
years. 

(a) Along with the rate of depreciation 
words like 'per annum' or 'annually' 
are not given.  

2. In Diminishing Balance Method. (b) The value of the asset becomes zero 
at the and of the asset.  

3. Depreciations is provided only on 
fixed assets.  

(c) Depreciation is provided on the 
opening balance of every year of the 
asset.  

4. On providing depreciation by Fixed 

Instalment Method  

(d) is a merit of the Fixed Instalment 

Method.  

5. Depreciation is provided for the 
whole of the year during the year of 
purchase of the asset, on whatsoever 
date it was purchased.  

(e) is the characteristics of 
Depreciation.  

 

(C) fjDr LFkku iwfrZ lEcU/kh iz'u fjDr LFkku iwfrZ lEcU/kh iz'u fjDr LFkku iwfrZ lEcU/kh iz'u fjDr LFkku iwfrZ lEcU/kh iz'u (Fill in the Blanks)  

1- ewY; & âkl dsoy ----------------- lEifRr;ksa ij yxk;k tkrk gSa A 

 Depreciation is charged only on ..................... assets.  

2- ewY;& âkl dh LFkk;h fdLr i)fr ds vuqlkj ewY; âkl dh x.kuk lEifRr ds ---------- 

ewY; ij dh tkrh gSa A 

According to Fixed Instalment Method of depreciation the depreciation is calculated 

on the ............ of the asset.  

3- ewY; âkl dh Øekxr 'ks"k i)fr ds vuqlkj okf"kZd ewY;& âkl dh x.kuk lEifRr ds ---

--ij dh tkrh gSa A  

According to Diminishing Balance Method of depreciation, the depreciation is 

calculated on the ............ of the asset.  

4- ---------- ewY; âkl dh jkf'k lnSo ,d&lh jgrh gS A  A  

Under................ the amount of depreciation is always the same. 
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5- ewY; âkl ds vk;kstu ds mn~ns';ksa esa izeq[k mn~ns'; lEifRr ds ----------- ds fy, 

vk;kstu djuk gSa A 

Amount the objects of providing depreciation the main object is to make provision for 

the .............. of the asset.  

6- lEifRr ds mi;ksx&;ksX; u jgus ij ewY;& âkl dh LFkk;h fdLr i)fr ds vUrxZr 

lEifRr dk ewY; ---------- gks tkrk gSa A  

When the asset becomes unusable under the Fixed Instalment Method the value of the 

asset becomes.......... 

7- LFkk;h fdLr i)fr vR;Ur ------------- i)fr gSa A 

Fixed Instalment method is very ............. method.  
    

fucU/kkRed iz'u &  ikap vad okys  fucU/kkRed iz'u &  ikap vad okys  fucU/kkRed iz'u &  ikap vad okys  fucU/kkRed iz'u &  ikap vad okys  (Essay Type Questions - Five marks.) 

 

1- ewY; âkl ds vk;kstu ds mn~ns'; fyf[k, A 

 Write the object for provisions of depreciation. 

2- âkl] vizpyu ,oa mPpopu esa vUrj fyf[k, A 

 Write the difference between depreciation, obsolescence and fluctuations.  

3- âkl dh LFkk;h ,oa Øekxr âkl fof/k;ksa dk foLrkj ls o.kZu dhft, A 

 Describe in detail fixed instalment and diminishing balance method of depreciation.  

4- âkl dh ?kVrh 'ks"k i)fr ds xq.k&nks"kksa dk o.kZu dhft, A 

 Discuss the merits and demerits of reducing balance method.  

5- lEifRr ij âkl dh ek=k fuf'pr djrs le; fdu&fdu ckrksa ij fopkj djuk 

vko';d gSa \ 

 Which factors are necessary for determining the amount of depreciation on an asset? 

6- ewY; âkl dh LFkk;h fdLr i)fr vkSj ?kVrh 'ks"k i)fr esa vUrj dhft, A 

 Differentiate between fixed instalment method and reducing balance method of 

depreciation.  
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7- ,d e'khu dk Ø; ewY; 20]000 :- gS bldh LFkkiuk O;; 2]000 :- gS A bldk 

vof'k"V ewY; 1]000 :- gSa A bldh dk;Z vof/k 10 o"kZ gS A rhu o"kZ dk e'khu [kkrk 

cukb, A 

 A machine purchased for Rs. 20,000 and its establishment expenses are Rs. 2,000. Its 

break-up value will be Rs. 1,000. Its estimated life is 10 years Give machinery A/c for 

three years.  

8- 1 tuojh 2005 dks uk;d fizUVlZ ls ,d ;a= 1]00]000 :- esa [kjhnk A mlh o"kZ 1 

tqykbZ dks nwljk ;a= 50]000 :- esa [kjhnk A 

  izfro"kZ 31 fnlEcj dks 10% izfro"kZ dh nj ls LFkk;h fdLr i)fr ds vk/kkj ij 

âkl dh x.kuk dh tkrh gSa A 

  o"kZ 2005 ,oa 2006 dk ;a= [kkrk cukb;sa A  

  Nayak printers purchased on 1st January. 2005 a machine for Rs. 1,00,000. On 

1st July in the same year second machine costing Rs. 50,000 was purchased.  

  Depreciation was provided on 31st December annually at 10% per annum by 

fixed instalment method. 

  Give the machinery account for 2005 and 2006. 

9-  ,d VªkUliksVZ da- us 4 Vªd izR;sd 3]00]000 :0 dk 1 vizSy 2004 dks [kjhnsA 1 

vDVwcj 2006 dks 1 Vªd nq?kZVuk esa {kfrxzLr gks x;k vkSj chek dEiuh ls 1]92]800 :- 

izkIr gq, A mlh rkjh[k dks ada- us nwljk Vªd 3]10]000 :- esa [kjhnk A da- 10% okf"kZd 

âkl ewy ykxr ij yxkrh gS A 31 fnlEcj 2006 dks lekIr o"kZ rd dk Vªd [kkrk 

cukb;sa A 

  A Transport Company purchase 4 Trucks at Rs.. 3,00,000 each on April 1, 

2004. On October a , 2006  one of the truck is involved in an accident and is 

completely destroyed and Rs. 1,92,800 is received from the insurance company in full 

settlement. On the same date another truck purchased by the company for the sum of 

Rs. 3,10,000. The company writes off 10% p.a. depreciation on the original cost. Give 

the truck A/c ot the year ending 31 Dec. 2006 
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10- ,d dEiuh us 1 tu- 2006 dks 90]000 :- esa Iyk.V ,oa e'khusa [kjhnh A 30 twu] 2006 

dks ,d vfrfjDr Iyk.V o e'khu 10]000 :- esa [kjhnh A 31 fnlEcj] 2006 dks Iyk.V 

o e'khujh dk ,d Hkkx tks 2]100 :- esa csp fn;k ftldh ykxr 1 tuojh] 2006 dks 

2000 :- Fkh A 10% okf"kZd LFkk;h fdLr i)fr esa âkl viysf[kr dhft, rFkk o"kZ 2006 

dk e'khu [kkrk cukb, A 

 A Company purchased a plant and machinery for Rs. 90,000 on 1st Jan. 2006. On 

June 30, 2006 an additional plant and machinery was purchased for Rs. 10,000. On 

31st Dec., 2006 a part of the plant and machinery was sold for Rs. 2,100, which was 

costing Rs. 2,000 on 1st Jan. 2006. Charge depreciation @ 20% on Fixed Instalment 

Method and show the machinery account for the year 2006.  

11- 1 tuojh 2004 dks 2]500 :- dh ,d e'khu [kjhnh x;h A blesa 1 tqykbZ, 2005 dks 

200 :- vkSj 1 vizSy 2006 dks 150 :- dh o`f) dh x;h A Øekxr ál i)fr ds 

vk/kkj ij 10% okf"kZd dh nj ls âkl yxkrs gq, 3 o"kksZ dk e'khu [kkrk cukb,A 

 A machine was purchased on 1st January, 2004. Some extension's were made on 1st 

July, 2005 and 1st April, 2006 for Rs. 200 and Rs. 150 respectively. Prepare 

Machinery A/c for three years by calculating depreciation @ of 10% p.a. under 

Reducing balance method.  

12- ,d dEiuh us 1 tqykbZ 2004 dks ,d ;a= 20]000 :- esa rFkk 1 tuojh 2005 dks 

12]000 :- dk nwljk ;a= Ø; fd;k A 1 vizsSy] 2006 dks igyk ;a= tks 1 tqykbZ] 

2004 dks [kjhnk Fkk 16]500 :- esa csp fn;k x;k vkSj mlh fnu ,d u;k ;a= 10]000 

:- esa Ø; fd;k A ;a=ksa ij 10% okf"kZd dh nj ls Øekxr 'ks"k i)fr ls âkl yxkrs gq, 

rhu o"kZ dk ;U= [kkrk cukb, A 

 On 1st July 2004 a company purchased a machine for Rs. 20,000. On 1 st January, 

2005 another machine was purchased for Rs, 12,000. On 1 April, 2006 the first 

Machine which was purchased on 1st July, 2004 was sold for Rs. 16,500 and a new 

machine was purchased on the same day for Rs. 10,000. Prepare machinery Account 

for three years after providing depreciation by Reducing Balance Method at 10% per 

annum.  
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13- ,d O;kikj esa dy o ;U= [kkrs dk 'ks"k 1 tuonh] 2006 dks 80]000 :- Fkk A 30 twu] 

2006 dks 10]000 :- dk ,d vfrfjDr ;a= [kjhnk A 31 fnlEcj] 2006 dks iqjkus ;aU=ksa 

dk ,d Hkkx ftldk ewY; 1 tuojh 2006 dks 2]000 :- Fkk A 2]300 :- esa csp fn;k A 

10% okf"kZd nj ls áleku 'ks"k i)fr ls âkl yxkrs gq, 2006 dk e'khu [kkrk rS;kj 

dhft, A 

 On 1st January, 2006 the balance of plant and machinery of a business amounting to 

Rs. 80,000. On 30th June. 2006 additional machinery purchased for Rs. 10,000. On 

31st December 2006 a part of old machinery sold for Rs. 2,300 which cost Rs. 2,000 

on 1st January, 2006. Prepare machinery account for 2006 charging Depreciation @ 

10% per annum by Diminishing Balance Method.  

14- ,d e'khu 1-1-2003 dks 10]000 :- esa [kjhnh A izfro"kZ 31 fnl- dks 10% okf"kZd ewY; 

âkl dh x.kuk dh tkrh gS A LFkk;h ,oa ?kVrh 'ks"k iz.kkyh ls LrEHkh fof/k }kjk 3 o"kksZ 

dk e'khu [kkrk cukb, A  

 On 1-1-2003 purchased a machine for Rs. 10,000. Depreciation is charged @ 10% 

each year. On 31st Dec. Prepare Machinery A/c by means of tabular ledger A/c under 

Fixed Instalment method & Reducing Balance method for three years.  

15- 1 tuojh 2004 dks ,d ;a= 10]000 :- esa [kjhnk x;k ftl ij ?kVrh fdLr i)fr ls 

10% dh nj ls nks o"kZ rd âkl yxk;k x;k A 2006 esa ;g fu'p; fd;k x;k fd ;a= 

dh Ø; frfFk ls gh mlh nj ij LFkk;h fdLr i)fr ls âkl yxk;k  tk; A  

 2004 ls 2006 rd ;a= [kkrk cukb, A 

 

 A machinery was purchased on 1st January 2004 for Rs. 10,000 charging depreciation 

two years at the rate of 10% by diminishing balance method. In 2006 is has been 

decided to adopt the fixed Instalment method at the same rate from the date of its 

purchase.  

 Prepare machinery account from 2004 to 2006.  
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bdkbZ& 10 bdkbZ& 10 bdkbZ& 10 bdkbZ& 10     
    

vk;kstu o lap;vk;kstu o lap;vk;kstu o lap;vk;kstu o lap;    
    (PROVISIONS AND RESERVES) 

    
    

nh?kZ mRrjh; iz'u 5 vad nh?kZ mRrjh; iz'u 5 vad nh?kZ mRrjh; iz'u 5 vad nh?kZ mRrjh; iz'u 5 vad (Long Answer Questions 5 marks) 

1- lap; ls D;k vk'k; gSa \ ;g vk;kstu ¼izkWo/kku½ ls fdl izdkj fHkUu gS \ 

 What is meaning of reserve? How does it differ from provision? 

2- fuEu esa ls fdlh ,d dk vUrj dfj,% 

 ¼v½ lkekU; lap; ,oa fo'ks"k lap; 

 ¼c½ vk;kstu ¼izkWo/kku½ ,oa lafpr ¼lap;½ A 

 Differentiate between any one of the following: 

 (a) General Reserve and Specific Reserve. 

 (b) Provision and Reserve.  

3- xqIr lap; ij fVIi.kh fyf[k, A 

 Write note on secret reserve.  

4- vk;kstu ,oa lap; esa vUrj dfj, A 

 Differentiate between Provision and Reserve.  

nh?kZ mRrjh; iz'nh?kZ mRrjh; iz'nh?kZ mRrjh; iz'nh?kZ mRrjh; iz'u u u u (Long Answer Question) 

1- lap; D;k gS \ ;g dSls cuk;k tkrk gS\ bldh gkfu;ksa dks la{ksi esa le>kb;sa A 

 What is secret reserve? How is it created? Explain its disadvantages.   

2- xqIr lap; D;k gSa\ ;g fdl izdkj mRiUu gksrk gS \ blds ykHkksa o gkfu;ksa dh foospuk 

dhft, A 

 What is secret reserve? How is it created? State its advantages and disadvantages.  

3- xqIr lap; D;k gSa\ bldk l`tu dSls fd;k tkrk gS\ blds xq.k&nks"k fyf[k, A 

 What is secret reserve? How is it created? Write its merits and demerits.  
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4- ¼v½ lap; dk D;k vk'k; gSa \ izkWo/kku vkSj lap; esa D;k vUrj gSa \ 

 ¼c½ flafdax Q.M dk D;k vk'k; gS \ ;g fdl izdkj cuk;k tkrk gS \ 

(a) What is the meaning of Reserve? What is the difference between provision and 

reserve?  

 (b) What is the meaning of Sinking Fund? How is it created? 

 

iz'u&5  1 tuojh 2004 dks vizkI; ,oa lafnX/k _.k izkWo/kku [kkrs dh ckdh 4]000 

:- Fkh A 2004] 2005 vkSj 2006 esa vizkI; _.k Øe'k% 2]600 :-] 1]300 :- 

vkSj 600 :- ds Fks A 31 fnlEcj 2004] 2005 vkSj 2006 dks nsunkj Øe'k% 

40]000 :-] 50]000 :- vkSj 18]000 :- ds Fks A izfro"kZ vizkI; ,oa lafnX/k _.k 

dk izkWo/kku 5% ij j[kuk gS A bu rhu o"kksZ ds fy, vizkI; ,oa lafnX/k _.kksa ds 

izkWo/kku dk [kkrk [kksfy, vkSj ;g izdV dfj, fd fdl izdkj rhu o"kksZ esa ;g 

jkf'k ykHk & gkfu [kkrs vkSj fpV~Bs esa fn[kk;h tk;sxh A  

On 1st Jan2004, Provision for Bad and Doubtful Debts Account showed 

a credit Balance of Rs. 4,00. Bad debts during the year 2004, 2005 and 2006 

were Rs. 2,600, Rs. 1,300 and Rs. 600 respectively. The Debtors on 31st 

December, 2004, 2005 and 2006 were Rs. 40,000, Rs. 50,000 and Rs. 18,000 

respectively. Provision for bed and doubtful debts is required to be maintained 

at 5% every year. Prepare Provision for Bad and Doubtful Debts Account for 

the above mentioned three year and also show how these items will appear in 

the Profit and Loss Account and Balance Sheet in each of these three years.  
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iz'u&6 X dEiuh fy- vizkI; _.kksa ds fy, 5% izkWo/kku vkSj dVkSrh ds fy, 2½%  

izkWo/kku j[krh gS A dEiuh ysunkjksa ij Hkh dVkSrh ds fy, 2% izkWo/kku j[krh gSa a 

fuEukafdr lwpukvksa ls izkoW/kku [kkrs cukb;sa %  

 1-1-2005 dks ckfd;kW% vizkI; _.kksa ds fy, izkWo/kku 10]000 :-] nsunkjksa ij 

dVkSrh ds fy, izkWo/kku 5]000 :- ] ysunkjksa ij dVkSrh ds fy, izkWo/kku 4]000 

:- A 

 31-12-2005 dks 6]000 :- vizkI; _.k vkSj 2]000 :- dVkSrh ?kVkus ds ckn dqy 

nsunkj 2]40]000 :- ds Fks A 31-12-2006 dks dqy nsunkj] vizkI; _.k 1]000 

:- vkSj dVkSrh 500 :- ?kVkus ds ckn 2]00]000 :- ds Fks A 31-12-2005 vkSj 

31-12-2006 dks dqy ysunkj Øea'k% 1]00]000 :- vkSj 1]50]000 :- ds Fks A bu 

o"kksZ esa Øe'k% 500 :- vkSj 3]000 :- dh dVkSrh izkIr gqbZ A  

X Co. Ltd. maintains provision for bad debts at 5% and a provision for 

discount at 2½% on debtors. The Company also maintains a provision for 

discount on creditors at 2%. From the following particulars write up the 

provision accounts:  

Balances on 1.1.2005 Provision for bad debts Rs. 10,000, Provision for 

discount on debtors Rs. 5,000, Provision for discount on creditors Rs. 4,000.   

Total debtors as on 31.12.2005 were Rs. 2,40,000 after writing off bad debts 

Rs. 6,000 and allowing discount Rs. 2,000. On 31.12.2006 total debtors were 

Rs. 2,00,000 after writing off bad debts Rs. 1,000 and allowing discount Rs. 

500. Total creditors as on 31.12.2004 and on 31.12.2006 were Rs. 1,00,000 and 

Rs. 1,50,000 respectively. Discount received during each of the year amounted 

to Rs. 500 and Rs. 3,000 respectively.  

iz'u&7 ,d O;kikjh esa 8]000 :- dh vkdfLed gkfu dks izcU/kdksa us xqIr lap; ls iwjk 

djus dk fu'p; fd;k A lEifRr;ksa esa ls e'khujh] LVkWd rFkk [;kfr dks Øe'k% 

2]000 :- 3]000 :- vkSj 3]000 :- de djds xqIr lap; j[kk x;k Fkk A 

izca/kdksa ds fu'p; dks iwjk djus ds fy, tuZy dh vko';d izfof"V dhft, A 
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The manager of a business decided to write off any secret reserve the 

accidental loss of business amounting to Rs. 8,000, Secret Reserve had been 

created by reducing Machinery. Stock and Goodwill by Rs. 2,000, Rs. 3,000 

and Rs. 3,000 respectively. Pass the necessary journal entry to give effect to 

Manager's decision.  

 

iz'u&8 fuEukafdr n'kkvksa esa 5 o"kksZ ds vUr esa D;k vUrj gksxk \ tcfd ¼v½ 5 o"kZ ds 

vUr esa 30]000:- ds _.k dk Hkqxrku djus ds fy, ,d flafdx Q.M [kkrk j[kk 

x;k gS] ¼c½ ,d flafdx Q.M 30]000:- okys iV~Vs dks 5 o"kZ ds vUr esa 

izfrLFkkfir djus ds fy, j[kk x;k gS A [kkrs izfro"kZ 31 fnlEcj dks cUn fd;s 

tkrs gSa A 

What will be the difference at the end of 5 years in the following cases? When 

(a) One sinking Fund Account is maintained for redemption of a loan of Rs. 

30,000 after 5 years, (b) One Sinking Fund is maintained for replacement of a 

lease of Rs. 30,000 after 5 years. The accounts are closed at 31st December 

each year.  

 

iz'u&9 ,Dl] ok; ,oa tsM dEiuh fy- us 1]50]000 :- ds 5% _.ki= fuxZfer fd;s A 

bu _.ki=ksa ds Hkqxrku ds fy, ;g fu'p; fd;k x;k fd ykHk ls izfro"kZ 5]000 

:- flafdax Q.M dks gLrkUrfjr djus gS vkSj bls ljdkjh izfrHkwfr;ksa esa 5% 

C;kt dh nj ls fofu;ksx djuk gS A flafdax Q.M [kkrk vkSj flafdax Q.M 

fofu;ksx [kkrk rhu o"kksZ ds fy, cukb, A fofu;ksx 100 :- ls foHkkftr gksus 

okys gksus pkfg, A  

X, Y & Z Company Lte. issued Rs. 1,50,000, 5% Debentures. In order to repay 
these debentures, it was decided to transfer Rs. 5,000 to Sinking Fund at the 
end of every year from profit and invest it in Government Securities @ 5% . 
Prepare Sinking Fund Account for redemption of debentures and Sinking Fund 
Investment Account for first three years only. Investments are made in 
multiples of Rs. 100.  
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bdkbZ &11bdkbZ &11bdkbZ &11bdkbZ &11    

foÙkh; fooj.k foÙkh; fooj.k foÙkh; fooj.k foÙkh; fooj.k     

(FINANCIAL STATEMENT) 
 

oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u (Objective Type Questions)  

iz'u1- lek;kstukvksa ds ckjs esa fuEufyf[kr fooj.k ^^lR;** gS ;k ^^vlR;**% 

 (i) vnRr etnwjh dks dsoy O;kikfjd [kkrs esa fy[kk tkrk gSa A 

 (ii) iwoZnRr fdjk;s dks ykHk&gkfu [kkrs ds MsfcV esa fdjk;s dh jkf'k esa ls ?kV;k tkrk  

gS rFkk fpV~Bs esa lEifRr i{k dh vksj fy[kk tkrk gSa A 

(iii)  âkl dks dsoy ykHk&gkfu [kkrs ds MsfcV i{k esa fy[kk tkrk gS A 

(iv) iwWth ij C;kt dsoy ykHk&gkfu [kkrs ds MsfcV i{k esa fy[kk tkrk gS A 

Following statement about adjustments are ture and false.  

(i) Outstanding wages are recorded only in Trading Account. 

(ii) Prepaid rent is deducted from rent in the debit side of profit and loss account 

and is recorded in the asset side of balance sheet.  

(iii) Depreciation is recorded only in profit and loss account.  

(iv) Interest on capital is recorded only in the debit side of profit and loss account. 

iz'u2- fuEukafdr fjDr LFkkuksa dks Hkfj;sa % 

(i) ;fn Ø; fd;k gqvk eky ekxZ esa gS rks blds fy, ekxZLFk eky [kkrk --------- 

rFkk  eky iwfrZ djus okyk dk [kkrk --------- fd;k tkrk gS A 

(ii) la;qDr lkgl ds ykHk dks ykHk&gkfu ds ----------- esa rFkk fpV~Bs esa --------- dh 

vksj fy[kk tkrk gSa A 

(iii)  vizkI; _.k dks ykHk&gkfu [kkrs ds ----------- i{k esa fy[kk tkrk gS A 

Fill up the blanks: 

(i) If purchased goods are in transit, then for it goods in transit account ............. 

and supplier of goods account is .......... 
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(ii) Profit on joint venture is recorded in the ............ side of profit and loss account 

and .......... side of B/S. 

(iii) Bad debts are recorded in the ............ side of profit and loss Account.  

iz'u3- 1]500 dk eky vfXu ls u"V gqvk] chek dEiuh us 500 :- ds nkos dh Lohd`fr nh A 

O;kikj [kkrs esa D;k izdV fd;k tkosxk \ 

 ¼v½ 1]500 :- ¼c½ 500 :- ¼l½ 1]000 :-  ¼n½ 2]000 :- 

Goods valued Rs. 1,500 were lost by fire, but insurance company has admitted 
a claim of Rs. 500, What amount will be shown in the trading account? 

 (a) Rs. 1,500  (b) Rs. 500 (c) Rs. 1,000 (d) Rs. 2,000 

iz'u4- crkb;sa fd fuEukafdr fooj.k ^lR;* gS ;k ^vlR;* 

(i) vfxze esa fn;k x;k osru] ,d O;; ugha gS D;ksafd u rks ;g lEifRr;ksa dks de 

djrk gSa vkSj u nkf;Roksa dks c<+krk gS A 

(ii) ;fn vfUre LdU/k ¼jgfr;k½ ryiV esa fn;k gksrk gS] rks bls dsoy fpVBs esa ys 

tk;k tkrkgSa A 

State whether following statement are true or false: 

(i) Salary paid in advance is not and expense because it neither reduces assets nor 

increases liabilities.  

(ii) Closing stock if appears in the trial balance is taken only to Balance Sheet.  

 

iz'u5- fuEukafdr fooj.k lR; gS ;k vlR;% 

 (i) LFkk;h lEifRr;ksa ls âkl dkVk tk ldrk gS A 

(ii) fpV~Bk ml miØe dh foRrh; fLFkfr izdV djrk gS ftlds fy, bls cuk;k x;k 

gSa A 

(iii)  ykHk&gkfu [kkrk ldy ykHk izdV djrk gS A 

(iv) O;kikfjd [kkrk 'kq) ykHk izdV djrk gS A 

And following particulars true of false.  

(i) Depreciation can be deducted from fixed assets. 
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(ii) Balance Sheet indicates the financial position of that enterprise for which it is 

prepared. 

(iii) Profit and Loss Account indicates gross profit.  

(iv) Trading Account indicates net profit.  

iz'u6- fuEukafdr ds mRrj ^gkW* ;k ^ugh* esa nhft, % 

(i) izR;{k O;;ksa esa Mkd&rkj O;; ,oa ys[ku&lkexzh O;; 'kkfey fd;s tkrs gSaA 

(ii) izR;{k O;;ksa esa vkUrfjd xkM+h&HkkM+k ,oa etnwjh 'kkfey fd;s tkrs gSa A 

(iii)  fcØh gq, eky dh ykxr esa ldy ykHk tksM+dj foØ; dh jkf'k izkIr dh tk 

ldrh gSa A 

(iv) iwWth ij C;kt O;olk; ds fy, ykHk gSa A 

(v) vkgj.k ij C;kt O;olk; ds fy, vk; gSa A  

 

Answer the following in Yes or No: 

(i) Postal charges and stationery expenses are included in direct expenses. 

(ii) Carriage inward and wages are included in direct expenses.  

(iii) Amount of sales can be found out by adding gross profit to cost of goods sold. 

(iv) Interest on Capital is gain for business. 

(v) Interest on drawings is income for business.  

iz'u 7- fuEukafdr esa fjDr LFkkuksa dks Hkfj, % 

¼1½ fpV~Bs esa ;fn nkf;Ro i{k dk ;ksx 50]000 :- gS rks lEifRr i{k dk ;ksx       

Hkh ------------ :i;s gksxk A 

¼2½ fpV~Bs esa iwWth dks ------------ dh vksj fy[kk tkrk gSa A 

¼3½ fpV~Bs esa nsunkjksa dks --------- dh vksj fy[kk tkrk gS A 

¼4½ mikftZr vk; dks ykHk&gkfu [kkrs ds ----------- i{k esa fy[kk tkrk gS A 

¼5½ O;kikfjd [kkrs esa Ø; okilh dks ----------- esa ls ?kVk;k tkrk gSa A 

¼6½ ;fn vfUre jgfr;k ryiV esa fn;k gqvk gS rks bls --------- esa fy[kk tkrk gSaA 

¼7½ ;fn âkl ryiV esa fn;k gqvk gS rks bls -------- esa fy[kk tkrk gSa A 
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Fill up the gaps in the following. 

(1) If the total of liabilities side in B/S is Rs. 50,000, then total of assets side will 

also be Rs. ...........  

(2) Capital is recorded in the ......... side of B/S. 

(3) Debtors  are recorded in the ......... side of B/S. 

 (4) Earned income is recorded in the ......... side of profit and loss account. 

 (5) Purchases return is deducted from  ......... in the trading account. 

 (6) If closing stock is given in the trial balance. it sis recorded in............. 

 (7) If depreciation is given in the trial balance, it is recorded in ............ 

iz'u 8- fuEukafdr esa ls lgh fooj.kksa dks fpfàar ¼√½ dfj;sa % 

(i) 'kq) ykHk dks fpV~Bs esa gLrkUrfjr fd;k tkrk gSa A 

(ii) ykHk&gkfu [kkrk O;kikfjd [kkrs ds igys cuk;k tkrk gSa A 

(iii)  fpV~Bk iwjs o"kZ dh foRrh; fLFkfr izdV djrk gS A 

(iv) O;kikfjd [kkrk o"kZ ds vfUre fnu dk ldy ykHk izdV djrk gS A 

(v) ysunkj fpV~Bs esa nkf;Ro dh vksj fy[ks tkrs gSa A 

From the following tick (√ ) the correct particulars.  

(i) Net Profit is transferred in Balance Sheet. 

(ii) Profit and Loss Account is prepared before Trading Account.  

(iii) Balance Sheet indicates the financial position of the whole year.  

(iv) Trading Account indicates gross profit of the last day of the year. 

(v) Creditors are shown in the liabilities side of B/S 

iz'u 9- fuEufyf[kr esa ls dkSu lh lEifRr;kW LFkk;h lEifRr;kW gSa \ 

 (i) Hkou]     (ii) jgfr;k]   (iii) nsunkj]    (iv) jksdM+]    

(v) QuhZpj]    (vi) Iyk.V ,oa e'khujh ]        (vii)  izkI; fcy 

 Which assets are fixed assets in the following ? 

 (i) Building, (ii) Stock (iii) Debtors (iv) Cash 

 (v) Furniture (vi) Plant & Machinery,  (vii) B/R.  
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iz'u 10- fuEukafdr esa 'kq) ykHk dh x.kuk dhft,% 

 vizR;{k O;; 10]000 :-] ldy ykHk 15]000 :-] fofu;ksxksa ij C;kt 2]000 :-A 

 Calculate net profit in the following: 

Indirect expenses Rs. 10,000, Gross Profit Rs. 15,000, Interest on Investment          

Rs. 2,000.  

iz'u 11- fuEu dFku lR; gS ;k vlR;% 

 ¼v½ izkjfEHkd Lda/k dks O;kikj [kkrs esa n'kkZrs gS fLFkfr fooj.k esa ughaA 

 ¼c½ iwoZnRr O;; dks fLFkfr fooj.k esa lEifRr i{k esa fy[kk tkrk gS A 

 Following statement are true of false? 

 (a) Opening stock is recorded in Trading account and not in Balance Sheet. 

 (b) prepaid expenses are recorded in the asset side of balance sheet.  

    

nh?kZ mRrjh; iz'u 6 vad nh?kZ mRrjh; iz'u 6 vad nh?kZ mRrjh; iz'u 6 vad nh?kZ mRrjh; iz'u 6 vad (Long Answer Questions 6 marks) 

iz'u&12 ykHk&gkfu [kkrs esa izdV dh tkus okyh ikWp enksa ds uke fyf[k, \ 

  Write the names of five items which are taken to profit and loss Account.  

iz'u&13 fpV~Bs esa fy[kh tkus okyh ikWp enksa ds uke fyf[k,A 

  Write the names of five items which are recorded in B/S. 

iz'u&14 vkgj.k dks vfUre [kkrksa esa fdl izdkj izdV fd;k tkrk gSa \ 

  How is drawing shown in final account.  

iz'u&15 vnRr ,oa iwoZnRr O;;ksa esa vUrj dfj, A 

Differentiate between outstanding and prepaid expenses. 

iz'u&16 nsunkjksa ij vizkI; _.k ds fy, izko/kku ij fVIi.kh fyf[k, A 

Write a note on provision for bad debts on debtors.  

iz'u&17 fcds gq, eky dh ykxr fdl izdkj fudkyh tkrh gS\ 

How is cost of goods sold calculated? 

iz'u&18 'kq) ykHk ;k izcU/kd dk 5 izfr'kr deh'ku fdl izdkj fudkyk tkrk gSa\ 

How is 5%  commission of manager is calculated on net profit? 
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iz'u&19 ysunkjksa ij dVkSrh ds laca/k esa D;k ys[kk fd;k tkrk gS\ 

What record is made in connection with discount on creditors? 

iz'u&20 le;kstukvksa esa fn;s gq, âkl ds fy, D;k ys[kk fd;k tkrk gS\ 

What record is made for depreciation given in adjustments? 

iz'u&21 lek;kstukvksa dk vk'k; fyf[k, A dksSu&lh lek;kstuk,W o"kZ ds vUr esa dh tkrh 

gSa \ 

Write the meaning of adjustments. What adjustments are made at the end of the 

year? 

iz'u&22 eq[; lek;kstuk,W D;k gSa\ buesa ls fdUgha rhu lek;kstukvksa dks mnkgj.k lfgr 

le>kb, A 

What are main adjustments? Explain only three adjustments out of them with 

examples.  

iz'u&23 v'kqf);ksa ds lq/kkj rFkk lek;kstukvksa ds vUrj dks Li"V dfj, rFkk nks mnkgj.k 

Hkh nhft, A 

Explain the difference between errors and rectification and adjustments and 

give two examples also. 

iz'u&24 vfUre [kkrksa dk D;k vfHkizk; gS\ bUgsa D;ksa cuk;k tkrk gS\ 

  What is the meaning of final accounts ? Why are they prepared? 

iz'u&25 ldy ykHk ;k 'kq) ykHk dk vUrj fyf[k, A 

  Write the difference between gross profit and net profit. 

iz'u&26 fpV~Bs vkSj ryiV esa D;k vUrj gSa \ 

  What is the difference between Balance Sheet and Trial Balance.  

iz'u&27 fVfIi.k;kW fyf[k, % 

  ¼v½ fuekZ.k [kkrk]  ¼c½ ykHk&gkfu [kkrk 

  Write note on: 

  (a) Manufacturing Account,    (b)  Profit and Loss Account.  
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iz'u&28 fcds gq, eky dh ykxr fdl izdkj fudkyh tkrh gSa\ 

  How is cost of goods sold calculated? 

iz'u&29 fpV~Bs dk uewuk cukb, A 

  Prepare specimen of Balance Sheet. 

iz'u&30 O;kikfjd [kkrs dk uewuk cukb, A 

  Make a specimen of Trading Account. 

iz'u&31 izcU/k ds O;;ksa ds N% mnkgj.k nhft, A 

  Mention Six examples of management expenses.  

iz'u&32 ykHk&gkfu [kkrs vkSj fpV~Bs esa D;k vUrj gSa\ 

  What is the difference between Profit and Loss Account and Balance Sheet? 

iz'u&33 lEifRr;ksa dk oxhZdj.k dfj, A 

  Make the classification of assets. 

iz'u&34 nkf;Roksa dk oxhZdj.k dfj, A 

  Make the classification of liabilities. 

iz'u&35 Ø; 30]000 :-] etnwjh 5]000 :-] izkjfEHkd LVkWd 8]000 :- fcØh 50]000 :-  

ldy ykHk dh jkf'k fudkfy, A 

Purchases Rs. 30,000, Wages Rs. 5,000, Opening Stock Rs. 8,000, Sales Rs. 

50,000. Find out amount of gross profit? 

iz'u&36 fpV~Bs cukus ds fdUgha ikWp fu;eksa dk o.kZu dhft, A 

  Describe any five rules of preparation of Balance Sheet. 

iz'u&37 dk;Z'khy iwWth] _.k iwWth ,oa LFkk;h iwWth esa D;k vUrj gSa \ 

What is the difference between Working Capital, Borrowed Capital and Fixed 

Capital? 

iz'u&38 vfUre [kkrksa dk D;k vfHkizk; gS\ fpV~Bs dks vfUre [kkrksa esa D;ksa 'kkfey fd;k 

tkrk gSa tcfd okLro esa ;g ,d fooj.k & i= gS] ^[kkrk* ugh \ 

What is meant by Final Accounts? Why if Balance Sheet included in Final 

Accounts. when in. 
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iz'u&39 fpV~Bk] O;kikfjd [kkrk ,oa ykHk&gkfu [kkrk dk D;k vk'k; gS\ bUgsa D;ksa cuk;k 

tkrk gS\ 

What is meant by Balance Sheet, Trading Account and Profit & Loss      

Account ? Why are they prepared? 

iz'u&40 nksgjk ys[kk iz.kkyh ds vUrxZr tuZy ls vfUre ys[ks rd dh izfØ;k la{ksi esa 

fyf[k, A 

Describe the procedure from journal to final accounts under double entry 

system.  

 

iz'u&41 1 tuojh 2004 dks lafnX/k _.k izkWo/kku [kkrs esa 2]700 :- dh ØsfMV ckdh Fkh 

o"kZ ds nkSjku esa 2]100 :- ds v'kks/; _.k gq, A 31 fnlEcj 2004 dks 1]26]000 

:- ds nsunkj Fks ftu ij 5% dh nj ls lafnX/k _.kksa ds fy, izkWo/kku dhft,A  

 2005 esa v'kks/; _.kksa dk ;ksx 2]100 :- Fkk 31 fnlEcj 2005 dks nsunkj 

75]000 :- ds Fks vkSj bu ij 5% dh nj ls izkWo/kku dhft, A 2006  esa v'kks/; 

_.k dh jkf'k 3]000 :- Fkh] rFkk o"kZ dh vafre frfFk ij 30]000 :- ds nsunkj 

Fks vkSj 5% dh nj ls lafnX/k _.k ds fy, vfrfjDr izkWo/kku djuk Fkk A v'kks/; 

_.k [kkrk ,oa lafnX/k _.k izkWo/kku [kkrk [kksfy, A 

On 1st Jan. 2004 there was a credit balance of Rs. 2,700 in provision for 

Doubtful Debts Account. Bad debts amounted to Rs. 2,100 during this year. 

Debtors stood at Rs. 1,26,000 on 31st Dec. 2004. Make a provision for 

doubtful debts at the rate of 5% on them.  

During 2005 bed  debts totalled Rs. 2,160. Debtors stood at Rs. 75,000 on 31st 

December, 2005 and you are required to make a provision of 5% on them. 

During 2006, bad debts amounted to Rs. 3,000 and debtors at the end of the 

year were Rs. 30,000. You have to make an additional provision of 5% for 

doubtful debts. Open Bad Debts Account and provision for Doubtful Debts 

Account.  
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iz'u&42 v'kks/; _.k ds 2]500 :- 31 ekpZ ] 2006 dks lekIr gksus okys o"kZ esa gq, vkSj 

3]000 :- dh v'kks/; _.k izkWo/kku dh ckdh xr o"kZ ls vkxs yk;h xbZ A bl 

o"kZ 1]750 :- dk izko/kku v'kks/; _.kksa ds fy, fd;k x;k 2004 esa ?kksf"kr fd;s 

x;s v'kks/; _.kksa esa ls 5 uoEcj] 2005 dks 880 :- vuk;kl izkIr gks x;s A 

blds lEcU/k esa v'kks/; _.k izkWo/kku [kkrk ,oa v'kks/; _.k [kkrk cukb, rFkk 

tuZy ds ys[ks Hkh dhft, A  
 

Bad Debts amounted to Rs. 2,500 during the year ending 31st March, 2006 and 

a balance of Rs. 3,000 of provision for bad debts was brought forward from 

last year. This year a provision of Rs. 1,750 was made for the Provision for 

Bad Debts Account. A sum of Rs. 880 declared as bed during 2004 , was 

recovered on 5th Nov. 2005 . Show Bad Debts Provision Account, Bad Debts 

Account and also pass necessary journal entries.  

 

iz'u&43 31 fnlEcj] 2006 dks lekIr gksus okys o"kZ esa ,d O;olk;h us 600 :- dh 

dVkSrh nsunkjksa dks nh vkSj 650 :- dh dVkSrh ysunkjksa ls izkIr dh A 31 fnlEcj] 

2006 dks bl O;olk;h ds nsunkj 30]000 :- vkSj ysunkj 25]000 :- ds Fks A 

o"kZ ds vUr ds ysunkjksa ij 4% vkSj nsunkjksa ij 5% dVkSrh dks"k cukus dk fu.kZ; 

fd;k x;k A dVkSrh [kkrk] nsunkjksa ij dVkSrh izkWo/kku [kkrk vkSj ysunkjksa ij 

dVkSrh izko/kku [kkrk cukb, A 

A trader allowed Rs. 600 as discount to debtors in the year ending 31st Dec., 

2006 and received Rs. 650 as discount from his creditors during that period. 

His debtors ad creditors on 31st Dec. 2006 ware Rs. 30,000 and Rs. 25,000 

respectively. At the end of the year it wad decided to make a provision for 

discounts at 4% on creditors and 5% on debtors. Show Discount Account, 

Provision for Discount on Debtors Account and Provision for Discount on 

Creditors Account.  
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iz'u&44 2006 esa v }kjk chek izhfe;e ds 1]000 :- fn;s ftlesa ls 100 :- iwoZnRr gS 

vkSj 900 :- pkyw o"kZ ds gS  bl n'kk esa v tuZy esa vko';d izfof"V;kW ys[ks 

dhft, A 

Rs. 1,000 were paid by A as insurance premium in the year 2006, out of which 

Rs. 100 are meant for next year while Rs. 900 have been paid for current year. 

Pass necessary entries in the journal of A. 

 

iz'u&45 ,d izdk'kd us 1]000 iqLrd ,d iqLrd dk ,d :i;k deh'ku dh nj ls cspus 

ds fy, ,d QeZ ds ikl Hksth A 2005 o"kZ esa 800 iqLrds csph x;h A 700 :- 

deh'ku izkIr gqvk] 'ks"k deh'ku 5 tuojh] 2006 dks izkIr gqvk A QeZ dh tuZy 

ds vko';d ys[ks dhft, A 

One publisher sent 1,000 books to a firm to sell them on a commission of Re. 1 

per book. During 2005, books sold were 800. Commission received by the firm 

is Rs. 700. Remaining commission was received on 5th Jan. 2006. Pass the 

necessary journal entries in the books of the firm.  

 

iz'u&46 dkj[kkus ds eSustj dks] tujy eSustj ds deh'ku dks dkVus ds ckn vk;s gq, 'kq) 

ykHk ij 5% deh'ku fn;k tkrk gS vkSj tujy eSustj dks] dkj[kkuk eSustj ds 

deh'ku dks dkVus ds ckn vk;s gq, 'kq) ykHk ij 10% deh'ku fn;k tkrk gS A 

;fn bu nksuksa deh'kuksa ds dkVus ds iwoZ dk ykHk 8]000 :- gS rks dkj[kkuk 

eSustj ,oa tujy eSustj dks fn;s tkus okys deh'ku dh jkf'k;kW fudkfy, A 

5% commission is paid to the factory manager on the net profit arrived at after 

charging General Manager's commission and 10% commission is paid to the 

General Manager on the net profit arrived at after charging Factory Manager's 

commission. If the profit before charging these two commission is Rs. 8,000, 

them find out the amounts of commission payable to Factory Manager and 

General Manager.  
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iz'u&47 fuEukafdr fooj.k ls 31 ekpZ] 2006 dks lekIr gq, o"kZ ds fy, 'kjn dh iqLrdksa 

esa O;kikfjd [kkrk cukb, %  

  :-  :- 
izkjfEHkd LVkWd 20,000 pqaxh dj  75 

udn Ø; 30,000 izksijkbVj }kjk eky dk 
vkgj.k  

500 

m/kkj Ø; 20,000 lqiqnZxh ysus ds O;;  25 

Ø; okilh 1,000 nku esa fn;k eky  100 

udn fcØh 40,000 vfUre LVkWd 3,500 

m/kkj fcØh 30,000 jsy HkkM+k  1,400 

vkx }kjk eky ds u"V gksus 
ls gkfu 

1,500 vkUrfjd xkM+h HkkM+k 50 

etnwjh  400 uewus esa fn;k eky  100 

foØ; okilh  2,000 izs"k.k ij yky x;k 
¼ykxr½ 

1,500 

Ø; ij deh'ku  100   

Prepare Trading Account in the books of Shared from the following particulars 

for the year ending at 31st March, 2006 

  Rs  Rs. 

Opening Stock 20,000 Octroi Duty  75 

Cash Purchases  30,000 Good withdrawn be Prop. 500 

Credit Purchases 20,000 Expenses of taking delivery 25 

Purchases Returns 1,000 Goods given in Charity 100 

Cash Sales 40,000 Closing Stock 3,500 

Credit Sales 30,000 Railway Freight 1,400 

Goods Destoryed by Fire 1,500 Carriage inward 50 

Wages 400 Goods given away as 

Sample 

100 

Sales Returns  2,000 Goods sent of Consignment.  1,500 

Commission on Purchases 100   
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iz'u&48 fuEukafdr fooj.k ls 31 ekpZ] 2006 dks lekIr gksus okys o"kZ ds fy, ,d fuekZ.k 

[kkrk vkSj ,d O;kikfjd [kkrk cukb, %  

  :-  :- 

dPps eky dh [kjhn 60,000 xSl vkSj ikuh 1,000 

dPps eky dk izkjfEHkd 
LVkWd 

10,000 dkj[kkus dk fdjk;k 500 

fufeZr eky dh [kjhn 20,000 'kfDr 600 

fufeZr dky dk izkjfEHkd 
LVkWd  

5,000 mi;ksx gq, LVkslZ 700 

fufeZr eky dh vkUrfjd 
okilh 

2,000 dPps eky dk vfUre 
LVkWd 

4,000 

fufeZr eky dh cká okilh 1,500 fufeZr eky dk vfUre 
LVkWd 

8,000 

dPps eky dh cká okilh 500 dPps eky dk HkkM+k 1,800 

pkyw dk;Z dk izkjfEHkd 
LVkWd 

7,000 fufeZr eky dk HkkM+k 600 

pkyw dk;Z dk vfUre LVkWd  8,000 fufeZr eky dh fcØh  1,20,000 

etnwjh  4,500   

 

From the following particulars prepare a Manufacturing Account and a Trading 

Account for the year ending 31st March, 2006 

  Rs  Rs. 

Purchases of Raw Materials 60,000 Gas and Water 1,000 

Opening Stock of Raw 
Materials. 

10,000 Factory Rent 500 

Purchase of Finished Goods 20,000 Power 600 

Opening Stock of Finished 
Goods. 

5,000 Stocks consumed  700 

Return Inwards of Finished 
goods. 

2,000 Closing Stock of Raw 
Materials 

4,000 

Return Outwards of 
finished goods 

1,500 Closing Stock of finished 
goods 

8,000 

Return Outwards of Raw 
Materials 

500 Freight on Raw Materials 1,800 
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Opening Stock of Work-in 
progress 

7,000 Freight on Finished goods 600 

Closing Stock of Work-in 
progress  

8,000 Sales of Finished Goods 1,20,000 

Wages. 4,500   

 

 
iz'u&49 Jh eksgunkl dk 31 fnlEcj 2006 dks lekIr gksus okys o"kZ dk ryiV uhps fn;k 

tkrk gSa blls vki o"kZ 2006 dks O;kikj ,oa ykHk gkfu [kkrk vkSj 31 fnlEcj] 

2006 dk fpV~Bk rS;kj dhft, %  

  :-  :- 
jgfr;k 1tuojh 2006 16,000 cSad dk _.k  4,400 

Hkou 24,000 fofo/k ysunkj 11,600 

fofo/k nsunkj 17,000 iwWth 32,000 

e'khujh 10,000 fcØh 1,30,000 

vkgj.k 4,000 dVkSrh 400 

Ø; 90,000 Ø; okilh 800 

chek o dj 1,500 deh'ku 750 

O;kikfjd O;; 3,600 v'kks/; _.kkFkZ izkWo/kku 400 

fcØh okilh 600 ns; fcy  2,000 

osru 8,200   

Ø; ij HkkM+k 1,250   

v'kks/; _.k  300   

izkI; fcy 4,500   

jksdM+ 'ks"k  1,400   

:- 1,82,350 :- 1,82,350 

 fuEu lek;kstuk,W vko';d gSa  

¼v½ 31 fnlEcj] 2006 dks vfUre jgfr;k dk ewY; 12]000 :- Fkk A 
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Below is given the Trial Balance of Shri Mohandas in respect of the year 

ending 31st Dec. 2006. Prepare his Trading and Profit & Loss Account for the year 

2006 and his Balance Sheet as at that date:  

  Rs  Rs. 

Stock 1st Jan 2006 16,000 Bank Loan 4,400 

Building 24,000 Sundry Creditors 11,600 

Sundry Debtors 17,000 Capital 32,000 

machinery 10,000 Sales 1,30,000 

Drawings 4,000 Discount 400 

Purchases  90,000 Purchases Returns 800 

Insurance & Taxes 1,500 Commission 750 

Trade Expenses 3,600 Provision for Bad Debts 400 

Sales Returns 600 Bills Payable.  2,000 

Salaries 8,200   

Freight on Purchases 1,250   

Bad Debts 300   

Bills Receivable  4,500   

Cash in hand  1,400   

Rs. 1,82,350  1,82,350 

 

  Following adjustment are necessary:  

(a) Closing Stock on 31st December, 2006 was Rs. 12,000. 

 

 

 

 



 77

bdkbZ& 12 
 

xSj O;kikfjd laLFkkvksa esa ys[kkadu xSj O;kikfjd laLFkkvksa esa ys[kkadu xSj O;kikfjd laLFkkvksa esa ys[kkadu xSj O;kikfjd laLFkkvksa esa ys[kkadu     
            (ACCOUNTING IN NON TRADING CONCERNS) 

    
oLrqfu"B iz'u (Objective Type Questions )  

cgqfodYih; iz'u (Multiple choice Question)  

iz'u& 1  uhps dqN dFku ,oa muds lEHkkfor fodYi fn;s x;s gSa A lokZf/kd lgh fodYi 

NkWVdj fyf[k, A 

Given below are the  few statement along with their probable alternatives. 

Choose and write  the most correct alternative: 

1- vk;&O;; [kkrk cuk;k tkrk gSa  & 

(i) daiuh }kjk    (ii)  xSj & O;kikfjd laLFkk }kjk  

(iii)  O;kikfjd laLFkk }kjk  (iv) lk>snkjh QeZ }kjk  

 Income & Expenditure Account is prepared by a: 

 (i) Company    (ii) Non-trading concern 

  (iii) Trading concern  (iv) Partnership Firm.   

2- vk;&O;; [kkrk cuk;k tkrk gS& 

(i) ,dkdh O;kikj }kjk   (ii)  lk>snkjh QeZ }kjk 

(iii)  cSad }kjk    (iv) xSj O;kikjh laLFkk }kjk  

 Income & Expenditure Account is prepared by a: 

 (i) Sole- trader     (ii) Partnership Firm 

  (iii) Bank    (iv) Non - trading concern.  

3- ,d vO;kikfjd laLFkk dk fpV~Bk cukus ls iwoZ  & 

(i) ijh{kk lwph ¼ryiV½ cuk;k tkrk gSa  (ii)  vk; O;; [kkrk cuk;k tkrk gSa A  

(iii)  izkfIr&Hkqxrku [kkrk cuk;k tkrk gS   (iv) ykHk&gkfu [kkrk cuk;k tkrk gSA 

 A non-trading concern prepares before the Balance Sheet: 

 (i) Trial Balance     (ii) Income & Expenditure Account 

  (iii) Receipts and  Payment Account (iv) Profit and Loss Account.  
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4- izkfIr& Hkqxrku [kkrk lkjka'k gS  & 

(i) vk;&O;; [kkrs dk    (ii)  jksdM+ cgh dk 

(iii)  ykHk gkfu [kkrk    (iv) cSad [kkrs dk  

 Receipts and Payments Account is a summary of :  

 (i) Income and Expenditure Account  (ii) Cash Book 

  (iii) Profit & Loss A/c   (iv) Bank Account 

5- vk;&O;; [kkrk cukus dk eq[; mn~ns'; gS  & 

(i) jksdM+ 'ks"k Kkr djuk   (ii)  vkfFkZd fLFkfr Kkr djuk  

(iii)  O;kikj dk Ø; Kkr djuk  (iv) vkf/kD; ;k ?kkVk Kkr djuk A 

 The main object of preparing Income and Expenditure Account is to know: 

 (i) Cash Balance     (ii) Economic Condition 

  (iii) Total Purchase proceeds    (iv) Surplus or Deficit.  

6- xSj & O;kikfjd laLFkkvksa rFkk O;kolkf;d O;fDr ys[kkdeZ dh iz.kkyh viukrs gS  & 

(i) bdgjk ys[kk iz.kkyh    (ii)  nksgjk ys[kk iz.kkyh  

(iii)  fefJr ys[kk iz.kkyh   (iv) jksdM+ ys[kk iz.kkyh  

 Non- trading concerns and Professional adopt the method of accounting:  

 (i) Single Entry System    (ii) Duble entry System  

 (iii) Mixed Method    (iv) Cash System  

7- jksdM+ cgh dk izkjfEHkd 'ks"k fy[kk tkrk gS & 

(i) izkfIr ,oa Hkqxrku [kkrs ds MsfcV i{k esa A 

(ii)  vk;& O;; [kkrs ds MsfcV i{k esa  

(iii)  vk;&O;; [kkrs ds ØsfMV i{k esa  

(iv) ykHk&gkfu [kkrs ds ØsfMV i{k esa A 

 Opening balance of Cash Books in shown: 

 (i) on the debit side of Receipts and Payments Account 

  (ii) on the debit side of Income and Expenditure Account  

  (iii) on the credit side of Receipts and Payments Account 

(iv) on the credit side of Profit & Loss  Account.  
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8- vk;&O;; [kkrs esa n'kkZ;k tkrk gS & 

(i) iwWthxr Hkqxrku    (ii)  iwWthxr vk; 

(iii)  vk;xr ensa      (iv) iwWthxr gkfu;ka 

 In Income & Expenditure Account is shown: 

 (i) Capital Expenditure     (ii) Capital Income  

  (iii) Revenue Items    (iv) Capital Losses.  

9- izkfIr ,oa Hkqxrku [kkrs esa fy[kk tkrk gS & 

(i) m/kkj O;ogkjksa dks     (ii)  laLFkk ds jksdM+h O;ogkjksa dk  
(iii)  m/kkj  rFkk udn O;ogkjksa dks   (iv) lek;kstu ls lacaf/kr O;ogkjksa dks   

 In Receipts and Payments Account are recorded:  

 (i) Credit transactions     (ii) Cash transactions of organization  

  (iii) Credit and Cash transactions  (iv) Transactions relating to adjustments. 

10- ,d 'kS{kf.kd laLFkk viuk izfr o"kZ rS;kj djrh gS   & 

(i) O;kikj [kkrk     (ii)  vk;&O;; [kkrk A  

 (iii)  fuekZ.k [kkrk      (iv)  ykHk&gkfu [kkrk  

 An educational institution every year prepares its: 

 (i) Trading Account     (ii) Income & Expenditure Account.  

  (iii) Manufacturing Account  (iv) Profit & Loss Account  

iz'u& 2  uhps lewg ^v* rFkk lewg ^c* dh enksa dk lgh feyku dhft, & 

 lewg ^v*  lewg ^c* 

¼1½ ds fo|ky;] /kkfeZd laLFkk,W] iqLrdky;] 
fpfdRlky;] vkfn }kjk 

(a) ykHk dekuk mn~ns'; ugha gksrk A 

¼2½ vk;&O;; [kkrk  (b) izkfIr ,oa Hkqxrku [kkrs ds ØsfMV i{k esa 
lcls vUr esa A 

¼3½ xSj&O;kikfjd laLFkkvksa ,oa O;kolkf;d 
O;fDr;ksa dk  

(c) izkjfEHkd lEifRr;kW _.k izkjfEHkd nkf;Ro 

¼4½ izkfIr & Hkqxrku [kkrk  (d) ykHk&gkfu [kkrs ds ln'̀; gksrk gS A 

¼5½ vfUre jksdM+ 'ks"k  (e) vk;&O;; [kkrk rS;kj fd;k tkrk gSa A  

¼6½ iwWth dks"k  (f) MsfcV i{k dh vksj loZizFke izkjfEHkd jksdM+ 
ckdh fy[kh tkrh gSa a 
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 Group 'A'  Group 'B' 

(1) Closing Cash Balance (a) is not the aim to earn Profit. 

(2) Income and Expenditure Account  (b) in Receipts and Payments Account last 
of all. 

(3) Non-trading concerns and Professional 
Persons  

(c) Opening Assets minus Opening 
Liabilities.  

(4) School, Religious institutions, Library, 
Hospitals, etc.  

(d) similar to Profit & Loss Account.  

(5) In Receipts and Payments Account  (e) Income & Expenditure Account is 
prepared.  

(6) Capital Fund  (f) on the debit side first of all cash at the 
beginning is written.  

 

iz'u& 3  fjDr LFkku iwfrZ lEcU/kh iz'u (Fill in the Blanks) 

uhps fn;s x;s okD;ksa esa mi;qDr 'kCnksa }kjk iwfrZ dhft, & 

In the sentences given below fill up the blanks with suitable word or words: 

1- vk;&O;; [kkrs ds lkFk ------------- Hkh rS;kj fd;k tkrk gSa A 

Alongwith Income and Expenditure Account ...............is also perpared.  

The aim of ................. and ................ is not to earn profits.  

2- xSj&O;kikfjd laLFkk,W ,oa O;kolkf;d O;fDr vFkok fglkc ----------- ij j[krs gSa  

Non-trading concerns and professional persons keep their accounts on ................ 

3- -------------------- jksdM+ cgh dk lkjka'k gksrk gSa A 

................. in the summary of Cash Book. 

4- izkfIr ,oa Hkqxrku [kkrk ----------- dk lkjka'k gksrk gSa A 

Receipt and Payment Account is a summary of .............. 

5- vk;&O;; [kkrk laLFkk dh ------------ vFkok ----------- n'kkZrk gSa A 

Income and Expenditure Account shows the .............. or .............. 

6- izkfIr ,oa Hkqxrku [kkrs esa ----------- enksa dks fy[kk tkrk gSa A 

In Receipts and Payments Account ................. the items are recorded.  

7- vk;&O;; [kkrk ------------- dh lgk;rk ls rS;kj fd;k tkrk gSa A 

Income and Expenditure Account is prepared with the help of .......... 

8- -------------------- ,oa ------------------- dk mn~ns'; ykHk dekuk ugha gksrk A  
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iz'u& 4  y?kq mRrjh; iz'u @ nh?kZmRrjh; iz'u ¼ 4] 5,oa 6 vad okys ½ 

    Short Answer & long answer Questions 4, 5 & 6 marks)   

1- izkfIr ,oa Hkqxrku [kkrs esa fdu enksa dks n'kkZ;k tkrk gSa \ 

What items are shown in Receipts and Payments Account ? 

2- vk;&O;; [kkrksa esa fdu enksa dks n'kkZ;k tkrk gS \ 

What items are shown in Income and Expenditure Account ? 

3- iwWth dks"k dSls Kkr fd;k tkrk gS \ 

How is Capital Fund ascertained ? 

4- xSj & O;kikfjd laLFkkvksa ,oa O;kolkf;d O;fDr;ksa ls vkidk D;k vk'k; gSa \ la{ksi esa 

mnkgj.k nsdj fyf[k, A 

What do you mean by Non-trading Concerns and Professionals? Explain in brief with 

examples.  

5- xSj & O;kikfjd laLFkkvksa ,oa is'ksoj O;fDr viuk fglkc fdl i)fr ij j[krs gSa \ vkSj 

D;ksa \ la{ksi esa le>kb, A 

On what system the non-trading concerns and professionals keep their accounts and 

why ? Explain in brief. 

6- izkfIr ,oa Hkqxrku [kkrk D;k gSa \ vkSj ;g jksdM+ [kkrs ls fdl izdkj fHkUu gSa A 

What is Receipts and Payments Account ? and how does it differ from Cash Account ? 

7- izkfIr ,oa Hkqxrku [kkrk cukrs le; fdu&fdu ckrksa dk /;ku j[kuk pkfg, \¼dksbZ ikWp 

fcUnq 70 'kCnksa esa ½ 

What points should be kept in mind while preparing the Receipts and Payments 

Account ? (Any five points in 70 words.) 

8- ^^izkfIr&Hkqxrku [kkrk fdlh laLFkk dk vkfFkZd fLFkfr dk |ksrd ugh gSaA** 60 'kCnksa esa 

o.kZu djksa A 

"Receipts & Payments Account does not show the economic status for non-trading 

institution" Describe in about 60 words.) 
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9- vk;&O;; [kkrk fdls dgrs gS\ bl [kkrs dks dkSu rS;kj djrk gSa \ 

What is Income and Expenditure Account ? Who prepares this Account? 

10- izkfIr&Hkqxrku ,oa vk;&O;; [kkrs dk vUrj Li"V dhft, ¼dksbZ ikap½ 

Distinguish between Receipts and Payments Account and Income and Expenditure 

Account. (Any five) 

11- xSj&O;kikfjd laLFkk,W viuk fglkc ys[kkdeZ dh jksdM+ iz.kkyh ij D;ksa j[krh gSa \ ikWp 

dkj.k fyf[k, A 

Why do non-trading concerns maintain their books of accounts according to Cash 

System of Book-Keeping ? Mention any five reasons.  

12- izkfIr& Hkqxrku [kkrs dks vk;&O;; [kkrs esa fdl izdkj ifjofrZr djsaxs \ 

How is Receipts and Payments Account converted into Income and Expenditure 

Account?  

13- vkxe&'kks/ku [kkrk cukus ds mn~ns'; la{ksi esa le>kb, \ 

Explain in brief the objectives to prepare Receipt and Payments Account?  

14- xSj O;kikfjd laLFkk,W ,oa O;kolkf;d O;fDr izk;% dksu&dkSu lh fglkc dh iqLrdsa vius 

;gka j[krs gSa \ la{ksi esa le>kb, A 

What account books are oftenly kept by the non-trading concerns and professionals ? 

Explain in brief.  

15- izkfIr ,oa Hkqxrku [kkrk rFkk vk;&O;; [kkrs dh rqyuk dhft, A ,d izkfir ,oa Hkqxrku 

[kkrk dks mlh vof/k ds fy, vk;&O;; [kkrk esa ifjofrZr djus ds fy, dkSu&dkSu ls 

lek;kstu djus iM+rs gSa \ 

Compare Receipts and Payments Account and income and Expenditure Account. What 

adjustments are made while converting Receipts and Payments Account into Income & 

Expenditure Account of the same period ? 

16- ,d Dyc dk vk;&O;; [kkrk rFkk fpV~Bk cukrs le; vki fuEufyf[kr ds laca/k esa d;k 

O;ogkj djsaxs & 

(i) izos'k 'kqYd (ii)  mRrj&nku (iii)  vkthou lnL;rk 'kqYd  

(iv) Hkou dks"k esa izkIr nku]   (v) iqjkuh lEifRr;ksa dk foØ;  
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How would you deal with the following while preparing Income & Expenditure 

Account and Balance Sheet? 

(i) Entry Fee (ii) Legacy (iii) Life Membership Fee 

(iv) Donations received in Building Fund  (v)  Sale of old Assets.  

 17- vkxe&'kks/ku [kkrs ,oa vk;&O;; [kkrs esa D;k vUrj gSa \ budk iz;ksx dgkW fd;k tkrk  

gSa \ 

What are the difference between Receipts and Payments Account and Income and 

Expenditure Account ? Where are they used ?  

18- ,d iqLrdky; ds ys[ks esa fuEufyf[kr lwpuk,W gSa & jksdM+ ckdh 1 tuojh] 2006 dks 

3]090 :-] izos'k 'kqYd izkIr 2006 esa 500 :0] pUnk izkIr 2006 dk 900 :] pUnk izkIr 

2005 dk 2006 esa 100 :- A  o"kZ 2006 esa fdjk;k fn;k 50 :] iqLrdksa dk Ø; 1]000 

:] eSxthu o v[kckj dk Ø; 500 :] dkxt vkfn dk Ø; 10 :-] fofo/k O;; 10 :-] 

osru 100 :-A o"kZ 2006 ds fy, iqLrdky; dk vkxe rFkk 'kks/ku [kkrk cukb, A  

The following is the information in the accounts of a library- Cash Balance 1st January, 

2006 Rs. 3,000, entry Fee received in 2006 Rs. 500, Subscription received for 2006 Rs. 

900, Subscription received for 2005 in 2006 Rs. 100. In 2006 rent paid Rs. 50,  

Purchase of paper etc. Rs. 10,  Sundry Expenses Rs. 10, Salaries Rs. 100, Prepare 

Receipts and Payments Account of the Library for the year 2006.  

19- 1 tuojh] 2006 dks ^f=osuh Dyc* dk izkjfEHkd 'ks"k 1]000 :- Fkk A 31 fnlEcj 2006 

dks lekIr gksus okys o"kZ esa fuEu O;ogkj gq, A  

 pkyw o"kZ dk pUnk izkir 38]000 :-] vkxkeh o"kZ dk pUnk izkIr 2]000 :-] vkthou 

lnL;rk 'kqYd 5]000 :-] nku izkIr 3]400:-] izos'k 'kqYd 3]350 :-] fofu;ksx fd;k 

28]000 :-] miLdj [kjhnk 3]400 :-] [ksy dk lkeku Ø; 3]500 :-] lkekU; O;; 

3]600 :-] osru fn;k 4]000 :-] LVs'kujh [kjhnh 2]250 :-] ejEer O;; 550 :-] cSad 

esa tek fd;k 4]050 :-] vnRr O;; 300 :-] miLdj ij ál 10% A 

 mi;qZDr fooj.k ls 31 fnlEcj] 2006 dks lekIr gksus okys o"kZ dk izkfIr ,oa Hkqxrku [kkrk 

rS;kj dhft, A  
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On 1st January, 2006, the opening balance of "Triveni  Club" was Rs. 1,000. The 

following transactions were held for the year ended 31st December, 2006.  

Subscription received for the current year Rs. 38,000, Subscription received for the next 

year Rs. 2,000, Life Membership Fee Rs. 5,000, donations received Rs,. 3,400, Entry 

Fee Rs. 3,350,  Investments Rs. 28,000, Purchased furniture Rs. 3,400, Purchase fo 

sports materials Rs. 3,500, General Expenses Rs. 3,600, Paid Salary Rs. 4,000, 

Purchased stationery Rs. 2,250, Repairing Expenses Rs. 550, Deposited into bank Rs. 

4050, Outstanding Expenses Rs. 300, Depreciation on furniture 10%.  

From the above particulars prepare Receipts and Payments Account for the year ended 

31st December, 2006.  

20- fuEu fooj.k ls 31 fnlEcj 2006 dks lekIr gksus okys o"kZ dk ^^vxzoky Dyc*] Xokfy;j 
dk izkfIr&Hkqxrku [kkrk rS;kj dhft, & 

 1 tuojh] 2006 dks jksdM+ 'ks"k 8]780 :-] pUnk izkIr & xr o"kZ dk 1]200 :-] vkxkeh 

o"kZ dk 8]000 :-] rFkk pkyw o"kZ dk 66]000 := nku 16]000 :- izos'k 'kqYd 8]600 :-] 

Dyc ds Hkou ls izkIr fdjk;k 10]500 :- ] fo|qr O;; 6]880 :-] osru 33]000 :-] 

pkyw o"kZ dk rFkk vfxze osru 10]000 :-] lfpo dks ekuns;  (Honorarium) 5]000:-] 

fofu;ksxsa ij izkIr C;kt 5]900 :- eqnz.k ,oa ys[ku&lkexzh 700 :-] [kqnjk jksdM+ Hkqxrku 

1]800 :-] chek 'kqYd 620 :- A 

 Dyc ds Hkou dk fdjk;k 3]470 :- mikftZr gS tks izkIr ugh gqvk gS A eqnz.k ,oa ys[ku 

lkexzh vnRr 250 :- gSa A 

From the information given below prepare Receipt and Payment Account of 'Agrawal 

Club' Gwalior, for the year ended 31 st December, 2006. 

Cash Balance as on 1st January, 2006 Rs. 8,780, Subscription received- Last year's Rs. 

1,200. Next years Rs. 8,000 and for the Current year Rs. 66,000.  Donation Rs. 16,000, 

entrance Fees Rs. 8,600, Rent realised from Club Hall Rs. 10,500, Electric Charges Rs. 

6,880, Salary Rs. 33,000 for the current year and advance salary Rs, 10,000, 

Honorarium to Secretary Rs. 5,000, Interest received on Investments Rs. 5,900, Printing 

and Stationery Rs. 700, petty Cash Payment Rs. 1,800, Insurance Premium Rs. 620.  

Rent of Club Hall Rs. 3,470 is earned but not received, Printing and Stationery of 250 is 

outstanding.  
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21- vk;& O;; [kkrk cukuk  

31 fnlEcj] 2005 dks lekIr gksus okys o"kZ ds fy, Kku Dyc dk vkxe- 'kks/ku [kkrk 

fuEukfdar gSa &  

 :-  :- 

'ks"k 1 tuojh] 2005 
pUnsa % 2004 
      2005 
      2006 
izos'k 'kqYd  
ykWdj dk fdjk;k 
jkT;iky dh ikVhZ ds fy,  
fo'ks"k pUnk  
                       

300 
200 

16]900 
300 
350 
500 

 
3]450 

fdjk;k 
ys[ku&lkexzh O;; vkfn 
etnwjh 
fcfy;MZ dh est 
ejEer ] vkfn 
C;kt 
'ks"k 31 fnlEcj] 2005  

5]000 
3]068 
5]330 
5]900 
806 

1]500 
396 

::::----    22]00022]00022]00022]000    ::::----    22]00022]00022]00022]000    

 

ykWdj dk fdjk;k 60 :- 2004 ds fy, gS rFkk 90 :- vHkh Hkh ysuk 'ks"k gS A fdjk;s esa 
1]300 :- 2004 ds gS rFkk 1]300 :- vHkh Hkh nsuk 'ks"k gS] ys[ku & lkexzh dk O;; 312 
:- 2004 ds fy, gSa rFkk 364 :- vHkh Hkh nsuk ckdh gSa a 2005 ds fy, vnRr pUns 468 
:0] jkT;iky dh ikVhZ ds fo'ks"k pUns dk 350 :- feyuk 'ks"k gSa A  
mi;qZDr lwpuk ls vk;&O;; [kkrk cukb, A  

Receipts and Payments Account of 'Gyan Club' for the year ended on 31st December, 
2005 is as follows:  
 Rs.  Rs. 
To Balance b/d (1-1-2005) 
to Subscriptions: 
     2004 
    2005 
    2006 
To Entry Fee 
To locker's Rent  
To Special Gbuscription  
for Governor's Party.  

300 
 

200 
16,900 

300 
350 
500 

 
3,450 

By Rent 
By Printing & Stationery 
By Wages 
By Billiard Table 
By Repairs, etc. 
By Interest 
By Balance c/d (31-12-2005)  

5,000 
3,068 
5,330 
5,900 

806 
1,500 

396 

Rs. 22,000 Rs. 22,000 
Locker's Rent Rs. 60 is for 2004 and Rs. 90 are still due to be received. REnt includes 
Rs. 1,300 for 2004 and Rs. 1,300 are still outstanding, Printing and Stationery Expenses 
Rs. 312 are for 2004 and Rs. 364 are still outstanding. Outstanding subscription for 
2005  is Rs. 468. Special subscription for Governor's party is outstanding Rs. 350. 
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bdkbZ& 13bdkbZ& 13bdkbZ& 13bdkbZ& 13    
    

viw.kZ ys[kksa ls [kkrs cukuk viw.kZ ys[kksa ls [kkrs cukuk viw.kZ ys[kksa ls [kkrs cukuk viw.kZ ys[kksa ls [kkrs cukuk     
(ACCOUNTS FROM INCOMPLETE RECORDS) 

    
oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u oLrqfu"B iz'u (Objective Type Questions) 

 

1- fuEu dFkuksa dk lgh fodYi pqfu, % 

 (i) lEifRr;ksa dk nkf;Roksa ij vkf/kD; dgykrk gS  

  ¼v½ ysunkjh  ¼c½ ykHk ¼l½ iwWth ¼n½ [;kfr  

 (ii) ,dkaxh izfof"V iz.kkyh esa ykHk fudkyrs le; vkgj.k dh jkf'k tksM+h tkrh gSaA 

  ¼v½ vfUre iwWth esa   ¼c½ izkjfEHkd iwWth esa  

 ¼l½ fdlh Hkh iwWth esa ugh A  

(iii)  ,dkaxh izfof"V iz.kkyh esa ykHk fudkyrs le; vfrfjDr iwWth dh jkf'k dks ?kV;k 

tkrk gSa A  

  ¼v½ vfUre iwWth esa   ¼c½ izkjfEHkd iwWth esa  

 ¼l½ fdlh Hkh iwWth esa ugh A  

 Select the correct alternative of the following statements: 

(i) Excess of assets over liabilities is called:  

(a) Creditor (b)   Profit (c)   Capital  (d)   Goodwill. 

(ii) Amount of Drawings is added at the time of finding out profit in single entry 

system:  

 (a) In closing capital  (b) in opening  capital  

 (c) not in any capital.  

(iii) The amount of additional capital is deducted at the time of finding out profit in 

Single Entry System: 

 (a) from closing capital  (b) from opening  capital  

 (c) not from any capital.  



 87

2- ,dkaxh izfof"V iz.kkyh esa fuEukafdr ys[ks gksrs gs] lgh mRrj nhft,% 

 ¼v½ dsoy jksdM+ iqLrd esa   

¼c½ [kkrkcgh esa dsoy O;fDrxr [kkrksa dk ys[kk  

¼l½ jksdM+ iqLrd esa ys[ks rFkk [kkrkcgh esa dsoy O;fDrxr [kkrksa ds ys[ksa A 

Following records are made in single entry system, give correct answer: 

(a) Only in cash book  

(b) In ledger, posting of personal accounts only 

(c) Records in cash book and posting of only personal accounts in ledger.  

3- crkb, fuEufyf[kr dFku lR; gS ;k vlR;% 

 ¼v½ lEifRr;ksa dk nkf;Roksa ij vkf/kD; iWwth dgykrk gSa A 

¼c½ ,dkaxh izfof"V iz.kkyh esa ykHk fudkyus ds fy, vafUre iWwth esa ls izkjfEHkd iwWth 

?kVk;h tkrh gSa A 

¼l½ ,dkaxh izfof"V iz.kkyh esa ykHk fudkyus ds fy, vfUre iwWth esa ls vkgj.k ?kVk;s 

tkrs gSa A 

State whether following statement are true or false: 

(a) Excess of assets on liabilities is called capital. 

(b) For finding out profit in single entry system, opening capital is deducted from 

closing capital  

(c) For finding out profit in single entry system drawings are deducted from closing 

capital.  

4- lgh mRrj nhft,% 

 iqLrikyu dh ,dy izfof"V iz.kkyh dk vk'k; gSa % 

¼v½ izR;sd O;ogkj dh dsoy ,d izfof"V   

¼c½ viw.kZ f}&izfof"V iz.kkyh 

¼l½ nksuksa izfof"V;kW dsoy [kkrk esa A 
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Give correct answer: 

Meaning of single entry system of book keeping is: 

(a) Only one entry for each transaction   

(b) Incomplete double entry system. 

(c) Both entries only in accounts.  

5- lgh mRrj nhft,% 

 ,dkaxh izfof"V iz.kkyh fglkc&fdrkc dh% 

¼v½ loksZRre iz.kkyh gSa    ¼c½ oSKkfud iz.kkyh gSa A 

¼l½ viw.kZ iz.kkyh gSa A   ¼n½ lokZf/kd yksdfiz; iz.kkyh gSaA 

Give correct answer: 

Single entry system of book keeping system: 

(a) is best system   (b) is scientific  

(c) in incomplete system  (d) is most popular system.  

6- nkf;Ro ,oa lEifRr;kW Øe'k% 87]000:- ,oa 92]000 :- gS A vUrj dh jkf'k gksxh% 

¼v½ ysunkj   ¼c½ _.k i=  ¼l½ ykHk   

¼n½ iwWth    ¼;½ buesa ls dksbZ ugh A 

Liabilities and assets respectively are Rs. 87,000 and Rs. 92,000.  

(a) Creditors   (b) Debentures   (c) Profit 

(d) Capital   (e) None out of these.  

7- lgh fodYi pqudj viuh mRrj iqfLrdk esa fyf[k, % 

 izkjfEHkd ,oa vfUre iwWth Kkr djus ds fy, fLFkfr fooj.k cuk;s tkrs gSa % 

¼v½ pkj  ¼c½ nks  ¼l½ ,d 

Choose the correct alternative and write in your answer book: 

To find out the opening and closing capitals, statement of affairs are prepared:  

(a) Four  (b) Two  (c) One 
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8- lR; @ vlR; crkb;s & 

¼v½ foØ; ogh ls nsunkjksa ds [kkrksa esa iksfLVax dh tkrh gS ijUrq fcØh [kkrk ugh [kksyk 

tkrk gSa A   

¼c½ Ø; cgh ds vk/kkj ij ysunkjksa ds [kkrksa esa iksfLVax dh tkrh gSa ijUrq Ø; [kkrk 

ugh [kksyk tkrk gSa A 

¼l½ ,dkaxh izfof"V iz.kkyh esa dqN lkSnksa ds nksuksa :i] dqN ds ,d :i vkSj dqN lkSnksa ds 

fdlh Hkh :i dk ys[kk ugh fd;k tkrk gS A 

(a) Debtors Accounts are posted on the basis of Sales Book, but sales account is not 

opened. 

(b) Creditors accounts are posted on the basis of purchases book but purchases 

account is not opened.  

(c) In single entry, both the aspects of some transactions, one aspect of some 

transactions and no aspect of some transactions are recorded.  

9- fuEukafdr ds mRrj ^gkW* ;k ^uk* esa nhft, A 

¼v½ D;k ,dkaxh iz.kkyh esa ykHk dHkh&dHkh fLFkfr fooj.k cukdj fudkyk tkrk gS\ 

¼c½ D;k ,dkaxh iz.kkyh esa dHkh&dHkh iwWth fooj.k cukdj Hkh ykHk fudkyk tkrk gSa\ 

¼l½ D;k ,dkaxh iz.kkyh dks nksgjk ys[kk iz.kkyh eas cnyk tk ldrk gS \ 

Answer the following in 'Yes' or 'No': 

(a) Is profit in single entry system in found out sometimes by preparing statement of 

affairs?   

(b) Is sometime profit in single entry system is found out by preparing capital 

statement? 

(c) Can single entry system be converted into Double entry system? 
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y?kqmRrjh; iz'u y?kqmRrjh; iz'u y?kqmRrjh; iz'u y?kqmRrjh; iz'u (Short Answer Questions) 

1- ,dkaxh izfof"V iz.kkyh ,oa nksgjk ys[kk iz.kkyh dk vUrj Li"V dhft, A 

 Differentiate between Single Entry System and Double Entry System.  

2- bdgjk ys[kk i)fr dh eq[; fo'ks"krkvksa dk o.kZu dhft, A 

 Describe the chief characteristics of Single Entry System.  

3- ,dy izfo"V iz.kkyh esa 'kq) ewY; (net worth) esa ifjorZu ls ykHk&gkfu dh x.kuk dSls dh 

tkrh gSa \ 

 How is profit or loss is determined by conversion in net worth under single entry 

system.   

4- mRrj 80 'kCnksa esa fyf[k, % 

 ,dkaxh izfo"V iz.kkyh dks nksgjk ys[kk iz.kkyh esa fdl izdkj cnyk tk ldrk gS\ 

 Write answer in 80 words: 

 How can Single Entry System be converted in Double Entry system.  

nh?kZ mRrjh; iz'u nh?kZ mRrjh; iz'u nh?kZ mRrjh; iz'u nh?kZ mRrjh; iz'u (Long Answer Questions) 

1- bdgjk ys[kk i)fr D;k gS\ blds D;k nks"k gS\ bdgjk ys[kk i)fr dks nksgjk ys[kk i)fr 

esa dSls cnyk tk ldrk gSa \ 

 What is single entry system? What are its disadvantages? How can it be converted in to 

double entry system? 

2- iqLrikyu dh viw.kZ ys[kk iz.kkyh D;k gS \ blds xq.k o nks"k le>kb, A 

 What is Single Entry System of book keeping? Explain its advantages and 

disadvantages.  

3- ,dkaxh izfof"V iz.kkyh fglkc&fdrkc j[kus dh ,d voSKkfud] viw.kZ vkSj nks"kiw.kZ iz.kkyh 

gSa A bl dFku dks Li"V dfj, rFkk bl iz.kkyh ,oa nksgjk ys[kk iz.kkyh esa vUrj dhft, A 

 Single Entry System of Book-keeping is unscientific, incomplete and defective. Explain 

this statement and point out the difference between this system and double entry 

system. 
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iz'u 4- fuEukafdr lwpuk ls ¼ykHk ;k gkfu ½ dh x.kuk dfj,%  

 O;olk;h v 
:- 

O;olk;h c 
:- 

2006 ds izkjEHk esa izkjfEHkd iwWth  40,000 50,000 

bl o"kZ ds vkgj.k  10,000 15,000 

bl o"kZ esa iwWth dh o`f);kW  30,000 25,000 

iWwth o"kZ ds vUr esa  70,000 30,000 

 

  Find out Profit or Loss from the following information:  

 Businessman 
A 

Rs. 

Businessman 
B 

Rs. 
Opening Capital in the beginning of  2006 40,000 50,000 

Drawings of this year  10,000 15,000 

Additions to capital during this year  30,000 25,000 

Closing capital at the end of this year 70,000 30,000 

 

iz'u 5- t; viuh iqLrdsa ,dkaxh izfofZ"V iz.kkyh }kjk j[krk gS A 1 tuojh 2006 dks mldh 

fLFkfr fuEu izdkj Fkh a 

  jksdM gkFk esa 200 :-] jksdM+ cSad esa 3]000 :-] O;kikfjd LVkWd 20]000 

:-] fofo/k nsunkj 8]500 :- fQDlplZ 1]800 :-] e'khujh 15]000 :- fofo/k 

ysunkj 22]000 :- o"kZ esa t; us 5]000 :- iwath ds :i esa vkSj yxk;s rFkk izfr 

ekg 750 :- vkgj.k Hkh fd;k A  

  31 fnlEcj] 2006 dks mldh fLFkfr bl izdkj Fkh % 

  jksdM gkFk esa 300 :-] jksdM+ cSad esa 2]000 :-] fofo/k nsunkj 14]000 :- 

O;kikfjd jgfr;k 19]000 :-] e'khujh 27]000 :- fQDlplZ 1]500 :-] fofo/k 

ysunkj 29]000 :- A 

mi;qZDr lwpuk ls ykHk gkfu Kkr djus gsrq 31 fnlEcj 2006 dk lekIr 

gksus okys o"kZ ds fy, ,d fooj.k i= cukb, A 
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Jay keeps his books according to Single Entry System. His position on 1st 

January, 2006 was as under: 

Cash in hand Rs. 200, Cash at bank Rs. 3,00, Stock in trade Rs. 20,000, 

Sundry Debtors Rs. 8,500. Fixtures Rs. 1,800, machinery Rs. 15,000, Sundry 

Creditors Rs. 22,000, Additions to Capital during the year be Jay Rs. 5,000, Jay 

withdrew Rs. 750pm. 

His position on 31st December, 2006 was as under: 

Cash in hand Rs. 300, Cash at Bank Rs. 2,000, Sundry Debtors Rs. 

14,000, Stock in trade Rs. 19,000, Machinery Rs. 27,000, Fixtures Rs. 1,500, 

Sundry Creditors Rs. 29,000.  

Prepare a Statement showing profit for the year ending 31st December, 

2006. 

  

iz'u&5- 1 tuojh 2006 dks ,d O;kikjh dh fLFkfr tks nksgjs ys[ks dh iz.kkyh ds vuqlkj 

iqLrdsa ugh j[krk gS] fuEu izdkj Fkh % jksdM+ gkFk esa 300 :-] cSad esa jksdM+ 5]500 

:-] LVkWd 5]600 :-] nsunkj 3]457 :-] QuhZpj 200 :-] fofo/k ysunkj 4]057 

:- A 

 31 fnlEcj] 2006 dks mudh fLFkfr fuEu izdkj Fkh % jksdM+ gkFk esa 380 :-] jksdM+ 

cSad esa 2]400 :-] LVkWd 4]680 :-] nsunkj 4]620 :-] QuhZpj 250 :-] ysunkj 

3]000 :- A 

 mlus 2 tuojh] 2006 dks O;olk; esa ls 6]500 :- fudkys] ftlesa ls 5]600 :- 

mlus O;olk; ds fy, eksVj Vªd [kjhnus esa [kpZ fd;s A 

 fuEu dks fopkj esa ysus ds ckn 2006 o"kZ ds fy, O;kikjh dk ykHk ekywe dhft, 

vkSj 31-12-2006 dks mldk fpV~Bk cukb;sa %  ¼v½ QuhZpj o eksVj Vªd ij âkl 

10%; ¼ c½ 120 :- Mwcr _.k ds vifyf[kr dfj, rFkk ¼l½ Mwcr vkSj lafnX/k _.kksa 

ds fy, nsunkjksa ij 5% izkWo/kku dfj, A 

On 1st Jan., 2006 the financial position of a businessman, who does not keep his 

books according to double entry, was as follows: Cash in hand Rs. 300, Cash at 
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Bank Rs. 5,500, Stock Rs. 5,600, Debtors Rs. 3,457, Furniture Rs. 200, Sundry 

Creditors Rs. 4,057. 

His financial position on 31st Dec. 2006 was as follows: Cash in hand Rs. 380, 

Cash at Bank Rs. 2,400, Stock Rs; 4,680, Debtors Rs. 4,620, Furniture Rs. 250, 

Creditors Rs. 3,000. 

On 2nd Jan. 2006 he withdrew from Business Rs. 6,500 out of which he spent 

Rs. 5,600 on purchase of a truck for business. 

find out profit of the businessman for the year 2006 and prepare his Balance 

Sheet  as at 31st Dec. 2006 after taking into consideration the following: (a) 

Depreciate furniture and motor truck @ 10% , (b) Write off Rs. 120 for bad 

debts, (c) Make a provision of 5% for bad and doubtful debts on debtors.  
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bdkbZ& 14bdkbZ& 14bdkbZ& 14bdkbZ& 14    
    

Hkkjrh; ys[kk iz.kkyh  Hkkjrh; ys[kk iz.kkyh  Hkkjrh; ys[kk iz.kkyh  Hkkjrh; ys[kk iz.kkyh      
(Indian System of Accounts ) 

    
oLrqfu"B iz'u (Objective Type Questions )  

cgqfodYih; iz'u (Multiple choice Question)  

fuEu  dqN dFku ,oa muds lEHkkfor fodYi fn;s x;s gSa A lokZf/kd lgh fodYi NkWVdj fyf[k, A 

A few statement and their alternatives are given below. Correct the most correct alternative: 

1- egktuh i)fr esa m/kkj Ø; fy[kk tkrk gS & 

(i) tkdM+ cgh esa A   (ii)  uke udy cgh esa 

(iii)  cUn cgh esa      (iv) tek udy cgh esa   

 In Mahajani System the credit purchases are recorded in:  

 (i) Jakar Bahi    (ii) Nam Nakal Bahi 

(iii) Band Bahi    (iv) Jama Nakal Bahi  

2- egktuh i)fr ls m/kkj foØ; dk ys[kk fd;k tkrk gSa & 

(i) dPph jksdM+ cgh esa    (ii)  iDdh jksdM+ cgh esa 

(iii)  uke udy cgh esa     (iv) tek udy cgh esa  

In Mahajani System of Account' credit sales are entered into: 

 (i) Kachchi Rokar Bahi   (ii) Pakki Rokar Bahi 

(iii) Nam Nakal Bahi     (iv) Jama Nakal Bahi 

3- iDdh jksdM+ cgh esa O;ogkj fy[ks tkrs gS  & 

(i) dPph jksdM+ cgh ls      (ii)  tek udy cgh ls    

(iii) cUn cgh ls    (iv)  uke udy cgh ls  

The transactions in Pakki Rokar Bahi are recorded from:  

 (i) Kachchi Rokar Bahi   (ii) Jama Nakal Bahi  

 (iii) Band Bahi    (iv) Nam Nakal Bahi. 

4- uke cgh dk mi;ksx ys[kk djus ds fy, fd;k tkrk gS & 

(i) jksdM+ foØ;  (ii)  m/kkj foØ; (iii)  m/kkj Ø; (iv) jksdM+ Ø; 
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Nam Nakal Bahi is used for entering: 

(i) Cash sales   (ii) Credit sales  

(iii)   Credit purchases  (iv) Cash purchases.  

5- [kkrk tks tek udy cgh esa tek fd;k tkrk gS og gSs & 

(i) foØsrk dk [kkrk    (ii)  Øsrk dk [kkrk 

(iii)  eky [kkrk     (iv) jksdM+ [kkrk  

The account credited in Jama Nakal Bahi is: 

(i) Seller's A/c  (ii) Purchaser's A/c (iii) Goods A/c  (iv) Cash A/c  

6- fof/k feyku ls rkRi;Z gS & 

(i) jksdM+ cgh dk cSad ikl cqd ls feyku djuk A  

(ii)  dPph jksdM+ cgh o iDdh jksdM+ cgh dk ijLij feyku djuk 

(iii)  jksdM+ cgh dh ckdh o okLrfod jksdM+ dk feyku djuk  

(iv)     jksdM+ cgh dh ckdh fudkyuk  

'Vidhi' Milana means: 

(i) to reconcile the Cash Book with the Bank Pass Book.  

(ii) to tally the Kachchi Rokar Bahi with the Pakki Rokar Bahi 

(iii)  to tally the balance of Kachchi Rokar Bahi with the balance of actual cash of the  

(iv) to balance the cash book 

7- m/kkj Ø; fy[kk tkrk gS & 

(i) uke udy cgh esa   (ii)  tek udy cgh esa 

(iii)  tkdM+ cgh esa      (iv) jksdM+ cgh esa A  

Credit purchase is recorded in:  

(i) Nam Nakal Bahi    (ii) Jama nakal Bahi 

(iii) Jadad Bahi    (iv) in Rokar Bahi 

8- uke udy cgh esa lysa gksrh gSa & 

(i) pkj  (ii)  ikWp  (iii)  N%  (iv) vkB 
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The folds in Nam Nakal Bahi are: 

(i) Four  (ii) Five  (iii) Six     (iv) Eight 

(B) tksM+h cukus laca/kh iz'u (Matching )  

1. uhps lwph ^v* dh enksa dk mi;qDr :i ls feyku lwph ^c* dh enksa ls dhft, & 

  lwph  ^^v** lwph ^^c** 

1- ,d ls O;ogkjksa dk ys[kk ,df=r 

djds fy[kk tkuk 

(a) cUn cgh  

2- eky ds m/kkj Ø; dk ys[kk  (b) N% ly 

3- udy cfg;ka  (c) iDdh jksdM+ cgh  

4- tek o uke i{kksa dk u gksuk  (d) uke udy cgh  

5- dPph jksdM+ cgh rS;kj djus dk L=ksr (e) udy cfg;kW  

6- eky ds m/kkj foØ; dk ys[kk  (f) tek udy cgh  

  

Match the items of group "A" and  'B' correctly:  

Group 'A' Group 'B' 
1. To record all transactions of the same 

nature collectively. 
(a) Band Bahi 

2. Entry of Credit purchase of goods  (b) Six flods 

3. Nakal Bahis  (c) Pakki Rokar Bahi 

4. Non-existence of Jama and Nam 
sides   

(d) Non Nakal Bahi 

5. Source of preparing Kachhi Rokar 
Bahi 

(e) Nakal Bahis  

6. Entry for Credit sale of goods (f) Jama Nakal Bahi  

 

(C) fjDr LFkku iwfrZ lEcU/kh iz'u fjDr LFkku iwfrZ lEcU/kh iz'u fjDr LFkku iwfrZ lEcU/kh iz'u fjDr LFkku iwfrZ lEcU/kh iz'u (Fill in the Blanks)  

 uhps fn;s x;s okD;ksa esa fjDr LFkkuksa dh iwfrZ mi;qZDr 'kCn vFkok 'kCnksa }kjk dhft, A 

In the following sentences fill up the blanks with a suitable word or words:  

1- Hkkjrh; cgh[kkrk iz.kkyh ------------ dh Hkkafr iw.kZ ,oa oSKkfud gSa A 

Indian System of Accounts is complete and scientific like .......... 
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2- dPph jksdM+ cgh esa --------- lys gksrh gSa A 

There are ............... folds in Kachchi Rokar Bahi. 

3- udy cfg;ksa esa ------------ lys gksrh gSa A 

There are .......... folds in Nakal Bahis.  

4- uke udy cgh esa ---------- [kkrk lnSo Åij igyh iafDr esa fy[kk tkrk gSa A 

In nam Nakal Bahi ............ Khata is always written up side on the first line.  

5- tek udy cgh esa eky [kkrs ds lkFk ------------ 'kCn fy[kk tkrk gSa  

In Jama Nakal Bahi along with 'Mal Khata the word ......... is written.  

6- dPph jksdM+ cgh esa NksVs O;kikj esa tgk lkSnksa dh la[;k de gksrh gS ---------------- rFkk ----

---- nksuksa izdkj ds lkSnksa dk ys[kk fd;k tkrk gSa A  

Where the number of transactions is less in Kachchi Rokar Bahi both types of 

transactions ............... and ................ can be recorded.  

7- eky ds m/kkj Ø; dk ys[kk ------------------ esa fd;k tkrk gSa A  

Credit purchase of goods is recorded in ........... 

8- egktuh cgh[kkrk i)fr ds vUrxZr eky ds m/kkj foØ; dk ys[kk --------- esa fd;k tkrk 

gSa A 

In Mahajani system of Account Credit Sales are entered into ............... 

9- dPph jksdM+ cgh ds 'ks"k dk frtksjh esa j[kh xbZ jksdM+ dk feyku djuk ---------- dgykrk 

gSa A 

To tally the balance of Kachchi Rokar Bahi with the actual cash of the day is called ...... 

10- dPph jksdM cgh esa ftl Hkkx esa izR;sd O;ogkj dh jkf'k dk ;ksx fy[kk tkrk gS] dgykrk 

------------- gSa A 

In Kachchi Rokar Bahi the part where the total of the transaction is recorded is 

called....... 

II  nh?kZ mRrjh; iz'u & 5 vad  nh?kZ mRrjh; iz'u & 5 vad  nh?kZ mRrjh; iz'u & 5 vad  nh?kZ mRrjh; iz'u & 5 vad  (Long Answer Questions- 5 marks  )  

izR;sd iz'u dk mRrj 30&40 'kCnksa esa nhft, & 

Answer each question in 30-40 words:  
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1- Hkkjrh; cgh[kkrk i)fr ds vUrxZr iz;qDr fdUgh pkj izkjfEHkd cfg;ksa ds uke fyf[k, A 

Write the names of any four books of original record used in Indian System of 

Accounts.  

2- Hkkjrh; cgh[kkrk i)fr ds yksdfiz;rk ds eq[; dkj.k D;k gS \ 

What are the main causes of the popularity of Indian System of Book-Keeping? 

3- Hkkjrh; cgh[kkrk iz.kkyh dh dksbZ rhu fo'ks"krk,W crkb, A 

State any three characteristics of Indian System of Accounts ? 

4- cUn cgh fdls dgrs gS \ 

What is Band Bahi? 

5- dPph jksdM+ cgh esa fy[kus laca/kh izk:i nhft, A 

Give a form of writing the date in Kachchi Rokar Bahi.  

6- ^^fljk** esa D;k fy[kk tkrk gS\ 

What is written in Sira ? 

7- dPph jksdM+ cgh esa nks dkYifud O;ogkjksa dh izfof"V;kW djds n'kkZb, A 

Show any two imaginery entries in Kachchi Rokar Bahi.  

8- tek udy cgh dk D;k mi;ksx gS\ 

What is the use of Jama Nakal Bahi? 

9- uke udy cgh dk D;k mi;ksx gSa \ 

What is the use of Nam Nakal Bahi? 

10 fof/k feykuk ls D;k rkRi;Z gS\ 

What is Vidhi Milana? 

11- ^cUn cgh* ls D;k vk'k; gSa A la{ksi esa crkb, A 

What do you mean by Band Bahi ? Explain in brief.   

12- dPph jksdM+ cgh fy[kus dh fof/k le>kb, A 

Explain the procedure of writing Kachchi Rokar Bahi.  

13- Hkkjrh; cgh[kkrk iz.kkyh esa ^fof/k feyku* ls vki D;k le>rs gS \ blds ykHk crkb, A 

What do you understand by 'Vidhi Milana' in Indian System of Accounts ? Give its 

advantages.  
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14- tek udy cgh fdls dgrs gS \ 

What is Jama Nakal Bahi? 

15- ^uke udy cgh* dk D;k mi;ksx gS \ la{kse esa crkb, A 

What is the use of  'Nam Nakal Bahi' ? Explain in brief.  

16- Hkkjrh; cgh[kkrk iz.kkyh o vaxzsth cgh[kkrk iz.kkyh esa dksbZ ik¡p lekurk,W crkb, A 

Give any five similarities of Indian System of Accounts and English System of 

Accounts.   

17- dPph jksdM+ cgh rFkk iDdh jksdM+ cgh esa ikWp vUrj crkb, A 

Give any five differences between Kachchi Rokar Bahi and Pakki Rokar Bahi.  

18- tek udy cgh rFkk uke udy cgh esa D;k vUrj gS\ 

What is the difference between Jama Nakal Bahi and Nam Nakal Bahi ? 

19- uke udy cgh esa nks dkYifud ysu&nsu fyf[k, A  

Write in Nam Nakal Bahi any two imaginary transactions.  

20 egktuh i)fr dh dksbZ ikWp fo'ks"krk,W fyf[k, A 

Write any five characteristics of Mahajani System of Book-keeping.  

21 Hkkjrh; cgh[kkrk iz.kkyh dh yksdfiz;rk ds ik¡p dkj.k fyf[k, A 

Point out any five reasons for the popularity of Indian System of Accountancy. 

22 Hkkjrh; cgh[kkrk iz.kkyh ds ik¡p ykHk fyf[k, A 

Write any five advantages of Indian System of Accounts.  

23 jk/kk jeu dks 50 :- dk pSd }kjk Hkqxrku fd;k A jksdM+ cgh esa ys[kk djds fn[kkb, A 

Paid to Radha Raman by cheque Rs. 50. Show by giving an entry in Rokar Bahi.  

24 lqUnj dh jksdM+ cgh esa 1]000 :- dh jksdM+ ckdh Fkh a mlus ghjkyky dks 500 :- m/kkj 

eky cspk rFkk egkohj izlkn ls 1]000 :- dk m/kkj eky [kjhnk A bu ysu nsuksa dks jksdM+ 

cgh esa fn[kkb, A 

In Rokar Bahi of Sunder the Cash balance was of Rs. 1,000. He sold to Hiralal on credit 

the goods worth Rs. 500 and he purchased goods worth Rs. 1,000 from Mahabir Prasad. 

Show these transactions in Rokar Bahi.  
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25- Hkkjrh; cgh[kkrk i)fr ds dksbZ ikWp nks"k crkb, A 

Give any five demerits of Indian System of Accounts.   

26- Hkkjrh; cgh[kkrk iz.kkyh ls vkidk D;k vk'k; gSa \ bldh fo'ks"krk,W la{ksi esa le>kb, A 

What do you mean by Indian System of Accounts ? Explain its characteristics  

27- ^^Hkkjrh; cgh[kkrk iz.kkyh viw.kZ ,oa voSKkfud gSa ** A Li"V dhft, A 

"Indian System of Accounts is incomplete and unscientific Explain.  

28- Hkkjrh; cgh[kkrk iz.kkyh ,oa vaxzsth cgh[kkrk iz.kkyh esa dksbZ N% vUrj Li"V dhft, A 

Give any six difference between Indian System of Accounts and English system of 

Accounts.  

29- Hkkjrh; cgh[kkrk i)fr ds vUrxZr iz;qDr fdUgh pkj izkjfEHkd cfg;ksa ds uke fyf[k, A 

Write the names of any four books of original record used in Indian System of 

Accounts.  

30- Hkkjrh; cgh[kkrk i)fr ds yksdfiz;rk ds eq[; dkj.k D;k gSa \ 

What are the main causes of the popularity of Indian System of Book-Keeping ?  

31- ^cUn cgh* ls D;k vk'k; gS \ la{ksi esa crkb, A 

What do you mean by Band Bahi ? Explain in brief.  

32- dPph jksdM+ cgh fy[kus dh fof/k le>kb, \ 

Explain the procedure of writing Kachchi Rokar Bahi.  

33- Hkkjrh; cgh[kkrk iz.kkyh esa ^fof/k feyku* ls vki D;k le>rs gS\ blds ykHk crkb, A 

What do you understand by 'Vidhi Milana' in Indian System of Account ? Give its 

advantages.  

34- ^uke udy cgh* dk D;k mi;ksx gS \ la{ksi esa crkb, A  

What is the use of 'Nam Nakal Bahi' ? Explain in brief. 

35- Hkkjrh; cgh[kkrk iz.kkyh o vaxzsth cgh[kkrk iz.kkyh esa dksbZ ikWp lekurk,W crkb;sa A 

Give any five similarities of Indian System of Accounts and English System of 

Account.  

36- dPph jksdM+ cgh rFkk iDdh jksdM+ cgh esa ikWp vUrj crkb, A 

Give any five differences between Kachchi Rokar Bahi and Pakki Rokar Bahi.  
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37- tek udy cgh rFkk uke udy cgh esa D;k vUrj gSa \ 

What is the difference between Jama Nakal Bahi and Nam Nakal Bahi? 

38- uke udy cgh esa nks dkYifud ysu&nsu fyf[k, A 

Write in Nam Nakal Bahi any two imaginary transactions.  

39- egktuh i)fr dh dksbZ ikWp fo'ks"krk,W fyf[k, \ 

Write any five characteristics of Mahajani System of Book-keeping. 

40- Hkkjrh; cgh[kkrk iz.kkyh dh yksdfiz;rk ds ikWp dkj.k fyf[k, A 

Point out any five reasons for the popularity of Indian System of Accountancy.  

41- Hkkjrh; cgh[kkrk iz.kkyh ds ikWp ykHk fyf[k, A 

Write any five advantages of Indian System of Accounts.  

42- vkxs fy[ks lkSnksa o ysu&nsu ls dPph jksdM+ cgh cukb, & 800 :- jksdM ckdh ds Fkh A 

400 :- dk eky ekssguyky ls Ø; fd;k vkSj 200 :- mUgsa Hkqxrku esa fn;s A fnus'k ls 

500 :- dk eky Ø; fd;k vkSj Hkqxrku esa 300 :- mUgsa udn fn;s A jes'k dks 800 :- 

dk eky foØ; fd;k vkSj muls 600 :- udn izkIr fd;s A eksguyky ds ;gkW dYyw dh 

ekQZr 100 :- Hksts A fnus'k ds ;gkW 150 :- dYyw ds gkFk Hksts A 50 :- fdjk;s ds fn;s A 

80 :- QqVdj O;; gq, A jes'k us 150:- cq)w ds gkFk Hksts tks fd eq>s izkIr gq, A  

Record the following transactions in Kachchi Rokar Bahi: 

Cash Balance Rs. 800. Goods purchased from Mohanlal worth Rs. 400 and paid 

to him Rs. 200. Purchased goods from Dinesh for Rs. 500 and against payment paid to 

him in cash Rs. 300. Sld good to Ramesh for Rs. 800 and received from him Rs. 600 in 

cash. Sent Rs. 100 to Mohanlals through Kallu. Sent to Dinesh Rs. 150 through Kallu. 

Paid rent Rs. 50. Sundry expenses were Rs. 80. Ramesh sent Rs. 150 though Buddhu 

Which I received.  

43- Jh ckcwyky ghjkyky us dkfrZd 'kqYd 15 laor 2046 fnu lkseokj fnukad 13 uoEcj] 

1991 dks 10]000 :- iwWth ls O;kikj vkjEHk fd;k A mlds jksdM+h ysu&nsu fuEu izdkj gSa  

 2 cksjk xsgWw izfr cksjk 40 fdxzk-  4 :i;s izfr fdyksxzke ds Hkko ls [kjhnk A 

 Jh jes'kpUnz ls 580 :- izkIr gq, ,oa 10 :- cV~Vk fn;k A 

 3 cksjk xsgWw izfr cksjk 80 fdxzk- 200 :- izfr fDoaVy ds Hkko ls egs'k dks udnh csps A 
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 fdjk;k 250 :-] LVs'kujh 50 :-] NikbZ 40 :-] O;; pqdk;s A cSad vkWQ bf.M;k esa 500 

:- lq'khy }kjk tek djk;k x;k A 

  lHkh ysu&nsuksa dks Jh ckcwyky ghjkyky dh dPph jksdM+ cgh esa fyf[k, A  

Shri Baboolal Hiralal on Kartik Shukla 15 Samvat 2046 Monday the 13th 

November, 1991 started business with a capital of Rs. 10,000. THeir cash transactions 

are as follows :  

Purchased 2 bags of wheat per bad 40 kg. @ Rs. 4 per kg. Received from Ramesh 

Chandra Rs. 580 and discount allowed Rs. 10.  

Sold 3 bags of wheat per beg 80 kg. @ Rs. 200 per quintal in cash to Mahesh.  

Paid off Rent Rs. 250, Stationery Rs. 50, Printing Expenses Rs. 40. Deposited Rs. 500 

in Bank of India through Susheel.  

Show all the above transactions in Kachhi Rokar Bahi of Shri Baboolal Hiralal.  

44- lksgu dh iqLrdksa esa fuEukafdr fooj.k ls dPph jksdM+ cgh cukb, & 

 1]525 :- jksdM+ ckdh Fks A jes'k ls 630 :- dk eky Ø; fd;k vksj mUgsa 130 :- udn 

Hkqxrku fd;s A jkuw dks 725 :- dk eky cspk vkSj muls 315 :- udn feys A jes'k ds 

ikl 80 :- foosd ds }kjk Hksts A 75 :- QqVdj O;; gq, A 120 :- etnwjh ds fn;s A  

From the following particulars prepare Kachhi Rokar Bahi of Sohan: 

Cash balance was Rs. 1,525. Goods purchased from Ramesh for Rs. 630 and paid to 

him cash Rs. 130. Sold goods to Ranoo for Rs. 725 and received cash from him Rs. 

315, Sant Ramesh through Vivek Rs. 80. Sundry expenses were Rs. 75. Paid for wages 

for 120.  

45- Jh vdk'k viuk fglkc Hkkjrh; i)fr ds vuqlkj j[krs gS A ferh dkfrZd d`".kk 3 laor 

2048 foØeh fnukad 26 vDVwcj] 1991 bZ- 'kfuokj dks jksdM+ cgh ds lkSns bl izdkj Fks & 

jksdM+ 'ks"k 23]700 :-] eksguyky dks m/kkj eky cspk 15]000 :- ] jk?ko ls m/kkj eky 

[kjhnk 7]500 :-] ds'ko ls psd izkIr gqvk ftls cSad esa tek djk;k 6]000 :-] lat; dks 

psSd fHktok;k 4]000 :- ek.kd ls jksdM+h vk;s 1]500 :- vkSj mls NwV nh 100 :- ] 

txnEck dks osru fn;k 1]000 :- fpjathyky dks jksdM+h fn;s 1]000 :-] frtkjh [kjhnh 

1]200 :- A  
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 mijksDr O;ogkjksa dks dPph jksdM+ cgh esa fyf[k, A 

Shri Akash keeps his accounts according to Indian System. On Miti Kartik Krishna 3 
samwat 2,048 Vikrami dated 26 October, 1991, Saturday. His transactions are as 
follows . Cash Balance Rs. 23,700, Goods sold on credit to Mohanlal Rs. 15,000, 
Goods purchased from Raghav Rs. 7,500, Cheque received from Keshav and deposited 
in Bank Rs. 6,000, Paid Sanjay by cheque Rs. 4,000, Received cash from Manak Rs. 
1,500, Discount given to Manak Rs. 100, Paid salary to jagdamba Rs. 1,000, Paid cash 
to Chiranjilal Rs. 1,000 , Purchased a Tijori Rs. 1,200.  
 Write in the 'Kachchi' Rokar Bahi all the above transactions.  

46- jksgu dh iDdh jksdM+ cgh esa fuEukfdr dk ys[kk dhft, & 

 7,800 :- jksdM+ ckdh Fkh A fnus'k ls 625 :- dk eky m/kkj Ø; fd;k A 615 :- dk 

eky udn Ø; fd;k A fnus'k dks 125 :- udn fn;s A Jherh fjpk ls 375 :- dk eky 

m/kkj Ø; fd;k A QqVdj O;; 45 :- gq, A 100 :- dh ys[ku lkexzh Ø; dh A 35 :- 

dh L;kgh [kjhnh a 100 :- nqdku fdjk;k fn;k A  

Enter the following in the Pakki Rokar Bahi of Rohan: 

 Cash balance was Rs. 7,800. Purchased goods from Dinesh on credit for Rs. 625. 
Bought goods for Rs. 615 for cash. Paid to Dinesh 125 cash. Purchased goods from 
Smt. Richa no credit for Rs. 375 . sundry expenses were Rs. 45. Puchased stationery for 
Rs. 100. bought ink for Rs. 35, paid shop rent Rs. 100.  

47- jktizdk'k us fuEukafdr fooj.k ds vuqlkj eky Ø; fd;k & 

 ¼v½ fnus'k ls 200 ehVj diM+k nj 10 :- izfr ehVj A mUgksaus bl ij 50 :- ckjnkuk] 

25 :- etnwjh vkSj 100 :- vk<+r ds yxk;s A 

 ¼c½ jes'k ls 100 ehVj diM+k nj 15 :- izfr ehVj] 50 rkSfy;s nj 20 :- izfr 
rkSfy;k] 60 cfu;kusa nj 10 :- izfr cfu;ku A bl ij vk<+r ds 100 :- ,oa ckjnkus ds 
50 :- gq,A  

 mi;qZDr ds fy, jkt izdk'k dh tek udy cgh esa ys[ks dhft, A  

Raj Prakash bought goods as per the following particulars:  

(a) From Dinesh - 200 metres cloth at Rs. 10 per metre. He charged on this Rs. 50 
for Bardana, wages Rs. 25 and commission (Arhat) Rs. 100. 
(b) From Ramesh - 100 metres cloth at Rs. 15 per metres. 50 towels at Rs. 20 per 

towel, 60 Baniyans at Rs. 10 each. On this there were Rs. 100 for commission (Arhat) 

and Bardana Rs. 50.  

 For the above prepare jama Nakal Bahi of Raj Prakash.  

 


